Service [lanual



CONTENT

INTRODUCGTION. ... s s s s s s s s e e e e e eas 1
. TECHNICAL SPECIFICATION......cciiiiiiiiiiii s e s 3
. BLOCK DIAGRAM. ...t s e aasn e 5
. SCHEMATIC DIAGRAM. ...t e 7
- WIRING DIAGRADM..... .o s s s e e 11
s PCB LAYOUT ... s s s s s s s e e e 13
. TEST PROCEDURE.......cciiiiiiiin s s 19

. EXPLODED VIEW & MECHANICAL PARTS LIST.....ccoiiiiiiiiiiiiiinenea 29



1. INTRODUCTION

APM120

- 8 MONO Inputs with gold plated XLR and balanced TRS JACK.

- GAIN and +48V Phantom power for mono/mic inputs.

- 2 Stereo Inputs with balanced TRS Jacks.

- Peak LED in each Channel.

- 3-band EQ with sweepable MID on mono inputs.

- 4-band EQ on stereo inputs

- 24-bit internal DSP with 256 effects, 16 preset by 16 variations.
With DSP mute switch and peak LED.

- Graphic Equalizer: 9 band (63, 125, 250, 500,1k, 2k, 4k, 8k, 16k Hz)

- BNC socket for connecting gooseneck lamps.

- Low cut filters-75Hz, 18dB/OCT on mono inputs.

- Low pass filter on mono output (80~120Hz).

- 4 AUX sends (AUX 1.2 pre/post, AUX 3.4 post).

- Foot switch digital effect on/off.

- Highly accurate 12 segment Bar graph Meters.

- Maximum Output Power: 500W+500W/4ohms. (1000 bridge/8ohms).

- Performance and excellent noise figures.

- Manufactured under ISO9001 certified management system.



APM160
- 12 MONO Inputs with gold plated XLR and balanced TRS JACK.
- GAIN and +48 Phantom power for mono/mic inputs.
- 2 Stereo Inputs with balanced TRS Jacks.
- Peak LED in each Channel.
- 3-band EQ with sweepable MID on mono inputs.
- 4-band EQ on stereo inputs.
- 24-bit internal DSP with 256 effects, 16 preset by 16 variations.
With DSP mute switch and peak LED.
- Graphic Equalizer: 9 band (63, 125, 250, 500, 1k, 2k, 4k, 8k, 16k Hz)
- BNC socket for connecting gooseneck lamps.
- Low cut filters-75Hz, 18dB/OCT on mono inputs.
- Low pass filter on mono output (80~120Hz).
- 4 AUX sends (AUX1, 2 pre/post, AUX3, 4 post)
- Foot switch digital effect on/off.
- Highly accurate 12 segment Bar graph Meters.
- Maximum Output Power: 750W+750W/4ohms. (1500W bridge/8ohms).
- Performance and excellent noise figures.

- Manufactured under ISO9001 certified management system.



Input

Input Impedance

Mic 2kohm Balanced

Line 10kohm Balanced

Input Gain Mic

Continuously variable from 0dB to +45dB

Input Gain Line-Mono Channel

Continuously variable from -15dB to 30dB

Input gain Line-Stereo Channel

Continuously variable from -20dB to +20dB

Maximum Input Level

Mic +22dBu

Line (Mono Channel) +22dBu

Line (Stereo Channel) +22dBu

Insert send impedance

100o0hm Unbalanced

Insert send level/Max -10dBu/+22dBu
Insert return impedance 10kohm Unbalanced
Insert return level /Max -10dBu/+22dBu
CMR at 1kHz Line(20Hz-20kHz) >80dB

Frequency response

Mic to Mix 20Hz-20kHz +0/-1dB

Signal/Noise Ratio (20Hz-20kHz)

Mic EIN ref. 150o0hms-101dBu (gain+60dB)

System Noise (20Hz-20kHz)

Summing Noise

-85dBu (16 channels routed with faders down)

Line to Mix Noise

-83dBu (16channels routed at 0dB, pan centre)

Distortion at 1kHz

Mic to Insert (+30dB unity gain, +20dBu output)<0.01%

Mic to Mix (+30dB unity gain, +20dBu output) Typ 0.03%)

Crosstalk at 1kHz channel to channel

>-75dB

Mix to Mix >-78dB
Channel to Mix >-80dB
Fader Attenuation >100dB

Output (Nominal Signal Level Mic -60dBu to 0dBu —Line 0dBu)

Output Impedance

All Line Outputs 100ohm Balanced

Insert send impedance

1000hm Unbalanced

Insert send level/Max. +22dBu

Insert return impedance 10kohm Unbalanced
Insert return level/Max. +22dBu

Maximum Output level Master Outputs on XLR | +22dBu

All other Outputs on XLR +22dBu

All Outputs on 1/4 inch jacks +22dBu
headphones +22dBu/600ohm




Equalizer- Mono Channel

Treble -shelving

+15/-15dB @12kHz

MID —peak/clip

+15/-15dB — frequency range 100Hz~8kHz bandwidth 1 octave

Bass —shelving

+15/-15dB @80Hz

Hi Pass Filter

18dB/oct @75Hz

Equalizer —Stereo Channel

Treble —shelving +15/-15dB @12kHz
Hi Mid —shelving +15/-15dB @3kHz
Lo Mid —shelving +15/-15dB @400Hz
Bass -shelving +15/-15dB @80Hz
DSP Section | A/D and D/A converters 24 bit
DSP resolution 24 bit
Type of effects Hall, Room, Vocal & Plate REVERBS
Mono &Stereo DELAY (max DELAY TIME 650ms)
Chorus, Flanger & Reverb MODULATIONS
REVERB+DELAY, REVERB+CHORUS
REVERB+FLANGER combinations
Presets 256
Controls 16-position PRESET Selector
16-position VARIATION Selector
PEAK LED
MUTE SWITCH with LED indicator
Power AMP
Mode Stereo Bridged
APM120 2*500 Watts EIAJ (4ohms) 1*1000 Watts EIAJ (8ohms)
APM160 2*750 Watts EIAJ (4ohms) 1*1500 Watts EIAJ (8ohms)




XV

Xi
Tad

NI

R LR

HOLIMS1004 dsa

1Hon (O
A_MW_/FWNA_ .’Imb'__z
NLY 103443
Qyvod dsa SNOLLYIMVA
3 (O

NIYLZ E

=34
S3INOHd
XNV
S3INOHd X@\
XNV

- 0S¢ 20 OTSE9 AL
6X

+
m 3 M Sna-LHo™ NL Gz
ON3S 103443 S - NS O% .
o og
(eT)NIans 1S
9 0SZ 20 OTSEY AL
T‘ ex
T 1§95
+ 1 Te ww v
4 Sna-L331 R NI ag
£aN3S XNV NI O¥ A
EES
ANI XNy
4 EREE]
H 174d
390148 ONOW HvY ~
| ONOW
| ¢ XY
HNIVN ZAN3S XNV XNV
1037135 TYNO Zxnv
390148 ONOW H XNV
XNV
M, XNV
HY
NIV I3ud
LONSS XNV mﬁ\ | [¢ exnvy K, 1sod>o—
PP\ 1HON
’ 3yd
ES XNy
Lxny 1S0d™>0—
N 7 mw wN< T XNV
SHINVISS (&HO /NO) %€ [(e=:2)] PG L-/+ +
dNY ¥3MOd L i She-IHom va \Wv xﬁ@ux@z(ﬂ% " -
°s 10 oNow o apz 7 i
o] 4d H0ZT-08 ©
hl >
% 3d1 I~ K+ (8Pre~01+)
E3 ) 1n0 ONOW AN F o B B NIvO
1Y3SNI ANV 'd m (ONOW)L431
>iv3d JESRENEL] 7 =5
HY
: SEpESy va — o3 anva * pa———e
¥3LIN LHO 7 o ST e 005 08 - | ey
EES
. 13A31 ¥3av4
IEIERE (¢1-6) STANNVHO LNdNI 03¥3LS
IS
)% E|A’A 7 — ﬂ b " e
T14d
hoss d3anves T P
XNV
N PIEEREIEIEIERERE
1HOIY c va 2 XV 8PSY-~8PSL+INIYL NI ANIT
2 |2 (2 |2 |2 |8 |B |F BB nns gP09~0:NIVO DI
7 ERENENENENE N N e
n 34d LY3SNI
L3 ] S va < % MIEIEIEIEIEIEIERE 20 ) IS5 o
1NO 1S o
oLL b3 anva6 w Jdd
m|oL v X®\ 7 Wns o v 4S04 e
1o || 3 -
(dH40/N0)03
Lnoans 1s Sna-1HoM™ |
PG+ SSvd H
va Nvd — < . O3 anvaw HsL [/
B — o ¥
143 1HON NO DT 2Hg-ZHoOT 08
1NO dns 1S @EIEEEEY 13A31¥3av4 HNM 1o o1
PIEIERE
33 z2EEDn Hv3d 135 73A31
143 2 ok
ac Wwwwmm IH (o3¢ aw o1 (GPpE—~0L+) A v
> m @wC ~91-, -
1NO M1e Fha ca Enoh,‘wi 8-T ) STANNVYHO LNdNI ONOW
o m

NVHEOVIA MO0 19 0T NdV

~

(13 7 6 8 L 9 S 14 € 4 3




|
\O]
2 :
XNV
Bd
NI
)
1Hord (O
b TR
NLY 103443
=31 (O
P
— - ,
Bd
S3INOHd
XNV
SANOHd ‘K@\
XNY
K@\ - 0SZ 20 OTSEY AC
6X
XNy r
S
vzl S
SNE-LHoM™ NI az
aN3S 103343 7 ¥ NS Py 0% o
oot
s eDNIans is
| 5] 0SZ 20 OTSEI AL
T 8xX
HY
- SnE-13a1
£ANIS XNV
ANI XNV
4 4 14d ,
H T73d
3508 ONOW T =
Y ONOW
TNV Zanas xnv 2 v XV
1037135 TYNO XNV
39aRIE ONOW H EXNY ol
M ™XNY v
TINIVIN Id
Wy, LaN3s Xnv mwwu‘\ ¢ Xy <, 1S0d>o—
1HOI
£ XNV > 3d
ey XV TS0~ 0—4 11/
y , i v xnv 1 LHON
12 S
€ M
SHIIVIIS (@0 /NO) [(e=12)) apSL-/+ + ww,\
ANV HIMOd L Sna-1HoN va 03 aNvay zw i
e e 00s 08 -1 NI Py 0% A
* 110 ONOW 100 apzL 7 7 s
B e T4d 2H0ZT-08 ]
o 3d1 £ O_AT (8Pve-—~0L+)
¢ 1N0 ONOW N z Y NIVO
LY3SNI dWY 'd " ol plof (onoWL
»vad 138 13A31 7
HY,
aPSL-/+ +
R Sne-L331 v — 03 aNvay p T
WALTN LHOW 7 o Mer e 005 08 - Ny RCIN
- 13737 ¥3avA
IEIERE (9T-€T) STANNVHO LNdNI 0F¥3LS
R 7
N 4 14d LS
Mm E|Al T73d H e e
03 aNves T XY X@\
1n0 1S
XNV
N IR R R R R R R K@\
va <+ = gPS-~aPGL+INIYL NI 3NIT
LHO™ S EXNV
g 12 121212818 58 nns gP09~0:NIVO DIN
7 ENEEN exnv
" Td LY3SNI
Ea [l Vo ve * ;Mm P IEIEREREIEREIERE ZX 156~ o
XNV
1N0O 1S
oll 03 anve6 W 3ud
ve Wns o Yav 180N N3N
LHO S -
(340/N0)03
Sne-1Ho™
Lnodnsis | B o%mv: SSVd H
Nvd —e < , 3 QNVE-Y HsL
143 va K®\\ 1Hor ( OF—— 2T 2H8-2H0T 08 e/ ow
1NO 9ns 1S *sAe T T3A31 ¥3av4 MNM 1noo1
waa 2P
U 222>
1471 ( O—m———=— 28 SSSgeR JECRE/EY] NOLNVHd
o- FIREED H (o3uHaw o1 (gpyE-~0L+) ( )
5> m ra Bt &
1N0 LT 3z 0 g5 auoz@ZMZ ¢T-T ) STANNVHO LNdNI ONOW
o m

NVHOVIA HOO0 19 09T INdV

o
E
e
®
~
©
©
<
©
~




et 13 ot 6 8

L 9 S 14 € z T
uoo} oo} uooL uook uoo} ook uooy uok ugo} oo} uooL ooy ugo} ugo}
2610 =~ |0610  ~ (870 s |oblD  ~ [0~ |Zp0 & |oviD  ~ (8610~ 961D ~ [PELOD  ~ [2610 s JOEKD =~ (820 =~ |ogld s
0SM
uook uook uooL uookL uook uook uooL uook uook uook uooL uook uook uook
INIvXNY 1510 175} 1510 175} €710 [175) 6610 LE1D SELD €610 LELD 6210 2210 [Tk}
PILL
e o]
0SM 88l 1gg3zz-sd
KRN B aND XNV Y0ZMS
DAEXY 14d = = = = = = -
ILL =T €PO-~0L+ NIVO NI 3NIT
AaN3s XNV 981y 3 8P0g~01- NIVO OIN
MOSM \NO/ M0z LS s
I o7 ¢ (zHo8) 01 88y 09Me o Sl
¢ 166322-54 (18-2H00T=0T4) AIN os | W0 o oo O
veLMS 1Zid  GedA ol X T
220 777 N 0SZZ0-DISEIAT
it 5 03101 WOSSY ASE/HNgZ sogr LIX
S8y 5o~ 194 92N N 029 1o
sgaczsd | 25008 >0 S\0LN000 o -
g6LMS vigdn 9 90 nosinzy o
m o A0SIMZZ'0 pfrzads MP/L 1819 0%
¢ o—+14 o 3421 ved 5
1583¢2-Sd 158322-Sd
veLMS (W)zuy YO 4 VIMS . S ama hd PNIANI
o5 ony 06YE iy 9~
TN A A s 010 e MRS 5 jj
7 =
1583¢22-Sd | VA T e doly L &((1_! T
5 8LMS | w W ) T (4%} L o
Pired ngug ngug 3
SNE LT g ‘ o 8010, 9N 9010 4007 %0z 85 kT v
T e 784 LiGaviids 688 Kogranzy 8
8id  Nvd z82d OfeT) HO3 N Elle} m:uw Nmo . ¥ JIN
T =
) 138 13AT1 AST/ANZy  NOSSY B H
S 185 VEWN 565 vzin Aserpzg o2y
w 6! T oo
S
249
AT+ 9FR vord
S
INIPXNY o
PILL
pL o]
0sm SL0d 1gg3ze-Sd
ZEUA
S T % &aND XV VSLMS = = = = = = -
1x3exnvy T4d anod T 8POr--0L+ NIVO NI 3NN
DILL 8P0g-~01- NIVO OIN
AN3S XNV €11y ( ) s Hie
0SM —o~ ZH08) 011 o9E
S Z
iesi (98-ZH00T=0384) AI HO8) 0 PDES o
X 1583¢2-Sd MG OMG 0ey +N lj
VPLMS 6118 AN 81y N 0SZ-Z0"OLSEIAP
b ool WosSY s i X
90y
s et 5 ™ No——4 51006 * I ormooor N =
1563025 GORR e nosgEE ——c
rLms o 7 de
NE%E ML 1530 o o%
z o€
819
s 158322-Sd (Wup $06H A% ELY3SNI . e N AT amard ENIANIM
Bz VELMS oy o6y +N . 10SINZZ0 727 erd d o }
CE T A 9e N ToNE = L o rave i 20'9-ONS
SyEaT Lo pA sganzy h e [V X
._mmmmm‘waol | an dY0L0 AT AL 0L — ,\/\(I_! T
! 058 ‘S2uA T
gELMS dee (Wgug 278 (w)gug 09Me iy <
YGaREERR! S . €10 4010 S0LD oy 8rl 125 84 05/4n24 9 v
Wz NYd o oeed (MeT) IHO3 Lia=f~ 6 (776] €OIN
3 Ne 1 § -
ASZ/dnLy Wo8sY € N+
JESRENEY 185 voin o oSy ASEIANZ; HEv
670 4
v ¥3avaH 1A R A i)
= £NO €1 R ¥ S
deeg oLz 31NN
g 1S0
L
AT 9
A AT Q5N &8
24
L— ¢ H0SM
>NA+A|H 4
T
INIPXNY o
PILL
oLy o]
osm €94y 1583z2-Sd
T o & aNo xnv VOLMS = = = = = = -
01 ¥3avaH aexny T4d anod T @P0~0L+ NIVO NI 3NIT
= NO 4
= nILL 8P0g-~01- NIVO OIN
o] l | NES XY o g i it
XY+ Y0SM
ot % 0sM o1 N (2Hog) 01 S o
v} v ¥ i 158322-Sd (M8-2H00T=0344) AN o s o w— 92y N T
* 20+ - = 522091569~
oy - & o veMS 05T OISETAY 77z ov0s gy oy sy 0SC0ONSETAT
’ oy N 915
XV} vt 091y 5o ol Xny oo A * [ 5ormooor :vr 3
ANO XN T a 168322-Sd VSLHA nogsy = VLY wmw_ 1 et v o5
NZZ | 4
IR st 86MS o an hosinzgg 80> ML 1838 5%
©N8 IHOM s 8 AL ¢ o114 Do, s %
—: E 18832 (wauy SBER R CLEsNI . A . ZNINIT
H V8MS = 13N ont +N NSINGZ0 727 Y UMd Hd wr
N TN = + 20'9-ONS
EREET T r ST g | vy o R ] LI L mon i W s
CTHI v ¢ S No——4 | @ ™ AT A - o —— &<(|_r T
I 158322-Sd | \A T T €
avn = Ylosg Yosg
a8MS Sg/AnLy t = ASTIANLY 9LUA dez (Weug  Jrax (w)gug 11001 yoz o9e iy <
YGaREERR! S . +H - u‘ 8.0 D_S_ LD 01O €010 8y 8rl 145 Ged 05/4n24 i) v
JZ Nvd GoE 080 o e (Ofer) H 03 ot Bmw 7 ZOIN
N+ =
= ._mwmmumnm‘ >mmmm:n~0q So@%m € \mﬂ H
= - n
8T S o van o >8u_wmm Hosv
IS
EE 135 T3A3 1 —]
249
AzE ot 001y
0SM
LA
& ANO XNV
INIPXNY
PILL
6rix o]
0SM 0si¥  1gg3zz-sd
OLYA = = = = = =
> VSMS = = = = = = =
% v % ane xnv =T @P0r-0L+ NIVO NI 3NIT
N s e 8P0g-~01- NIVO I
AN3S XY o o ; (i82H00T=0%4) AW (ariog) 01 WS om " E
- = ved
SA AR T 928 +N I
X 158322-5d 062-20-91G89-AF == N v 0SZ-Z0-DISETAT
VPMS X 0oL smw_q Aserdneg o) oxX
PILL o5 E N S\04/M000% N %
ovid TN 2005 Y ! n
240\ v VGUA £l e >om\ummw I
I58322-Sd ADEIZZ'0 8PLyABYL -
avms E% z Mk 10 5%
€ o€
249
z
PoLL o1 VeI pave TLA3SNI uT
Syly 1o83zz-sd (W)2up - o N AoSInEZ 2 py AT AT+ amd hd " TINIANA
VEMS N N TN = + Ly v ravie 20'9-ONS
o oeky cerd SNy N 60 - 1id S X
5 ) = s X ,\/\(I_!
O\ ” anod AT NI+ S T
¥ 8 T £
TXNVAssazz-sd szansy VI dzz (Wgug 0S8 (ygug s 3010 2
S SUA 100071 yoz 09ie ULy
a8 6010 2010 (%) LAA v
SNEEET FsngrE ¢ N T l8d Klddaviids €88 Xog/ansy <
Mz Nvd L o~ (Me1) IHO3 €0 1 nig TN
€LY fiaa] N+ N =
ASZANZy  NOSSY 2z i %8 wossh B N+
690 ven 565 vin Agerneg rEv
10
4 —
INS
g e UMW 135 13A31
(T/T)ad4vod ONOW INdY e g5 B
k41 7 11 (us 6 8 L 9 S 14 €




a w or
R RS uooL L uooL L
T fi5s T T o e T e i i 0 1%
085y 085y 085y 085y
) ot (5 T (] e (] ot (5] o d ) ot ) T ) o ] St (] T (] e (] et (5
ugoy ozen | ugoy OLEN | ugoy 206N | ugot 262N | ugol 282N | ugol o220 | ugot o%en | ooy osen | ooy oven %wo_% ogen nwwo_% ozen M_No_om% oizn %_om%
S GUVOBORBIS AV T0S QYO 0SS IV 610 T~ 2610 0610 T~ 8810 9810 ¥810 T~ 2810 0810 T ) ) - ) p——nr
% = " = % % % % %
H 15832¥-Sd
oL arems = - =
8vd MOl dook = = = =
vezy T s CEEY gy~ 50 oIA : H
T M+ YNILE 95ed 14
ASg/ANLY vILL 882y oss
< 9010 = o
Xy IS 198592183 oz gien . n OVF OJ3LS 06
S5 wpems 024 L o0y nserdny O
S0SM vILL L8y N 020
NI M1e TNILe = V6LHA N+
3 nseidnzy LHOI
%1 301
Lo [« <SNE-IHOM } MOL | MOL S0L0 % NI 8NS 1S
€180 6l s N
= n
(aza)y = = ASE/EANLY
4 H 610
SioL @ Mol %1 M0k 4d2z
o 8ELY QOB oz nossy | FEY 8e9
2620
N D L0 )@unmn 69 ML o e OV OIHILS 06
ASZinLYy ASZ/ANLY NeT b 20k Aseranzy X
8010 ey
9 1010 CELESNEL090S ASzIANLY 810
1 010
(onow)
1NO3dVL NI3dvl % o1 ASEnLY hece]
I5832-Sd Y i N1 ans 1S
N+
15832¥-Sd
aeene Pl . .o .
B = = = = Y gy VY5O T
B 5 ON o] H &8 T4d o %1 3oL
R S Tdd o PILL 182y e
B o= WossY = |ano xnv N "goen N
Jano xnv o 5 1515 16849209 02 N+
IS 158521-93 %02 acel OV OFY3LS 06 S d e %4 Y0k
s83ers %1 0k . 8X 0528 " ycems gy ASEANLY
€sey VSEMS 89y, L °" ooy NseldnL MOSM ML 082y [%e)
Ll esey . N a5 VSLA J
’ ASZ/dNLY
ASZIANLY 1HO - 1010 %L Y01
o1 | viou €010 %430 NI FReLE <EnELron } 30,3 | oL %% .
LEL 6Tk 5 § N+
+ = = ASE/HNLY
= = >mmmm:& H [35e]
H oL 0 Yol %L S0l 1dzz
MOL @ MOL %L Mob -4d2Z 821y 9zlY JrTid 229 0€d
VER SZEL DOELY oz osy vE3 oz -
15832-Sd T8 Wossy S9¥, VOEN A
veen ¢ OV OFIILS 06 N %1 301 N
26EMS N %b 300 + % N+T T nseransy
Y >mNm;wM ! e >mmqu_® AszIANLY 0K
8 2010 00K (onow)
n (oNow) %1 Moy NSEANLY 1931
%L You ASEIALE 137 oz 2 NI 90S 1S
82y N €NI 8NS 1S X
N+
i3 =
1NN
M0SM 15832y-Sd (zH08)01 aned
RNy H0EMS
AINIPXNY THHIV g5 v%%m X
o &2 wogsy (@Hoogotam N
v_cmm>» 982y “4d AsziAnzy | asen HERIA S ypp  LLLY 135 T3AT1 | vose =
8 Jane xnv i Wossy 81 GATAN L. .
Lxaexnv E%./L N+ azen Wzl AT sz =
YL ' = = = 910 151d H
AaN3s XNV MoSm 6224 c ered  1g83eiSd Bk o %1 301
69N T VOEMS AT 089 = _SAOVAN00L  y €1y
158322-Sd e o 6514 A4 smh_vmﬁ N
X0V VZEMS ZHIENINH vl S N+
L o5 56327-Sd Yz Yiogg $90CH 02 Nowey %k 0L pgerani
8124 CXNY + g62MS arouA oL 794 80
0SM o——— ASzlAnZYy 801y N
BN oy T983ESd 60 7 dee N+—7 1O
aZEMS T oLLY 25 ALY ZUTTHO
xov O 4 (Wuee Y058 o ¢80
L o 0910 @DRD O3 ZoR 0Ly
Lled 158322-Sd apoz = e
viEMS apog+ = =
™>nvy o5 M (zHo8)01 = = A9L/4n00} NIV H
- - - - 0k (Wuzy siosg oz 2o DI oZEls %k 0L 4422
- ASZ/ANLY T T T 0Ly MOL S vy
158322-Sd ey 0L S ok SOKY S 0 Wossy ez W N
iy N s g (@Hoogoram ;938 i N W oy |
SNETHOM tsraron VA N+ ¢ ASZ/ANLY VEQHA swez O N " ey >mmm;&
ghed 288|301 | sord | S0l | ston szt € 60 Woss oY =u+ t
(ZARSDGH JARSPGTARRS NG THAC] prasd) I N Vien AsziEnLy (ONOW)
= e M £ %ok op NEHTE T
V6ZMS 4% m CUTTHO
Yisa 3OL Q2 30L 230 2 M0k 13A3T e B
L98A - zziy S0ziY P8LLY DOLLY ASZ/ANLY 0SSy 31NN (EHEaNH
vd wwo v6zn Mosa g0z €610
SaEEEE] - N+ 7 0L
SNE-L==31 iz Dz * 2008
vred 95y el
feed (W)ue'e
dez 1545 058
950 zg2d 6510 (@DRDIHOT \Z
S0SM 15832y-Sdl (zH08)01 (
Wzl anod
QA o v 992MS (Wuzy w0
INIPXNY CEBIV b5\ vose
i TEY e ’ o B2y Wogsy (@Hoos)oT-am 1958 A
MOSM 9.2 9€Ty fvid 0839 ASZ/ANLY aezn g2SHA €91y
BSUA 14d 212y ) ez 13S T3N3 | vose ks =
Jano xnv N Wossy G vt K- 17A N .. _
aexny E%‘/L N+ geen oz a1 RZS § sizz = =
ML 2 ' = = = Moz 951y H
AaN3S XNV MOSM  G22d ° geed I5832-Sd vrL0 WL o \ .h\:xmm
8S¥A T VIZMS = _=A9L/4n00L
M ogi 8sly g0 L wossy N
N—A~A— N
> N+
AL o5 156327-Sd oz b MoSM Mz, %l MOL £geran,y
224 IXNVY ° 0 BRI zod nossy S0SHA LY o ()
som o . nseandy dee N
as]) 15832¢-Sd Fa
LHOIY
ano XY T o ASz/AnLY %L Y0k oTi6 HO
XNV 3 Sob - o4 (Y N
o a6 %75 @i Hoa %8 8 b3
€Led 158322-Sd = = >mm\u_=mmnw
viZms = =
: - T
XNV o5 = = nouanooL iz
B - - - ot 0 & g
= = = Ity oi — N
158322-Sd neganey 0L 2 Sk 8% oz Wossy N
siens N o8 o (@HoogloTam i3S, & %L A0L i)
SNEIHON o Y N7z ASz/ANLY VZGHA N bnsernzy
Bie 980 +
8€2d si01d [ Yokl | 101 | SioL e Wo8GY
£ g0l one | e6yQ | 264 [3229 | N veen STy (oNow)
T se3ze-sd | N 80 %1 ol ASE/EANLY LT
. 10
VSZMS ANAN i) N 0T/6 HO
Y58 yop @301 QML OOk 13A3T 34 N+
9GHA - p0LY 201 P00KY o 86Y ASTIEANLY  NOSSY ENal
va G
SAEREEN] - N+ Tf
SnErlE Mz iz "
Locd oy e
(e/T)advod 03431S NdV e wiEs
dee INS Mosg
80 oezy 9510 @DRDIHOT o
k4 T
6 8 L 9 S €




= ugoL AsznLY
9220 ¥22d
T uooy [ oo} 1 ooy L uoo) L uoo L uoo, L uooL L uog L uogl L uog L uggl L uggy L ugoy L ool L uoo) L oo} L ooy L
T 620 2620 8820 1220 1220 6120 2120 120 £120 1120 6020 2020 5020 £020 1020 6610 1610
085t L 08GY L 0851 L 085t L 0851 L 08SY L 0851 L 08S Y L 08SY L 0851 L 08S Y L 085 L 085 L 085 L 085 L 085t L 08SY
RS - uoo 065N uool.- 085N | ugol 2.5n | uool 06N | ugoL 209vN | ol o5vN | ugol ovvn | uooL OebN | ugol ozvN | ugol oLbN | ugol 20¥N | ugol 06EN | ugol 08eN | ugol 0/¢Nn | ugol 09eN | ugol 0%en | ugol oven
. T €620 1620 6820 T 8220 T 2zed T 0220 T 8120 T 9led T vied T [ 0led T 8020 [~ 9020 T~ $020 T~ 2020 0020 T~ 8610 It
W00} AGa! = = = = = = - % % % = A A A A = =
5220 €220
ASZHELY  pogsy
NgLZsLva N8LZsIvE
¥ozlk ‘asvn YELD “gopn
19ed
PALL - Aszidnly
N 8led 2€10
6920 8.0 T4V
T T T T T 0SZ-Z0-OLSEY-AT _|o ° G yoz
30z, Hozk 0 wgaczsd W €8y ASeldniy - No0BSy
NgizsLva badg  ASEE Wose s9gY voyms 69 e genn
HOZL g/pn N8LZsiva £e10 N
0SZ-Z0-DISEFAT 4 N+ Yorg e
8 MOSM DL o il Vieun  oled  ASZENLY
vZeuA  L1eY ASeg/AnLy % o Lrd%e) 096
8210 s Hozk 343
828y €ANIS XNV ssed
dzz dze
| SINOHd de Ho 690
SANOHd
- = RE 892y
o0z To o7 IV 1Y Yoz
28y w0zl €0 se3cesd LA 184 neeldaLE - nossy
09EY VSPMS N e
AszIANZY @ NL N+ sola S
6210 §O 0 N vosun Sled  ASZAnLy
>|o|)>\,|i < 2L 295
ok Fo
ZaN3Ss XNV L84
dze dze
29 2o 025 890
N dge
= 20£0 0
Spl
A2eS pseyanay
1P, 0SS =
g66n
Yt s = = = = =
2 _ .
psuanty | N o 4y 0528
0810 - oLy o
543 052-20-91589-AT
1HOM 990-€2-V)IS 12X P N TV OBV yoz Asziny  WosSh
= RS Hozt £ n6edcesd o of o8y sTl0  abn
. o - . G vrymS
= = = = m . €
e L +
E: @ NL Moira IS
N >0z 039, ¢ 0 N vegun eled  NSTUE
N+ LY 186y, 890-22°VS ] 25198
ASZ/ANLY 8LpY asvMs dozk yzed
S0e0 o " TANIS XNV osed
N ahoezvis O T mEA TR ] 4 dee
N+ 7 VZrmS 590
dee ASz/ANzY
8620 €210 =0SZ20DISEIAL Is832-Sd
81X . g6EMS
dgg SE] 14V T
9NOD = = 6620
T o OF v || LHow To o émnmo«
NL G o Z 1BV
H . 4089 . . dAV ¥3MOd NI 0¥ TOeacesd Y Wzt
= 1£20 = = = o N ViYMS N N
. =
¢ oz 0301 VEEMS
recy ZE SN 0S2-20-D1SEIAP Is83z-Sd
WogsY 210 11X 0z Wossy 8EMS
S S % yIy veen
N N
Asziiy | 9OF 8164 ao0zzws zw T o3 = g
-2 72 n
ce1o 988 VEPMS NP % . i o
% seacrsd (L
e 0489 WOSSY LY3SNI dWV'd 1NO ONOW 1sed oLey 89€d VoEMS
29v 1084 ggan
N JEE]] dzz dd7 —
i o 199 1NO ONOW = =
ASZ/ANLY dog9
0ED 8620 Wossy oz
a5
3 ASZIANLY €SN,
dee g 4
1620 .- | ¥
Sob 9 ;r 1820
ssvy sgey
dee =
5820
T wossy o2
v2sn
3 ASZIANLY S6TY
€ o1
. - )
= Sor z S0 9820
0S2-20-91GE9-AT oz = = oey oged
EiX 784S ASziEAnLy  W0sSY
Zv”u aen dze
1HOIY N+ = 8o = =
>0z
824 ASZIEANLY  pogsy
= 211D ggen ASZEANLY o
9L aven
0S220-91GEFAP oz €95 = = N 5
oryS ATy Wossy spra N+7 (SNEIFoH |
€110 ven Bun
N
1437 N+ IS
ey
1no 1S 90
dze
93
T .. = Nod3A
0S2-20-91GE9A = =
AL NNy H00IV
8110 >0z =
N [h%a]
1HO N+ Nﬁmm/.lmE Gt ]
Z
° pczidnzy  W0BSY
viENS T T 01D vren
N
. . . N7
0S2-20-91GE9A
wwm Aseidnzy wwm AGZ/ANLY
2110 11D veen
N
1437 az NL N+
TP N I
=T oz
1NOdNS IS ored
dee
€/2)ddvOod O3431S NdV £
193
L 9 S € k4




YALINAZT
IND

THILBWAZT -
8NO HALEWT LW,
a
NS
e e 2 ool ~
e it 28vd 0820
T BNOBN a \Hr anoa
aony no| sy UL A e o)
GLanoPN o 0740 3% anoa €620 % 1583¢e-5d
S BNoPN VILMS
e w4
£ BB H ASZ/ANLY, ety |
e s 6e10 Z lﬁ L\ 0 ? wozz
e € § TN 052-20DVSEFAT 8Ghy
8 T2NBN 4 NT MLy uooL §eX T
AT T £8YY 1€20
a3y 134 9 bk 9068
zzal a1 [yl eyd1 \ eval A1 oydl  6ed1  8ed1 €07 9ed1  Sedl L
KRR RR KRR KRR RR KRR RR KRR RR RR KRR RR
—K— ST ENORN
anod A M/ Hozh 3 ZEaEN
BOEN =Y (43%01M4)¥v3Id
BNOPN (MOT19)3LNW
s NO ¥md 2T 8NOBN 2 anod ane
< 9 T BNOPN 2
OT_8NOBN
£ean BNOBN aNSd 2 58 ¥PN o o9t
e B 1 = e
18vY SEN zovd oo
BNOBN ok anoa 6 o
[ 13534d NOILVIMVA Loe
BNOBN anea s 9
gt Syoeva 9 g £ o
) - NJ N\ = xqr @ o
i nos 2 X8 ¥3AVAH
a1 via T 1T i
$4518Ad19L8Q ™|~ s451aAdIoraas e INO
HOIS 4E] IN3
€9t
7.4089 7.4089
GND 2uv (1%
P ~
u ST LNOBN
AT Wy P2 P2 P’ '3 vy '3 vy P’ Wy vy '3 9068 My/b ok |
a3y 734 HO 15 ) U9, 4O Y9, R U9, 4O ) 0L verd T
0za1  9vd1 \ved1 eed1 Jzed1  1€Q1  0ed1  6ed1 81 L1 9ed1  Sedl
(81+) (ot+) @) (7+) (e+) © @) W) @) (ot) (0z) (0g)
HILAW 1437
s nossy  oes v Wossy  ans
P
nsganey - 'gdn nsganzy  WOESE
g SI00LA | S00FM | YI00LM | SI00LA | SI00EM | SI00LM SI00L A SI0LM | SI00LM | _SI00FM
GPO0LHA { SE0LYA { H20LHA { €L0LHA { HO00LMA { €66HA a/68A VZOLHA { VIOLYA { VOOLMA
[EEREDS X a5 > 005 > [e0sz > e b
302 30z
doge doge
esvdl 820 csvdl 1125
N N
0 N N
ASZ/ANLY AsZ/ANLY
bevd €10 5610
<&NIO6 |

LA E L EL]
9NO

¥ ¥3av3H
ENO

G.S_Es %n
HMG-AY
oLy

N

Ty Y >

15832t-Sd
vlo aLvMS
—so| ° e
14d 212
z TV
—0 y LIS
T ° 15832r-Sd s

VLYMS

TSIeoeN N
ASTIANLY
§.20

Y01
151 Br LY,

MOL MOL M0L
251 p0SIY syl

MoLa
E68A

N1d 103443

ILL
206y

7]
T 20PN A

ASTANLY
120

005>

O3 ANVd 6

ose >

s>

Cuse>

SREFFE] N=EEEN |




8 VA 9 S 14 ¢ Z T
S 4 — e e — 1
[indinooa | | e Sl Sl |
7 7 7 e Mzo 7 e Mzo 7 e Mzo 7
- @Yvog ¥IMOd | | | | |

| | | | |
| anaiov |
- *
M L | | |
NI Qv 7 | 7 7 | 7 7 | 7
- — T s Tro s i |

ano xny 2 9 No xnv o 9 NS xnv o 9
* - e e e *
7 7 —Ixnv 2 0T 7 Txnv < 0T 7 Txnv < 0T 7
7 7 ¢NO 7 7 ¢NO 7 7 Z¢NO 7
O00TAOINIDIA 7 7 7 7 7 7
| | | | | |
N0 LNOGZTAGY | | * *
R
| | | |
advod o3d4ls ddvod ONOI advod ONOI
| | |
7 1NO SYIMVIJS 7 7 7 7 7
| I | |
] o
T T | % @M | | |
7 7 7 e 9NO 7 7 7 7 7
7 AMVAAS OCTINAY 7 7 7 7 7 7 7
[aved | L [aned 1 L
S | e i N lmp \\\\\ N
AVHOYIA ONIHIM OZCT NdV

8 A 9 S 14 € Z T




8 A 9 S 14 € Z

] — G0
* | 1nd1N02d | * | ] JEat ==t gt |

—q ¥ 14 14 14
7 ans NS 7 ans NG 7 ano NG 7 ans . 7
- @Yvog ¥IMOd | | i i i |

|

i o
| —— * ] ] ] *
Pl * : : : *
- | | i : i : i | |
“““ 7 m%o v T% 4 E% v 7 Hmo v 7

_‘ sng-1431 QM Dm 14371 M Nng-1431 M ng-1431 W

IV

| s ooa: D ™ el pexava |

7 7 ﬁom m EXNY m EXNY m
* * * PR In gl PR *
. sostaomoid | | | | | |
| | | i i i |
| | | i i i |
| ?daoﬂmgn_qi | | | | | |
it | | | | |
| i i i |
7 ddvod O3d41s 7 7 ddvod ONOIN 7 7 ddvod ONOI 7 7 ddvod ONOIN 7
7 1N0O SYINVIAS 7 7 7 7 7 7 7
| I | | |

_J -
I i - == | | |
| | | EEm o || | | |
NAVAAS OCTINAY 7 7 7 7 7 7 7 7 7
R | o glﬁ%r@lﬁg-fglﬁ%fg
AVEOVIA ONTHIMN 09T INdV
8 L 9 S 14 € Z




313123/2 SOLDER RESIST SOLDER SIDE

31312372 1° INTERNAL LAYER GND

MP. SIDE
31312372

HBO0895

75 —--1
ol @@
| .:

|
a
N £

|
| —] . u— T J—]
5 == ‘ [a—
e YL f o mm
‘Iﬁ ‘
|

ihh_ o™ 571
\\\\\

ﬁ |
= =
|—|H ‘

— e,
| ERZ
A

aS

T
‘/’\,“
A &

=1 5 AEA ; -- 55
= “ ﬁg EHJE':I ’
HE@C r.',_l;)/‘

< GEF*%“ =3

sl
mmm\\‘ T T e

T \N
7

313123/2 §

313123/2 TOPDSRLKAESIST COMP. SIDE

® '...

&“ oo o . -4




obED
OQE

§)
b

L
(CR399

OR400C

ﬁﬂ

JHD§
Eﬁw
MQZQQO
QEozw d

CF
Srpes
- nsdans

) @)

et
O 102 QOOOOOOOOOOOOOOJI_I

@ o,
C351
O/\

(\

OQl

£8 [ﬂ?
0000000N

oo %

OOOOUUOL

410

o
s9£0

O e
UUUUUU

M[I

R414 D15

fyc:ftﬁj

U49
@

J

=
OO
a»
a»
D)

|
L

OR41|1R412
@
QC_l
TRI7

=

C333
-
C3
=3
9
R415°
D§P

—_

@] L
@D

843 L
Q

e
VER051020--HB01916

=0

o!
4=
D16 C350

1)
:).
o ]
ol
)

L

S
Q000000 OCCOCO00000

1
[ 1]

R419R417C334 CN1

L]
o©
23

e

M
‘ %C

C
Ol— Y
—
[ |
*¢

043
O

a1

oo
C3490 €338
C

:




(mm) €13.€0!

( J [ ] [ ]
: e o .2
o ¢e " )
® O o |
e © O -
© © R
23]
LR If‘!l L et
E i 0w [ |
3 610, 000 00 .‘
° m b
(] ) o
1} 'wﬁgno *
$‘ LoE ]
& on-- | (0000000 4
’E: ® ==== 3 ol N
Emegd g! o e o
|=| O B Hosy
QQ.‘ 00 08w 00
T
*ife="1O @ (‘@
() o Sy oW
@2 on § on. 8 EwW@ W
o om SEC O O -
[3) () ¥
.
"w 0 O
. O OZ4R
10 Beesinee i @eo
5
@ w
F 3 et
Q &
L %S#Z O:
ﬂﬂ% Qini@x:
. g |
£ @D 25
g it
N % 58]

3 Q
RoHS HB021

AC 100-240U

c23
BD1
RTH1
[
|
D CONt
C.

ww) €19 °€0T-




% 7N mmmm
sozer © (T _QO i e
000 5 ¥ 3oz
: g ¢ § ® : 500 5000 §000 3000 3000 000 @ s[5 8 @ _ e_ _c_m st _ wﬁ 2
GCHENOIINCTING LR o O
Qe 1 g C1t| Elxg SO ORI O RO RO OF b O
i o o S ' S < . _m _w_w w_w Q o H
H | P
S8s . @m HEE _w . s me wmeg 5 g Om
~ | @ m Q " i E i 5000 5000 [ooo]| § 5090 ® | s _ I s+ +
O ° — #000] | §oo0|, §o0O LN ommu @ @ il s @uo_m e __
) 5 000 O O S 5
O RON RO MO OO T e, S E
g s (000 5 LY | He=Y S . | _ -_m_m w_m
2 2
w S S I i R
o g §o00 5+ +
& mm 000 immooo §o00 §000 §oQ0 §o90 @ s ® _
X OIMONTHON: _w_%wo_W &y & Fm :
§ _ww _rO O\_ .,._m_rO O\_ rO O\ S 7 ~ 7 = 7 _m_m
_w . $ 5 H 1202 05 5
B 8 = 219
s g 000 +
8 g -+
i’ 55 000 jfo00 §f000 5000 go00 @ mm S _
T BB B HonL> w
", 1050) b Hoo] ! boso) F lost) P |ose) , |owt) :
EI 7 R 7 s s
: ; : O 2’
o @
=~y Y seee ® L @ .ﬁ
[ ) (] 00— o a00 on (e ° 8887 o ° @o° o
o illjeel 188 T ) T eas o Seeb g 2 cEGel @ v @ g% *H 38 1
|z ° ey B = sss QU T5sco 808 z000 53 bl I P N ] o @ == 000
5 ® 0 oo Ol @0 O 2@ Og2— 2
mwrm.w ooo m e &5 @r-wﬁ oaluwto%ﬁu slhge=2y ot oomoo 0 5 - u.ﬁ....mwm.o.. .o.im ) ¢, [ ‘momW%jﬂooooma ggm «® .‘ﬁw .o..uIl_m_o et o “
ERE D0, et g 2 p=— Sl ) DR ° 7 ® FEE 90
oomooo.: u:.o‘ .9 .uo.. 0, .o ® o O .onn_.g;.s 3 o : ” ° . e ee 2 oouom omm mo ® () .o_m@ a0 1 - “
o 0 2 o 3 9t =
® P o0 $ ° ° 3 . T e o0 900/0 §o0 e 00n . ommmoSoo = Ce ®°° o%
= oLe ° 208 113 97000000= ® S YY) ] ° g © 3 8 (1]
: seme § 00 28 ° Q
L = o = iy eee sss (I55s (LU - - LT ey 11 o8 8 08 : uo!;.ﬂooo%m; = Peo .ooa_QO o] A O
A | | ‘Hee mme oﬁ%oomuuoo B3 LU S BN QM;%M’.. ° .u.aw. $o 0 @i oooowagm °® ...wﬁ A
I3y m ° ° 8 = 3 = 2 Leoat mAI LR ° 7 ® FHEe0
A mwllmm ° Ol . e “:ooo. 0«9 .o <9 .o e ) .o [ ) .o o .onn_.;; EH o h ”“o = =) gmwo ouo ( omm mo ® o oo_m@ 55 3
lsm @ ) SIS
“ m 5 O e oMo 80 g oo“ L ® C ° = ] i " 90® e®=900.0 go0 0000 —e . =T = ® m.% ®°°
() g (1]} Og © g
° 2 [ {9 ole =008 - © 000000 @ o est 0 o Ceee # a3 oH o A ° g 2
( g Som e W , ass aes o8l g Cmonie BoBensee 250000 Satinnzmee o€ 55 1Tk o Peo .oom_msmcm.s i
: XA | | Qs 0, 20001 | f00e=e | sel oigre 088|580 S s SR 0 @ T s S'@ .‘% DAL
g4 @ I e ee) vy} = om
[ ) () ._ﬂ O ® 900 g : . g .. . . . . . .u.m_m’. um... .. 0o = .ﬁﬂﬂ ge .. . ° .E. G & e
° T == Sees0® 0.0 0 0 O / ° o' I LI i 2% 82 ¢ iy
o8 CTOS_LZ G A r 9 C < ° S 00 oo 000/0 Sous e soe A ® ommmo@oo ﬁom ®°°
C ﬁ o0 =T A1) pee 9/seeebene — g0 0, .o = 75 o @ gl iT
o S QOmm_ Eiee Mmo-ml "0 oL otz Bl g .m poe 008 t%° .." ° ) s ﬁﬂﬂn" (L1 ooum.mmo ““"m oé 20% Mumwmuoﬁ.m."“ E.m ..‘ ® ‘m. O%Hm.mﬂ H”-_”
; U OO 6 ® 0,-1100013 . [ 800m0 ge 1] s @° x ° () [ °
o ¢ o'niile 17 om ﬁooo L% g g ° 2 " 0 .00 © 0 Aow S HIHE 900 vy Il ~ s o/i/E 9 e
.. L . ® 0.. e ....“ . . . . ‘ . : .. . . . . ..’.-E:U = PO ... ® ..Om bl ..nm e mm m. _ ® .._m@ - —-
® 828/ 2 . C) ® .... EE El [ ] 2 2
ces s ral CdD 000 ° mm 2 ’ .
e O ~ Y
°
@ e




o)1) o ©9) ©4)

(B8]

= Oron
GO0 Q) _ Il —
[xerel} S
ﬂ,oi_z,m_,ma

) a_m | ﬁ

& uip J

KD)!
S
21500 eigeyp i
\ 2 v =t {) 0 J) ) ) 0 A 0
3 Ve
=) |U,/. 2
). aan U fles mto | 0 oo 0 0 0 0 i
>
(0! ! —
R} 0000
. O fpiidli el BT
(o] ;0 q e ~
A [ b e b e OO0, co| L.
: &K o 7
) S|S0 0 0 0 0 0 0 i
) fe) g g .
J ~

—

@)l @ X

(o)
‘v,...,z.u g (1 ) m/ Hﬁvo"oo

(O = |

= B @O_n

&)

]
P

i 0
0 0
0
! o I
I

ol e
Q\X_W\o__o

= v I 4

S X & X ;
"o o /) PN

- afs
ez g I %
I e i G
Al
EA d
O .ﬂ\ /J RO =< |/ r
Jo ¢ S0 G
N P —

L)
’ ® muﬁHux\Hu..mQuwQHNHHQHHHHHG)

¢«

o]
I

|
| mu 5405 90
: rs __ b

D
]
)
-

: ﬁm,mﬂ ® WO @O

O am | wm s
_8,60}00,60}00
2 0@:;%\000%@:;(@:0

- ,_,munGm “ bum@u M

s e
o

f

)
S
(PO)——

Bl
[l
X
(i

S0g 20g T







7. TEST PROCEDURE
Visual Check:

1. Check the APM120 (160) surface and be sure no frication of the unit.
2. Check all the screw and be sure that it installed in the right position;
3. Check all the knobs and be sure no frication of it;

4. Check all the keys and be sure no frication of it.

Instruments Setting:

1. Release all the keys;

2. Rotate the potentiometer of GAIN, AUX, 2TR IN LEVEL and EQ FREQ to minimum
in counterclockwise;

3. Rotate the potentiometer of EQ GAIN, EQ FREQ, PAN, BAL, PHONES, ST SUB
OUT and ST SUB IN to midpoint;

4. Slide the potentiometer of all channels, push the EFFECT RTN to "-o", and push the
potentiometer of AUX LEVEL, MONO OUT LEVEL, ST OUT LEVEL and 9-band EQ
to "0";

5. Turn the Phantom Power and witch to "OFF", push the AMP MODE switch to top.
Input signal: 1 KHz sine wave signal (except the special instruction).
The unit have power, the power indicator in board will light up; press the DFX MUTE
key down, the PEAK indicator will decrease.

1. MONO CH Test
1). Switch the +48V PHANTOM of the tested channel to "ON" (every four MONO CH in

2).

3)

share), the indicator will light up (red), the corresponding channel MIC socket 2, 3 pin
have 4712V voltage; Insert the tested LED socket to MIC socket, the two LED will light
up and the illumination will match with the sample;
After the test is OK, turn the switch to "OFF";
Input from MIC: BAL-XLR, -30dB, the INSERT output signal of the corresponding
channel is BNC-UNBAL, -30£2dB; turn the GAIN knob to maximum, the INSERT
output is 15+2dB.
After the test is OK, turn the knob to minimum;
Input from LINE IN: UNBAL-BNC, -20+2dB, the INSERT output signal of corresponding
channel is -3512dB; rotate the GAIN knob to midpoint, the INSERT output is -5+2dB.
Rotate the GAIN knob to maximum, the INSERT output is 10+2dB.
After the test is OK, rotate the knob to minimum;

. Input from MIC: BAL-XLR, 1dB, pushes the ST OUT slide potentiometer and the tested

channel slide potentiometer to "0", the ST OUT output is 0+2dB, and the right LEVEL
indicator light in 0dB; rotate the GAIN potentiometer to maximum in clockwise, the
output will increase gradually, the channel LEVEL and main output LEVEL indicator
signal will enhance gradually, and to CLIP in the end; rotate the GAIN potentiometer to
min; insert the disconnect jack to the tested channel INSERT socket, the ST OUT has
no output;



After the test is OK, take the phantom jack out, the output is 0dB;

4). Press the LOW CUT key in the tested channel down, use AP to test the frequency
specification, as for the fig1
After the test is OK, release the LOW CUT key;

5). EQ Test:

a. Rotate the HI GAIN knob to min and max to scan the frequency response; rotate the
LOW GAIN knob to min and max, as for fig2;

After the test is OK, rotate the HI GAIN, LOW GAIN knob to midpoint;

b. Rotate the MID-GAIN knob to min, and rotate the MID-FREQ knob to min, mid and
max to scan the frequency response in separately; rotate the MID-GAIN knob to max,
and rotate the MID-FREQ knob to min, mid and max to scan the frequency response,
as for fig3;

After the test is OK, rotate the MID-GAIN, MID-FREQ knob to mid;
6). AUX Output Test:

a. Rotate the AUX1 knob in tested channel to min, the AUX1 has no output;

b. Rotate the AUX1 knob in tested channel to "0", the AUX1 output is 0£2dB;

c. Rotate the AUX1 knob in tested channel to "+10", the AUX1 output is 10+2dB.

After the test is OK, rotate the knob to "0";

d. Push the channel LEVEL to min, the AUX1 has no output;

e. Push the channel LEVEL to "0", the AUX1 output is 0+2dB;

f. Push the channel LEVEL to "+10", the AUX1 output is 10+2dB;

After the test is OK, push the slide key to "0";

g. Press the AUX1 input selector key down, and select the "PRE", the AUX1 output is
0£2dB, push the LEVEL slide key in channel to max, the output has no variation,
release the "PRE" key, push the channel slide potentiometer to "0" to make the AUX1
output is 0dB;

After the test is OK, rotate the AUX1 knob to min "-oo" in counterclockwise.
(the same procedure to test the AUX2)

h. Rotate the AUX3 knob in tested channel to min, the AUX3 has no output;

i. Rotate the AUXS3 knob in tested channel to "0", the AUX3 output is 0+2dB;

j- Rotate the AUXS3 knob in tested channel to "+10", the AUX3 output is 10+2dB.

After the test is OK, rotate the knob to "0";

k. Push the channel LEVEL to min, the AUX1 has no output;

I. Push the channel LEVEL to "0", the AUX1 output is 0+2dB;

m. Push the channel LEVEL to "+10", the AUX1 output is 10+2dB;

After the test is OK, push the slide key to "0", and rotate the knob potentiometer to min
"-oo0" in counterclockwise.
(the same procedure to test AUX4)
7). PAN Test:
a. Rotate the PAN knob to "LEFT", the ST OUT L output is 2+2dB, but the ST OUT R has



no output;
b. Rotate the PAN knob to mid, the ST OUT L & R output is 0+2dB;
c. Rotate the PAN knob to "RIGHT", the ST OUT R output is 2+2dB, but the ST OUT L
has no output;
After the test is OK, rotate the PAN knob to mid.

8). Press the MUTE key in the tested channel down, the Lens key will light up (yellow), the
ST OUT L/R has no output;

After the test is OK, release the MUTE key;

9). Press the PFL key in the tested channel down, the Lens key will light up (green), the
PHONES output is 0£2dB, even adjust the channel potentiometer, the output has no
variation; adjust the PHONES potentiometer to min, the PHONES has no output;
adjust the PHONES potentiometer to max, the PHONES output is 10+2dB.

After the test is OK, release the PFL key and adjust the PHONES potentiometer to mid.
2. STEREK CH Test

1). Input from LINE IN L: UNBAL-BNC, 0dB, push the slide potentiometer in tested
channel to "0", the ST OUT L/R output is -20+2dB; rotate the GAIN to mid in clockwise,
the ST OUT L/R output is 0£2dB; once rotate the knob to max in clockwise, the output
is 20+2dB.

After the test is OK, rotate the knob to mid and make the output is 0dB;

2). EQ Test:

a. Rotate the HIGH 12 kHz knob to min (-15) and max (+15), and scan the frequency
response respectively, then rotate the knob to mid.

b. Rotate the HI MID 3 KHz knob to min (-15) and max (+15), and scan the frequency
response respectively, then rotate the knob to mid;

c. Rotate the MID LOW 500Hz knob to min (-15) and max (+15), and scan the frequency
response respectively, then rotate the knob to mid;

d. Rotate the LOW 80Hz knob to min (-15) and max (+15), and scan the frequency

response, then rotate the knob to mid, as for fig4;
3). AUX Output Test:
a. Rotate the AUX1 knob in tested channel to min, the AUX1 has no output;
b. Rotate the AUX1 knob in tested channel to "0":
When it is in the LINE IN L input, the AUX1 output is 0+2dB;
When it is in the LINE IN R input, the AUX1 output is -612dB;
c. Rotate the AUX1 knob in tested channel to "+10":
When itis in the LINE IN L input, the AUX1 output is 10£2dB;
When itis in the LINE IN R input, the AUX1 output is 4+2dB.
After the test is OK, rotate the knob to "0";
d. When itis in the LINE IN L input, press the AUX1 selector down and select the "PRE"
output, the AUX1 output is 0+2dB; push the LEVEL in channel to "+10", the output
has no variation; release the "PRE" key, the AUX1 output is 10+2dB;



When itis in LINE IN R input, press the AUX1 key down and select the "PRE" output,
the AUX1 output is -612dB; push the LEVEL in channel to "+10", the output has no
variation; release the "PRE" key, the AUX1 output in 4£2dB.
After the test is OK, push the channel slide potentiometer to "0", and make the AUX1
output is 0dB, then rotate the AUX1 knob to min "-oo", (the same procedure to test
AUX2)
e. Rotate the AUXS in tested channel to min, the AUX3 has no output;
f. Rotate the AUX3 knob in tested channel to "0",
When it is in the LINE IN L input, the AUX3 output is 2+2dB;
When it is in the LINE IN R input, the AUX3 output is -6£2dB.
g. Rotate the AUX3 in tested channel to "10",
When itis in the LINE IN L input, the AUX3 output is 10£2dB;
When it is in the LINE IN R input, the AUXS output is 4+2dB.
After the test is OK, push the channel slide potentiometer to "0", then rotate the AUX3
knob to min "-«" in counterclockwise.
(the same procedure to test AUX4)

4). BAL Test:

a. Rotate the BAL knob in tested channel to "LEFT", the ST OUT L output is 2.5+2dB,
the ST OUT R has no output;

b. Rotate the BAL knob in tested channel to mid, the ST OUT L/R output is 0+2dB;

c. Rotate the BAL knob in tested channel to "RIGHT", the ST OUT L has no output, the
ST OUT R output is 2.5£2dB;
After the test is OK, rotate the BAL knob to mid.

5). Press the MUTE key in tested channel down, the Lens key will light up (yellow), the ST
OUT L/R has no output; release the "MUTE" key, the Lens will decrease and the ST
OUT L/R has output;

6). Press the PFL key in tested channel down, the Lens will light up (green), the PHOENS
output is 0+2dB; once adjust the channel GAIN, the rotate potentiometer has variation
in output, the output has no variation after adjusting the channel slide potentiometer.
After the test is OK, release the PFL key.

3. ST SUB IN Test:

1). ST OUT Output Test:

a. Input from ST SUB: 0dB, rotate the ST SUB knob to "-co", the ST OUT L/R has no
output;

b. Rotate the ST SUB knob to "0", the ST OUT L/R output is 0£2dB;

c. Rotate the ST SUB knob to "+10", the ST OUT L/R output is 10+2dB;

d. Input from ST SUB: 0dB, rotate the ST knob to "-~", the ST OUT L/R has no output;

e. Rotate the ST SUB knob to "0", the ST OUT R output is 0+2dB, the ST OUT L has no
output;

f. Rotate the ST SUB knob to "+10", the ST OUT R output is 10£2dB, ST OUT L has no



output;
After the test is OK, rotate the ST SUB knob to "0".

2). AUX SEND Output Test:
a. Rotate the AUX knob in tested ST SUB channel to "-oo", the AUX has no output;

b. Rotate the knob to mid "0", the output is 0£2dB (input from channel R is -6+2dB);

c. Rotate the knob to "+10", the output is 10+2dB (input from channel R is 4+2dB);
After the test is OK, rotate the AUX knob to mid "0".

d. Push the AUX LEVEL to "-oo", the AUX has no output;

e. Push the AUX LEVEL to "0", the output is 0£2dB (input from sounding channel R is
-6+2dB);

f. Push the AUX LEVEL to "+10", the output is 10£2dB (input from sounding channel R
is 4+2dB);

g. Press all the AFL (green) in AUX, the PHOENS and AUX have the same output;
After the test is OK, push the AUX LEVEL to "0", release the AFL key.

3). PHONES Output Test:

a. Press the PFL key in tested ST SUB channel, the Lens will light up (green), the
PHONES L/R output is 0+2dB; rotate the ST SUB LEVEL potentiometer, the PHOES
L/R output has no variation; release the key, the PHONES has no output (when input
from R only, the PHONES has no output).
After the test is OK, release the PFL key.

4. 2TR IN/OUT Test:

Input from 2TK IN L, R: 0dB signal:
1). Rotate the 2TK IN potentiometer to "-o", the ST OUT and 2TK OUT L/R has no output;

2). Rotate the knob to "0", the ST OUT and 2TK OUT L/R output is 0+2dB;

3). Rotate the knob to "+10", the ST OUT and 2TK OUT L/R output is 10+2dB;

4). Press the 2TK IN PFL down, the Lens will light up, the PHONES L/R output is 0+2dB;
rotate the 2TK IN potentiometer, it has no variation;
After the test is OK, rotate the 2TK IN knob to "0", release the PFL key.

5. ST OUT Output Test:

Input 0dB BAL signal from CH1, push the channel slide potentiometer to "(":

1). Push the ST OUT LEVEL slide potentiometer to "-o" the ST OUT L/R has no output;

2). Push the ST OUT LEVEL slide potentiometer to "0", the ST OUT L/R output is 0+2dB;

3). Push the ST OUT LEVEL slide potentiometer to "+10", the ST OUT L/R output is
10£2dB;

After the test is OK, push the ST LEVEL to "0".

4). Press the 9-band EQ switch down, the indicator will light up (yellow), push the slide

potentiometer of each frequency point to top and bottom in return, the frequency

response specification as for the fig5.
After the test is OK, push all the slide potentiometer to "(" and release the press key.

5). Press the PFL key in ST OUT LEVEL slide potentiometer down, the Lens will light up,



the PHONES L/R output is 0£2dB, and it has no PHONES output effect when push the
slide potentiometer.
After the test is OK, release the PFL key.

6). Press the AFL in ST OUT LEVEL slide potentiometer down, the Lens will light up, the

PHONES L/R output is 0£2dB; push the slide potentiometer to bottom, the PHONES
has no output; push the slide potentiometer to top, the PHONES output is 10+2dB.
After the test is OK, release the PFL, and push the ST OUT LEVEL to "0".

6. ST SUB OUT Output Test:
1). Rotate the ST SUB OUT knob to "-co", the ST SUB OUT L/R has no output;
2). Rotate the knob to "0", the ST SUB OUT L/R output is 0+2dB;
3). Rotate the knob to "+10", the ST SUB OUT L/R output is 10+2dB;

After the test is OK, rotate the ST SUB OUT knob to "0".

7. MONO OUT Test:
1). Push the MONO OUT LEVEL slide potentiometer to "-«", the MONO OUT has no

output;

2). Push the slide potentiometer to "0", the MONO OUT output is 0+2dB,;
3). Push the slide potentiometer to "+10", the MONO OUT output is 10+2dB;

4).

5).

After the test is OK, push the MONO LEVEL slide potentiometer to "0";

Turn the "LPF" on board to "ON", scan the output frequency response, and then turn
the LPF potentiometer to maximum in clockwise, scan the output frequency response,
please see the attachment figureo6;

After the test is Ok, turn the "LPF" switch to "OFF";

Press the AFL on MONO OUT slide potentiometer down, the Lens will light up (green),
the PHONES L/R output is 0+2dB; turn the slide potentiometer to minimum, the
PHONES has no output; turn the slide potentiometer to maximum, the PHONES output
is 10+2dB;

After the test is OK, release the AFL and turn the slide potentiometer to "0";

8. DSP Test:
Press the DFX MUTE key to make the DSP PEAK indicator gradually decreased:

1).

2).

3).

Turn the EFFECT RTN slide potentiometer, AUX1-AUX4 rotate potentiometer of CH1,
and AUX1-AUX3 of DSP CH1 to "0"; observe the ST OUT, the AUX1-AUXS3 has the
same output signal waveform, rotate the PRESETS potentiometer to make it dial at
"1-16", each rotate, the indicator will flash and the relay will drive one time, the
variation of the output signal waveform coincide with the sample;

Rotate the VARIATIONS potentiometer to point at the "1~16", each rotate will make the
indicator flashing and the relay driving for one time, the variation of output signal
waveform coincide with the sample.

Put the EFFECT RTN slide potentiometer on channel DSP and rotate potentiometer to
"-" "0" "+10", observe each output signal waveform coincide with the sample.

After the test is OK, rotate the PRESETS, VARIATIONS to midpoint "1", push the



EFFECCT RTN slide potentiometer and AUX1-AUX3 rotate potentiometer to "-«".
9. Amplifier Output Test (RMS Test):

Turn the POWER AMP switch to "ON", input from MIC1: -5dB sine waveform signal, rotate

the GAIN to minimum, push the channel, ST OUT, AUX1 and MONO slide potentiometer

to "+10™:

1). Connect a 4(2load resistor in each output terminal "1+, 1-" of APM L/R, turn the AMP
MODE switch to "MAIN L+MAIN R" and use this mode to output, the left and right AMP
output power is 300W (APM160 is about 500W), THD<1%:

2). Turn the AMP MODE switch to "AUX+MONO" and use this mode to output, push the
MONO OUT and AUX1 slide potentiometer to "+10", the left and right AMP output
power is 300W (APM160 is about 500W), THD<1%.

3). Push the AMP MODE switch to BRIAGE and use this mode to output, connect a 8Q
load resistor in output terminal "1+, 2+" of AMP L, the AMP output power is about
550W (APM is about 900), THD<1%.

After the test is OK, push the AMP POWER switch to "OFF"; push the AMP MODE to
"MAIN L+MAIN R" and use this mode to output.
10. Output Noise Test:
No input signals, turn all the MIC GAIN of the channel to minimum, and slide
potentiometer to "0", the oscillograph waveform should be flat and no other noise wave.
11. Gooseneck Lamp Test:
Insert gooseneck lamp to BNC socket of PCB, the lamp will light up and the illumination
will in normal
12. Listening Test:

1). Connect all output terminal of the units to high quality AMP or horn in return and listen
to all the output whether it will have abnormal voice;

2). Press all the keys down and listen to this unit whether it has abnormal voice.

13. Burning Test

Connect the unit to music signal, and the output to false load, three output modes test for

60min.

14. Factory Preset:

1). Push all the PHONES, LPF, and POWER AMP slide switch to "OFF";

2). Rotate the entire GAIN knob to minimum;

3). Rotate all the EQ GAIN, EQ FREQ, PAN and BAL potentiometer to midpoint;

4). Turn the 9-band EQ slide potentiometer to midpoint, and turn all the slide potentiometer
to maximum.



A 50 100 200 500 1k 2k 5% fok 20k
Hz

v



T a

W a

W a

+20: A = +20

+155 = pf +15

+10F -~ +10

+5f \ - +5
= \\\ -

+0F —— —+0
g 1] -

-5F -5
0L ] 10
151 = 15

e | -
S - -
20 -20
20 50 100 200 500 1k 2 5k 10k 20k
Hz
+20- —+20
+151 Apf +15
C =T ] -
+10F ™ 1 ST
+5f | / f +5
0 == s i B 40
= — -
5E L —-5
40[ 10
A5E ] —-15
20 20
20 50 100 200 500 1k 2k 5k 10k 20k
Hz
+20- —+20
+151 Apf +15

C L — ] -

E L gy -
+10F I ~ —+10
E ] /\ =i -
+5F = — —+5
= 1 —
+oF LT /"/7 \\ - .0
— ‘ —— 1 "

-5 S R — . I = - 5
B S -

- ™~ -
10F o~ — 10
= // -

E P -
51 - L 115
£ — —— —
205 -~ 20

20 50 100 200 500 1k 2k 5k 10k 20k

Hz

o a

c

T a

T a



T a

+20: A = +20
+155 | pf +15
+10F >< >< -~ +10
+5: - +5
= I~ -
1 > L : o Y
+ = == —+
T T T = T s
-10C < y \ 10
_155 g E 15
20" 20
20 50 100 200 500 1k 2 5k 10k 20k
Hz
C Ap’ +20
F —+0
e B ] 20
E Iy -
£ = 40
- B 60
|- \\ [—
c ™~ -
= ~ -80
= 100
20 50 100 200 500 1k % 5k 10k 20k

Hz

c o

wa



sSEIKKAKW

PR APM-120

B4 APMI20-00

BE12007/01/11




SEIRARKU

R APM-160
Bl APMIE0-00

BEL2007/01/11




No. |Part No. [Description Specification Pcs
1 |MAO05851 |ZC-board-RS-SR#2000 5249 APM120 ALTO-V1.0 1
2 |HK07692 |K-PC Board P-APM120 MONO-DIP 2
3 |MG00041 |Screw-RS M3*6 60
4 |HKO07695 |K-PC Board P-APM120 STEREO-DIP 1
5 |HK01409 |K-PC Board P-313123-DIP(AMX-140FX) 1
6 [MEO00015 [color nut 3mm 3
7 |MG00234 |copper pillar M3*5*0.5PH 3
8 [MF00037 [MIC jack-RS-ACT-HC00125 attachment |@3*@5*1t 3
9 |MGO00036 |Screw-RS M3*4 3
10 |MGO00572 [copper pillar-RS M3*12.5*0.5PH 17mm 9mm 2
11 |NI03192 |ZC-Lens-RS-ACT TYPHOON-V1.0 31
12 [NI03140 |knob-RS-C 5*5*9 dual TYPHOON-V1.0 30
13 |HK07709 |K-PC Board P-APM120SPEAK 1
14 |INCO00131 [T-washer-RS-ACT 1*911.3*¢@15.3 red 4
15 |MGO00057 |Screw-RS M3*8 4
16 |[HC00206 |BNC jack-RS WJ-7031(28*12.7) 1
17 BNC attachment
18 |NI04090 |fixed board-RS-C-ABS TYPHOON1600 3.5*47*81 black-V1.0 4
19 |NI03367 |knob-RS-C-ABS 24*9.5*10.5 CYCLONE 10

20 [NI03055 |knob-RS-C-ABS 24*9.5*10.5 TYPHOON 1

21 |NI03056 |knob-RS-C-ABS 24*9.5*10.5 TYPHOON 3

22 |NI03043 |knob-RS-C-ABS 24*9.5*10.5 TYPHOON 2

23 |NI04004 |knob-RS-C-ABS ¢10*16.590° -V1.0 118

24 [NI102692 |knob cover-RS-C-ABS @7*3.5 black 16

25 [NI04602 [knob cover-RS-C-ABS @7*3.5 yellow 24

26 [NI104601 knob cover-RS-C-ABS @7*3.5 green 28

27 |NI02678 |knob cover-RS-C-ABS @7*3.5 534C blue 32

28 [NI01147 [knob cover-RS-C-ABS ¢7*3.5 534C white 18

29 |NI02386 |knob-RS-C 14*13mm dual 2
30 |[MF00061 [washer-RS-ACT ©9.6*913*0.5t 41
31 |ME00060 [MIC jack-RS-ACT-HC00125 attachment |JY-6351G-02-250 41
32 |[MG00061 |[screw-RS M3*10 17
33 |MI03818 [ZD-barrier-RS-APM120-05 APM-120 0.8t*484.48*430*10-V1.0 1
34 |MB05006 [ZC-chassis-RS-SR#2000 5249 APM120 -V1.0 1
35 |MD00444 |protective cover-RS 80*80mm(K-G08A05-4HA) 1
36 |[MG00268 [Screw-RS M5*12 4
37 |HE00113 [fan-RS-CT-KD2408PTS1 DC24V/67mA 80*80*25mm 125mm 1
38 |HI00022 |power switch SW-RS 4P black frame red key R13-69A 1
39 |HC00331 [AC socket-RS RF-2004 1

40 |HI0O0120 |slide switch SW-RS L21-22A 1

41 [HI03205 |protective cover-RS-0.5T PVC 0.5*44*15-V1.0 1

42 |HK07495 |K-PC Board P-DGM1000(D1)-DIP 1

43 |MF00048 |washer-RS-ACT ©4*p8*0.5t 1

44 |MF00038 |washer-RS-ACT e4*p7*1t 1

45 |MEO00016 |color nut-RS 4mm 2

46 |HKO07395 |K-PC Board P-PSM-50Wd-DIP 1

47 |MG00025 |Screw-RS M3*6 6

48 |MI03813 |ZB-side cover board-RS-SR#2000 5249 |APM-120 1t*129.57*505* left-V1.0 1

49 |NI04460 |handle-RS-CT-ABS APM-120 25.5*134.3*559 black left-V1.0 1
50 |MI03815 [ZD-caushion-RS-APM120-10 APM-120 1.5t*61.5*123*128-V1.0 2
51 |[MG00045 [Screw-RS M3*7 4
52 |NI04462 |handle cover-RS-CT-ABS APM-120 12*58.47*134.3 black left-V1.0 1
53 |[MG00063 [Screw-RS M3*12 8
54 |MG00027 [Screw-RS M3*12 14
55 |MI03811 [ZB-side cover board-RS-SR#2000 5249 |APM-120 1t*129.57*505" right-V1.0 1
56 |NI04461 |handle-RS-CT-ABS APM-120 25.5*134.3*559* black right-V1.0 | 1
57 |NI04463 [handle cover-RS-CT-ABS APM-120 12*58.47*134.3" black right-V1.0 | 1
58 |NI04569 |rubber cushion-RS APM-120 black-V1.0 4




No. |Part No. [Description Specification Pcs
1 |MA06242 |ZC-board-RS-SR#2000 5249 APM160 ALTO-V1.2 1
2 [HK07692 [K-PC Board P-APM120 MONO-DIP 3
3 [MG00041 |[Screw-RS M3*6 68
4 INI0O3192 |ZC-Lens-RS-ACT TYPHOON-V1.0 39
5 |NI03140 |knob-RS-C 5*5*9 dual TYPHOON-V1.0 42
6 [HK07695 [K-PC Board P-APM120 STEREO-DIP 1
7 [HK01409 [K-PC Board P-313123-DIP(AMX-140FX) 1
8 |ME00015 |color nut 3mm 3
9 |MG00243 |copper pillar M3*5*0.5PH 3
10 |MF00037 [washer @3*@5*1t 3
11 [MGO00036 |Screw-RS M3*4 3
12 [MG00572 |copper pillar-RS M3*12.5*0.5PH 17mm 9mm 2
13 |NI04090 |fixed board-RS-C-ABS TYPHOON1600 3.5*47*81 black-V1.0 5
14 [MI03820 |ZD-barrier-RS-APM160-03 APM160 0.8t*484.48*535*10-V1.0 1
15 [MF00061 |washer-RS-ACT 99.6*p13*0.5t 49
16 |[MEO00060 |MIC jack-RS-ACT-HC00125 attachment |JY-6351G-02-250 49
17 |MG00061 |screw-RS M3*10 25
18 [MB05007 |ZC-rear board-RS-SR#2000 5249 APM160-V1.1 1
19 |HK07709 |K-PC Board P-APM120SPEAK 1
20 [NC00131 [T-washer-RS-ACT 1*p11.3*915.3 red 4
21 |MG00643 |Screw-RS M3*10-V1.0 4
22 [HE00113 [fan-RS-CT-KD2408PTS1 DC24V/67mA 80*80*25mm 125mm 1
23 [MD00444 [protective cover-RS 80*80mm(K-G08A05-4HA) 1
24 |MG00268 |Screw-RS M5%12 4
25 |HI00120 |slide switch SW-RS L21-22A 1
26 |NI03205 |protective cover-RS-0.5TPVC 0.5*44*15-V1.0 1
27 [HI00022 [power switch SW-RS 4P black frame red key R13-69A 1
28 [HCO00331 |AC socket-RS RF-2004 1
29 |MF00048 |washer-RS-ACT ©4*@8*0.5t 1
30 |[MF00038 |washer-RS-ACT p4*@7*1t 1
31 |ME00016 [color nut-RS 4mm 2
32 |HK07312 |K-PC Board P-DGM1500(PowerSoft)-DIP 1
33 |HK07395 [K-PC Board P-PSM-50Wd-DIP 1
34 |MGO00025 |[Screw-RS M3*6 6
35 |HC00206 |BNC jack-RS WJ-7031(28*12.7) 1
36 BNC attachment
37 |INI03367 |knob-RS-C-ABS 24*9.5*10.5 CYCLONE-V1.0 14
38 |NI03055 |knob-RS-C-ABS 24*9.5*10.5 TYPHOON(187C)-V1.0 1
39 |NI03056 |knob-RS-C-ABS 24*9.5*10.5 TYPHOON(282C)-V1.0 3
40 |NI03043 |knob-RS-C-ABS 24*9.5*10.5 TYPHOON(8C) 2
41 |NI04004 |knob-RS-C-ABS ¢10*16.5(8C) 90° -V1.0 158
42 [NI02692 |knob cover-RS-C-ABS @7*3.5 black 20
43 |NI04602 |knob cover-RS-C-ABS @7*3.5 yellow 32
44 [NI04601 knob cover-RS-C-ABS @7*3.5 green 36
45 |NI02678 |knob cover-RS-C-ABS @7*3.5 534C blue 44
46 [NI01147 |knob cover-RS-C-ABS @7*3.5 534C white 26
47 |NI02386 |knob-RS-C ®14*13mm dual(8C 072Cblue) 2
48 |MI03813 |ZB-side cover board-RS-SR#2000 5249 |APM-120 1t*129.57*505* left-V1.0 1
49 |NI04460 |handle-RS-CT-ABS APM-120 25.5*134.3*559 black left-V1.0 1
50 |MI03815 |ZD-caushion-RS-APM160-10 APM-120 1.5t*61.5*123*128-V1.0 2
51 |MG00045 |[Screw-RS M3*7 4
52 |NI04462 |handle cover-RS-CT-ABS APM-120 12*58.47*134.3 black left-V1.0 1
53 |MGO00063 [Screw-RS M3*13 8
54 |MGO00027 |[Screw-RS M3*12 14
55 |MI03811 |ZB-side cover board-RS-SR#2000 5249 [APM-120 1t*129.57*505* right-V1.0 1
56 |NI04461 |handle-RS-CT-ABS APM-120 25.5*134.3*559* black right-V1.0] 1
57 |NI04463 [handle cover-RS-CT-ABS APM-120 12*58.47*134.3* black right-V1.0] 1
58 |NI04569 |rubber cushion-RS APM-120 black-V1.0 4




No. |Part No. |Description Specification Remark
1 |MA05851 |panel-RS APM120 ALTO_V1.4
2 |MA06198 [panel-RS APM-120
3 |AE00055 [solvent solvent
4 |AE00235 [paint-RS 5249
5 [MA06197 |panel-RS APM-120 1.2t*40*430*505_V/1.2
6 |MJ00063 [iron board 1.22135*1220 24.54kg
7 |MB05006 |chassis-RS APM120_V1.1
8 |MB04970 |chassis-RS APM-120
9 |AE00055 |solvent solvent
10 [AE00235 [paint-RS 5249
11 |MB04969 |chassis-RS APM-120 1.0t*488.28*430*99.5_V1.1
12 |ME00001 |screw pillar M4*10*0.7PH
13 |ME00041 (|iron pillar hexagon6.35*M3*6
14 |ME00048 (|iron pillar hexagon6.35*M3*3.5
15 |MJ00058 |single light board 1*2135*1220 20.45kg
16 |[MI03818 [barrier-RS APM-120 0.8t*484.48*430*10_V1.0
17 |MJ00068 |iron board 0.8*2135*1220 16.35kg
18 |MI03914 |separating shade-RS APM-120 0.8t*5*89.6*121.6_V1.0
19 |[MJ00068 |iron board 0.8*2135%1220 16.35kg
20 [MI03813 [side cover board-RS APM-120_V1.0
21 |AE00055 |solvent solvent
22 |AE00235 |paint-RS 5249
23 |MI03812 [side cover board-RS APM-120 1t*129.57*505_V1.0
24 IMJ00058  [single light board 1*2135*1220 20.45kg
25 [MI03811 [side cover board-RS APM-120 1t*129.57*505 right_V1.0
26 [AE00055 [solvent solvent
27 [AE00235 [paint-RS 5249
28 [MI03810 [side cover board-RS APM-120 1t*129.57*505_V1.0
29 [MJ00058 [single light board 1*2135*1220 20.45kg
30 |NI04462 |handle cover-RS APM-120 12*58.47*134.3_V1.0
31 [NI04463 [handle cover-RS APM-120 12¥58.47*134.3_V1.0
32 [MI03815 [caushion-RS APM-120 1.5t*61.5*123*128_V1.0
33 [MJ00069 [iron board 1.5*2135*1220 30.67kg
34 |NI04460 |handle-RS APM-120 25.5*134.3*559_V/1.0
35 [NI04461 [handle-RS APM-120 25.5*134.3*559_V1.0
36 [HA00861 |power cord Europe 3P LT-312+LT-501
37 [NI04004  [knob ¢10*16.590 _V1.0
38 [NI01147  [knob cover-RS ¢7*3.5_V1.3
39 [NI02678  [knob cover ¢7*3.5 534C blue
40 |NI02692 |knob cover @7*3.5 black
41 [NI04601 [knob-RS ¢7*3.53298U_V1.0
42 INI04602 |knob-RS ¢7*3.5123U_V1.0
43 [NI02386 |konb ®14*13mm
44 [NI03701  [knob-RS-C 24*9.5*10_V1.2
45 [NI03055 [knob-RS-C 24*9.5¥10 TYPHOON 187_V1.1
46 [NI03056 [knob-RS-C 24*9.5*10 TYPHOON 282_V1.1
47 INI03043  |knob-RS-C 24*9.5*10 TYPHOON_V1.1
48 [NI03192 [acrylic panel TYPHOON_V1.0
49 [NI02926 |[button 13.9%10*24mm TYPHOON_V1.4
50 [NI03140 [knob 5*5*9 TYPHOON_V1.0
51 [NI04090 |[fixed board TYPHOON1600 3.5*47*81 black_V/1.0
52 [HC00206 |BNC jack WJ-7031(28*12.7)
53 [MG00041 [screw M3*6
54 [MG00025 [screw-RS M3*6
55 [MG00268 [screw M5*12
56 [HE00113 [fan-RS-CT DC24V/67mA 80*80*25mm 125mm




No. |Part No. |Description Specification Remark
57 |MDO00444 |protective cover 80*80mm(K-G08A05-4HA)

58 [MG00027 [screw M3*12

59 [MG00063 [screw M3*12

60 [MG00045 [screw M3*7

61 |MG00061 [screw-RS M3*10

62 |MG00243 |copper pillar M3*5*0.5PH

63 |MG00572 |copper pillar M3*12.5*0.5PH 17mm 9mm

64 [MG00036 [screw M3*4

65 [ME00015 |[color nut 3m/m

66 [MF00037 [washer ¢3.2°p5.5*1t

67 [ME00060 [MIC jack JY-6351G-02-250

68 [MF00061 [MIC jack ¢9.6%913*0.5t

69 |HI00120 |slide switch L21-22A

70 [HAO0056 [wire 90mm black L5R5

71 INI00252 |sleeve @4*20mm

72 NI00248 |sleeve ¢4*1000mm

73 |MG00057 |screw M3*8

74 INI03205 |protective cover 0.5*44*15_V1.0

75 [HC00876 [terminal block-RS 7ESDP-02P

76 [HA02276 [wire-RS 70mm 0.75A*3C(H05VV-F)

77 |HA02278 [wire-RS 70mm 0.75A*3C(H05VV-F)

78 |HI00022 |power switch-RS 4p black frame red key

79 [HC00331 [AC socket RF-2004

80 |HDO00098 |glass tube fuse T6.3A 250V ¢5.2*20mm CCC/BSI/C-UR/VDE

81 |HA04877 |wire-RS 3P 180*2/65/55mm UL1015 22AWG

82 [HA04878 [wire-RS 130/110mm UL1015 18AWG

83 [HA04828 [wire-RS 20P*3 110/95mm UL1007 28AWG

84 |HA04853 [wire-RS 6P-3P*2 720mm UL1007 24AWG

85 |HA04854 |wire-RS 8P-4P*2 650/110%3/340/200 UL1007 28AWG

86 |MF00048 |washer @4*98*0.5t

87 |MF00038 |washer o4 o7 1t

88 |ME00016 |color nut 4m/m

89 [NI04569  [rubber cushion-RS M6*923.5*20.5mm black

90 |NA00235 |PE bag 0.05t*650*550mm

91 |NF00061 |assurance card ALTO

92 |HJ00006 |dessicant 30g

93 |NE05004 |label ALTO

94 |NH00334 |cone paper 0.040*1m

95 [NE16529 [lable-RS APM120_V1.0

96 [NI00014  |membrane 0.035*1M

97 |NH00012 |bond paper 0.04*1M

98 |NI00218 [cable tie ALT-102SB

99 |NC00131 |washer 1*¢11.3*¢15.3 red

100 |MJ00808  |fixed clip WL3-32T

101 |INC00080 |washer ¢3.17*98.2*1

102 [NC01112 |[black foil white board 1.0t'65mm(+0.1)*60M

103 |HC00034 |short circuit connector NO.2700 2.54mm/6mm OPEN

104 |HK01409 |PC board-RS P-313123-DIP(AMX-140FX)

105 [SC00004 |crystal oscillator 16.00MHZ XT1
106 |HC00484 |connector 2.54 180 2*8P(gold-plated) 13.5/19mm CN2
107 |1SG00193 |SMD integrated circuit AT27LV010A-90JC/L-8 IC4
108 |SG00168 |SMD integrated circuit-RS HT27LC010-90J(PLCC32)/(HOLTEK)

109 |HK03894 |PC board-RS-ACT P-313123-SMD(L-8)

110 [HB00895 |PCB 313123/2(1*6)

111 |CI00075  |SMD ceramic capacitor 0603 0.1uF/50V Y5V +80,-20% C17,C15,C18,C6,C10,C22,C20,C13,C14,C1,C3,C4,C11
112 |RD00061 |SMD fixed resistor 1/10W 10Q £5% 0603 R22




No. |Part No. |Description Specification Remark
113 |RD00068 |SMD fixed resistor 1/10W 100Q £5% 0603 R12,R14,R7,R8,R34,R17,R13,R33
114 |RD00073 |SMD fixed resistor 1/10W 220Q +5% 0603 R3

115 |RD00085 |SMD fixed resistor 1/10W 1.5KQ +5% 0603 R16,R15,R21,R20,R4,R19,R10,R18,R9,R5
116 |RD00088 |SMD fixed resistor 1/10W 2.2KQ +5% 0603 R28,R27,R23,R24,R29,R30,R25,R26
117 |RD00101 |SMD fixed resistor 1/10W 10KQ +5% 0603 R32,R31,R1
118 |RD00125 |SMD fixed resistor 1/10W 1.0MQ +5% 0603 R2

119 |RE00006 |SMD resistor networks 1/16W  |100Q*4 5% 8P 0603 AR1,AR2
120 |SE00011 |SMD rectifier diode RLS4148 0.5A (LL-34) D1

121 |1SG00068 |SMD integrated circuit 74HC14DT(SO14)/(PHI) IC1

122 |1SG00410 |SMD integrated circuit IC41LV16256-35KG(SOJ40)/(ICSI) IC6

123 |1SG00166 |SMD integrated circuit TY-2 ALTO(GMCODE:105022) IC3

124 1SG00147 |SMD integrated circuit CHEF DSP(GMCODE:105022)

125 |1SG00037 |SMD integrated circuit LD1117DT33C(T0252)/(ST) IC2

126 |HC00611 |IC socket (SMD) PLCC32 (AMP S/N:822516-7) IC4

127 |1SG00016 |SMD integrated circuit UDA1345TS(SSOP28)/(PHI) IC5

128 |AE00449 [solder material without lead 9308/Sn Ag Cu

129 [Cl00264 |SMD ceramic capacitor-RS 0603 |15PF/50V NPO 5% C8,C9

130 |INE11475 |label L-8

131 INH00221 |paper 0.055*1M

132 [NI00016  |membrane 0.05*1M

133 [AC00179 [tin without lead-RS M705E Sn 3Ag-0.5Cu

134 |CB00166 |electrolytic capacitor 100uF/16V 96*5mm C19,C12,C5,C2,C24,C16,C21,C25,C26,C28,C7
135 |HK07395 |PC board P-PSM-50Wd-DIP

136 |SD00074 |integrated circuit L7805CV(T0220)/(ST) u2

137 |SD00079 |integrated circuit L7915CV(T0220)/(ST) TR1

138 |SD00077 |integrated circuit-RS L7815CV(T0220)/(ST/MOROCCO) U6

139 |SD00066 |integrated circuit L7812CV(T0220)/(ST) U1

140 |SB00015 |Pohtotriode 4N33.300 U4

141 |SA00223 |zener diode 3.6W 36V KA431AZ(TO-92) U5

142 |SA00221 |bridge rectifier 2A/600V KBP206 BD1

143 |SA00222 |diode 2.2A/274V P6KE200A 21

144 |SA00093 [rectifier diode 1N4148 0.5A D5

145 |SB00073 [transistor-RS-ACT 2N5550/2N5551(T092)/(HSMC) Q1

146 |SB00064 [transistor-RS-ACT TIP41C(T0O220)/(ST) Q2

147 |SA00130 |diode 1A/600V/35ns BYV26C D4,D3

148 |SA00144 |diode 3.5A/200V BYV28-200,113 D6,D7

149 |SA00127 |zener diode 1/2W 47V 1N5261 z2

150 |SA00004 |high speed diode 2A/100V BYV27-200,113 D2,D1

151 INI02249  |plastic washer TW-1(TO-220)

152 INC00005 |mica SB-9500DSP 18*13*0.1t_V1.0

153 |MI00257  [heat-sink 25*34.6*12*1.5 DX26

154 IMI00256  [heat-sink 25*15"10.6-1PIN SCL-2020

155 IMG00161 |screw M3*6

156 |MG00163 |screw M3*8

157 |MF00037 |washer 03.2p5.5*1t

158 |ME00015 |color nut 3m/m

159 [MF00014 |washer ¢3*96.5%0.5t

160 |HC00172 |connector(male) 3P 3.96mm 180 CON1

161 [HC00076 |connector(male) 2P 2.5mm 180 J2,J1

162 [HC00082 |connector(male) 8P 2.5mm 180 J3

163 [CG00042 |Y-type capacitor 0.01uF/400V C37,C36
164 [CB00132 |electrolytic capacitor 330uF/25V 105°C LZ ¢8*15mm C46,C45,C1
165 [CB00006 |electrolytic capacitor 1uF/50V w4*5mm C41

166 [CB00195 |electrolytic capacitor 100uF/16V ¢6*7mm C18,C33
167 |CB00034 |electrolytic capacitor 33uF/16V 95*11mm C43

168 |CF00113 |metal-film capacitor MPX 0.047uF/275V £10% CASEC2 C21,C22




No. |Part No. |Description Specification Remark
169 |CB00221 |electrolytic capacitor 10uF/63V £20% ¢5*11mm C34,C35
170 {CG00035 |Y-type capacitor 4.7nF/400V C24,C42
171 |CG00033 |mteal oxide varistors B57237-S100-M RTH1

172 |CB00254 |electrolytic capacitor 47uF/100V 910*12mm 5mm C31

173 [HA01925 [jump 10mm J5,J6,J9
174 |HA02249 |wire 0.6

175 |HA01930 |jump 15mm J4

176 |HA02249 |wire 0.6

177 |HA01921  |jump 7mm J7

178 [HA02249 |wire ¢0.6

179 |CB00201 |electrolytic capacitor 47uF/25V @6*7mm C40

180 [CB00072 |electrolytic capacitor 1000uF/25V ¢10*20mm C29,C28
181 |CB00056 |electrolytic capacitor 220uF/25V 8*11mm C20

182 |CN00153 |inductance-RS-ACT 3mH UT20-H125NP L4

183 |TC00341 |transformer-RS ETD29_230V T

184 |AC00179 |tin without lead-RS M705E Sn 3Ag-0.5Cu

185 [SD00319 [integrated circuit-RS TOP248YN(TO220)/(Pl) U3

186 |CB00337 |electrolytic capacitor-RS 220uF/400V ¢30*31mm C23

187 |HK07396 |PC board P-PSM-50Wd-SMD

188 |RD00015 |SMD fixed resistor 1/8W 560Q +5% 0805 R13

189 |RD00141 |SMD fixed resistor 1/4W 6.8KQ +5% 1206 R6

190 [RD00025 |[SMD fixed resistor 1/8W 3.3KQ 5% 0805 R12

191 |RD00235 |SMD precise resistor 1/8W 4.70KQ £1% 0805 R15

192 |RD00515 |SMD precise resistor 1/4W 4.7Q 1% 1206 R11

193 |RD00254 |SMD precise resistor 1/4W 68.0KQ +1% 1206 R80

194 [RD00149 |SMD fixed resistor 1/4W 220KQ +5% 1206 R4,R2,R3
195 |RD00142 |SMD fixed resistor 1/4W 10KQ +5% 1206 R10,R100
196 |RD00146 |SMD fixed resistor 1/4W 47KQ +5% 1206 R8

197 |CI00100  |SMD ceramic capacitor 0805 0.1uF/50V X7R £10% C13,C11
198 [Cl00028 |SMD ceramic capacitor 0805 0.01uF/50V Y5V C12

199 |CI00154  |SMD ceramic capacitor 1206 0.1uF/100V X7R £10% C6,C2,C7,C5,C8,C17,C16
200 |RD00585 [SMD precise resistor -RS 820.00Q +1% 0805 R14

201 |RD00617 |SMD fixed resistor-RS 1/4W 2.0MQ £5% 1206 R1

202 |HB02120 |PCB-RS PSM-50Wd_VER060821

203 |RD00521 [SMD fixed resistor 1/8W 750Q 5% 0805 R7

204 [MI03891 [separating shade-RS XM-24 0.33t*37.6*37.6*28.3_V1.0

205 |[MJ00116  |tinplate 0.33*1000*1000 2.59kg

206 [MI03847 [heat-sink-RS 2.9°77*30*15_V1.0

207 |HK07847 |PC board P-DIGIMOD1000(APM120)-DIP

208 |SD00066 |integrated circuit L7812CV(T0220)/(ST) U13/B

209 [NI00280 |sleeve ¢15*25mm

210 [NI00278  |sleeve ®15*1000mm

211 [MG00161 [screw M3*6

212 |HC00359 |connector 2.54 180 4P(gold-plated) 6/11.6mm CN17,CN18
213 [HC00389 |connector(male) 16P 2.54mm180 CN13

214 |HC00082 |connector(male) 8P 2.5mm 180 CN16

215 |HC00276 |connector(male) 3P 2.54mm 180 CN4,CN10
216 |HC00034 |short circuit connector NO.2700 2.54mm/6mm OPEN JR1,JR2,JR3,JR4
217 |CF00022 [metal-film capacitor MSC 0.022uF/100V 5% CASE01 C14,C20,C99,C100
218 |CF00016 [metal-film capacitor MSC 0.01uF/100V 5% CASEO01 C10

219 [HA01919  |jump 5mm JP5

220 |HA02249  |wire 0.6

221 |CB00038 [electrolytic capacitor 4ATuF/16V ¢5*7mm C84,C85
222 |CH00027 |laminated capacitor 0.1uF/100V X7R PH5mm C60,C59,C71,C72
223 |[MB04575 |chassis DigiMod 3.0t*51*122*216(ME000155)_V1.1 |MEC1

224 IMB04577 |chassis DigiMod




No. |Part No. |Description Specification Remark

225 |MB04654 |chassis DigiMod 3.0t*51*122*216(ME000155)_V1.1

226 |MJ00057 |AL plate-RS 3.0t2000*1000mm 16.32kg

227 [ME00220 (|iron pillar M4*8*0.7PH_V1.0

228 [ME00221 |iron pillar M3*4*0.8PH_V1.0

229 |MK00115 |spring-RS-C 1.0T*7.6*13*34.2(ML00004)_V 1.2 ML1,ML2,ML3,ML4,ML5,ML6,ML7,ML8
230 [MC00801 |top cover DigiMod 1.0t*48*116*136.8(ME000156)_V/1.1 [MEC2

231 [MJ01323  |hot gradual zinc 1.0t*2135*1220 20.45kg_V1.0

232 [ME00222 |iron pillar M3*4*0.5PH

233 |HC00859 |terminal block-RS 2P 7EHDV-02P male CN1,CN2

234 |HC00858 [terminal block-RS 2P 2EHDV-02P male CN3,CN7

235 |HC00857  [terminal block-RS 4P 2EHDV-04P male CN14

236 |HC00856 |terminal block-RS 5P 2EHDV-05P male CN11,CN12

237 |CB00322 |[electrolytic capacitor-RS 820uF/35V 105°C WL 910*30mm(JAMICON) |C47,C49,C50

238 |HC00866 |row-wire header(MICRO-EDGE) |72P 1.27mm 180 (AMP:5822021-4) CN8

239 [NC00980 [Silicone insulator-RS 1.0t*25mm*30mm GAPAD!1

240 |CN00180 |common inductance-RS 1.90uH~2.30uH/T50-2(TO000061) L1,L.2

241 |RA01614 |chassis bracket 5W 4.7Q £5% SQM type R73,R79

242 |HC00879 [connector(male)-RS 2*5P 3.0mm 180 (C3030WV-F-2*5P)/ CN15

243 |SD00318 |integrated circuit-RS-C TC4423EPA(PDIP8)/(MICROCHIP) u7,u8,u9,u10,U15

244 |SD00317 |integrated circuit NJM7912FA(TO220F)/(JRC) U14/B

245 |SA00309 |high speed diode-RS BYW51FP-200(TO220AB)/(ST) D11,012,013

246 |AC00179 [tin without lead-RS M705E Sn 3Ag-0.5Cu

247 IMG00692 |screw-RS M3*12*0.5PH VT3,VT4 VT7 VT8 VT13,VT14,VT15,VT16,VT20,VT24, V128
248 |ME00226 |[screw-RS M3*0.5PH DD2,0D3,DD4,DD5,0D6,0D7,0D8,0D9,0D10,0D11,DD12
249 IMG00694 |screw-RS M2.9%9.5 VT2, VT6,VT11,VT18,VT22,VT26
250 |[MG00693 [screw-RS M3*6*0.5PH VT1,VT5,VT9,VT10,VT17,VT21,VT29,VT30
251 |SA00316  |bridge rectifier-RS 8A GBU-8K/(PANJIT) D1

252 [NE16112 [lable K-SERIES_V1.0

253 |NI00020  |membrane 0.07*1M

254 INH00015 [bond paper 0.075*1M

255 [NC01179 [insulator spacer-RS 0.13t*40mm*55mm(HI-FLOW-625) SPAD1,SPAD2,SPAD3
256 |NI04389 [plastic washer-RS TW-20N

257 |CF00226 |metal-film capacitor-RS MKP 0.33uF/160V+5%(BFC237934334) C63,C64,C65,C66

258 |SB00226 [transistor-RS-CT IRFP260NPBF(TO247)/(IR) Q3,Q4,Q5,Q6

259 |CG00079 [X1/Y2 capacitor-RS 0.0047uF/250V(S472M59Z5US63K7) C8,C9,C7,C6

260 |CG00078 |[X2 capacitor-RS MKT 1.0uF/275V £5%(BFC233620105) C1

261 |CF00224 |metal-film capacitor-RS MKP 0.1uF/630V+5%(BFC238320104) C4,C5

262 |CF00222 [metal-film capacitor-RS MKT 1.0uF/250V +5%(BFC237341105) C67,C68

263 |SB00221 [transistor-RS-CT BD237(SOT32)/(ST) Q7

264 |SB00222 |transistor-RS-CT HGTG12N60A4D(TO247)/(FAIRCHLD) Q1,Q2

265 |RA01654 |wirewound resistor 5W 0.1Q+5%/(AC05000001007JAC00) R69,R70,R75,R76

266 |[RH00032 |thermistor-RS-NTC 10K+5%(NTCLE100E3103JB0) R43,R44

267 |SB00227 [Pohtotriode-RS-CT CNY17F-2BNC(DIP6)/(FAIRCHILD) u16

268 |CN00200 [common inductance-RS-CT 2.3mH/4A EV28-4.0-02-2M3/(SCHAFFNER) [T1,T2

269 |CB00342 [electrolytic capacitor-RS-ACT  |220uF/200V ¢18*31.5mm (NICHICON) C24,C25,C26,C27,C28,C29
270 |CB00343 |electrolytic capacitor-RS-ACT ~ |390uF/100V ¢16*31.5mm/(NICHICON) C51,C52,C53,C54

271 |RA01659 [metal-oxide-film resistor-RS 1 |240K+5% VR37(VR37000002403JA100) R1

272 |CG00081 |Y-type capacitor-RS-ACT $20-K300(B72220301K101)/(EPCOS) RV1

273 |HC00941 |fuse drawer-RS-ACT 520101(5.2mm) PCB= LITTLEFUSE F1

274 |CG00082 |X2 capacitor-RS-ACT 0.1uF/275V+20% R46-KI3100-JP M1M(ARC)  |C137

275 [NE16636 |lable-RS POWERMODII350/65_V1.0

276 |NI00017  |membrane 0.055*1M

277 INI00039  |adhesive label 0.06*1M

278 [NE16634 |lable-RS-CT DIGIMOD1000_V1.1

279 [NI00039 |adhesive label 0.06*1M

280 [NI00017  |membrane 0.055*1M




No. |Part No. |Description Specification Remark
281 |RH00034  |thermistor-RS-CT 2.5Q0 B57237S259M/(EPCOS) R10
282 |HK07157 |PC board P-DGM1000(PowerSoft)-SMD
283 |SE00025 [SMD diode 0.45A/85V BAV99 D18,019,020,D21,D26
284 |RD00255 [SMD precise resistor 1/4W 100KQ +1% 1206 BR;?:{sR; SRIBRI7.RT8R19,R1,R52,R53,R54,R84,REOR
285 |RD00245 |SMD precise resistor 1/4W 1.00KQ +1% 1206 R25,R28,R29,R49,R34,R50,R87
286 |RD00399 [SMD precise resistor 1/4W 10.0KQ +1% 1206 R11,R47,R48,R57
287 |RD00140 [SMD fixed resistor 1/4W 4.7KQ 5% 1206 R12
288 |CI00095 |SMD ceramic capacitor 1206 0.1uF/50V X7R C31,C33,C34,C39
289 |CI00103  |SMD ceramic capacitor 1206 100PF/50V NPO 5% C136
290 |CI00042 |SMD ceramic capacitor 1206 0.001uF/50V NPO C73,C74,C75,C76,C80,C81,C82,C83,C92,C93,C94,C95
291 |CI00135  |SMD ceramic capacitor 1206 33PF/50V NPO £5% C44
. . C30,C37,C38,C41,C42,C45,C55,C56,C57,C58,C78,C79,C90,C
292 |Cl00046  |SMD ceramic capacitor 1206 1uF/16V Y5V-1206(3216) 91,096,097 C98.C129,0130,C131.C132.0133.C134
293 |Cl00041  |SMD ceramic capacitor 1206 470PF/50V NPO C43
294 |HB01989 |[PCB-RS DGMMAIN19_VER060411 Cs1
295 |Cl00263  [SMD ceramic capacitor-RS 1206 |0.0047uF/200V X7R +10% C12,C13,C15,C18,C19,C21
296 |[RD00615 |[SMD precise resistor-RS 1/8W  [1.50Q+ 5% 0805 R22,R23,R45
297 |RD00607 [SMD precise resistor-RS 1/4W  [330Q+ 1% 1206 R26,R27,R30,R31,R32,R33,R35,R36,R80,R81,R82,R83
298 |RD00605 [SMD precise resistor-RS 1/4W  |4.70Q+ 1% 1206 R58,R59,R60,R61
299 |RD00608 |SMD precise resistor-RS 1/4W  133.0KQ+ 1% 1206 R13
300 |[RD00606 [SMD precise resistor-RS 1/4W  [15.0Q+ 1% 1206 R20,R21
301 |[RD00604 [SMD precise resistor-RS 1/4W  [47.0Q+ 1% 1206 R86
302 |SG00465 [SMD integrated circuit-RS M24C16WMN6TP(SO8)/(ST) u12
303 |AE00449 [solder material without lead 9308/Sn Ag Cu
304 |SG00466 |SMD integrated circuit-RS-ACT  |[HCPL-0611#060(SO8)/(AGILENT) U3,U4,U5,U6
305 |SE00089 |SMD zener diode-RS 1/2W 5.1V(MMSZ5231B)(SOD-123)/(PANJIT)  |D14,D15,016,D017
306 |SF00101 |voltage stabilized transistor- L4941BDT-TR-PB FREE(DPAK)/(ST) U1
307 |SG00495 [SMD integrated circuit-RS-CT ~ |IR2156SPBF(SO14)/(IR) U1
308 |SE00095 [SMD diode-RS-CT ES3D(D0O214AB)/(VISHAY) D8,09,D10
309 |SE00097 |[SMD diode-RS-CT 1A/400V US1G(DO214AC)/(VISHAY) D3,D04,022,023,D24,025,028
310 |Cl00279  [SMD ceramic capacitor-RS 1206 |0.0022uF/200Vx7R+10%
311 |SE00098 [SMD zener diode-RS-C 1W 15V DL4744A MELF/(SJ) D2,D27
312 |CO00138 |SMD fixed inductance-RS-CT ~ |4*0.47mH(B82792-C2474-N315/(EPCOS)  |T10
313 |TC00330 |[transformer-RS EE42/20(TO000068) T3
314 [NI04468 |creel stand-RS-ACT FE0252(MILES PLATTS)
315 |TC00386 |transformer-RS EE42/20(TO000068)
316 |HK07198 |PC board-RS P-DGMFILT14(TO000062) SM1,SM2
317 |HC00855 [connector-RS 25490 2*2P (gold-plated) 6/14.4/19.5 J1,J2
318 |AC00179 |tin without lead-RS M705E Sn 3Ag-0.5Cu
319 [NI00218  |cable tie ALT-102SB
320 |CN00179 |common inductance-RS 25.344uH+15%/T130-2(TO000062)
321 |HB02094 |PCB-RS DGMFILT14_VER060411
322 [NE16887 [lable-RS POWERMOD_V1.0
323 |NI00015  |membrane 0.04*1M
324 INH00013 |bond paper 0.045*1M
325 |HK07158 |PC board P-DGM500-1000/CNTRL17-DIP
326 |SC00319 [crystal oscillator 12.288MHZ Y1
327 |HK07274 |Photodiode P-photosensitive resistance+¢3lled D5,D105
328 |[RH00020 [photosensitive resistance VT90N1
329 |SA00305 |[L.E.D-RS @3 circle red high intensity D5,0105
330 [NI02405 |sleeve ¢5*15mm GU1,GU2
331 [NI00258  |sleeve ¢5*1000mm
332 |AC00179 |tin without lead-RS M705E Sn 3Ag-0.5Cu
333 |HK07159 |PC board P-DGM500-1000/CNTRL17-SMD
334 |SG00045 [SMD integrated circuit BU4081BF(SOT73)/(PHI) u6/B




No. |Part No. |Description Specification Remark

335 |SF00030 |SMD transistor-RS-ACT BC817(SOT23)/(PHI) Q1,Q2/B

336 |RD00298 |SMD precise resistor 1/10W 47.0Q £1% 0603 R17,R19,R22,R34,R41,R87,R117,R119,R134,R141,R187

337 |RD00201 [SMD precise resistor 1/10W 1.50KQ +1% 0603 R6,R13,R65,R113,R165

338 |RD00292 |SMD precise resistor 1/10W 1.00MQ +1% 0603 R10,R60,R98,R99,R100,R110,R200,R209,R210

339 |SG00001 [SMD integrated circuit TLO74CDT(SO14)/(ST) U3/B,U103/B

340 |SE00025 [SMD diode 0.45A/85V BAV99 D6,07,0106,D107

341 |SE00027 [SMD diode 0.45A/85V BAW56 D1,02,03,0101,D102

342 |SE00026 [SMD diode 0.45A/85V BAVT70 D110,0111,04,011,09,010,0109

343 |RD00320 [SMD precise resistor 1/4W 12.0KQ +1% 1206 R74/B,R85/B,R174/B,R185/B

344 |IRD00341 |SMD precise resistor 1/10W 4.70KQ £1% 0603 R28,R45,R90,R128,R145,R1002

345 |RD00322 |SMD precise resistor 1/10W 2.70KQ +1% 0603 R7,R8,R16,R75,R79,R80,R83R107.R108 R116,R175,R17
9,R180,R183

346 |RD00339 |SMD precise resistor 1/10W 47.0KQ +1% 0603 R4,R31,R33,R43,R104,R131,R133,R143

347 |RD00342 |SMD precise resistor 1/10W 1.50MQ £1% 0603 R38,R138

348 |[RD00332 |SMD precise resistor 1/10W 680Q £1% 0603 R68,R168
R1,R5,R14,R24,R29,R30,R32,R39,R47,R48,R49,R50,R51,
R52,R53,R54,R55,R56,R57,R69,R114,R129,R130,R132,R

349 |RD00214 |SMD precise resistor 1/10W 10.0KQ +1% 0603 139,R147,R148,R149,R150,R151,R152,R153,R154,R155,
R156,R157,R169,R201,R202,R219,R301,R302,R319,R100
1,R1003

350 |RD00218 |SMD precise resistor 1/10W 15.0KQ +1% 0603 R9,R12,R86,R109,R112,R186

351 |RD00224 |SMD precise resistor 1/10W 100KQ +1% 0603 R35,R58,R59,R135,R158,R159,R208,R308

352 |RD00506 |SMD precise resistor 1/10W 3.30KQ £1% 0603 R23,R27,R36,R81,R82,R136,R181,R182

353 |RD00509 |SMD fixed resistor 1/10W 24KQ £5% 0603 R25

354 |RD00399 [SMD precise resistor 1/4W 10.0KQ +1% 1206 R215/B,R216/B,R315/B,R316/B

. ) R2,R21,R44,R61,R62,R63,R64,R66,R67,R92,R93,R95,R1

355 |RD00282 |SMD precise resistor 1/10W 1.00KQ +1% 0603 02,R144 R161 R162,R163,R164 R166,R167

356 |RD00390 |SMD precise resistor 1/10W 10.0MQ £1% 0603 R96,R97

357 |[RD00392 |SMD precise resistor 1/10W 2.20KQ £1% 0603 R15,R26,R46,R78,R115,R146,R178

358 |RD00105 |SMD fixed resistor 1/10W 22KQ +5% 0603 R94

359 |RD00129 [SMD fixed resistor 1/4W 0.0Q +5% 1206 C34,C134

360 |RD00525 |SMD precise resistor 1/10W 33.0KQ £1% 0603 R42,R142

361 |RD00301 |SMD precise resistor 1/10W 12.1KQ +1% 0603 R11,R111

362 |Cl00125 |SMD ceramic capacitor 1210 10uF/16V Y5V-1210(3225) C16,C31,C40,C116,C131

363 |CI00105 |SMD ceramic capacitor 1206 0.0022uF/50V NPO £5% C30,C130
C6/B,C2,C4,C9,C11/B,C14,C17/B,C19/B,C20/B,C21/B,C24

364 |Cl00185 |SMD ceramic capacitor 0603 0.1uF/50V X7R+10%(C1608X7R1H104KT)/TDK|/B,C25/B,C27/B,C39,C49,C102,C104,C106/B,C117/B,C119
/B,C120/B,C121/B,C124/B,C125/B,C127/B

365 |Cl00053 |SMD ceramic capacitor 0603 33PF/50V C0G+5%(C1608C0G1H330JT)/TDK |C10,C12

366 |Cl00083 [SMD ceramic capacitor 0603 3 9PF/50VC0G+0 25PF(C1608COG1H3RICT)TDK |C23,C123

367 |Cl00084 |SMD ceramic capacitor 0603 4.7PF/50VC0G0 25PF(C1608C0G1H4R7CT)TDK |C52/B

368 [Cl00201  |SMD ceramic capacitor 0603 0.01uF/50V £10%(C1608X7R1H103KT)/TDK  |C15,C41,C42,C43

369 |Cl00224 |SMD ceramic capacitor 0603 470PF/50V COG +5%(C1608C0G1H471JT)/TDK]C22,C26,C36,C37,C122,C126,C136,C137

370 |Cl00234  |SMD ceramic capacitor 0603 0.0033uF/50VC0G+5%(C1608C0G1H332JT)/TDK [C13

371 |CI00220  |SMD ceramic capacitor 0603 220PF/50V COG +5%(C1608C0G1H221JT)/TDK|C1,C33,C133

372 |Cl00216  |SMD ceramic capacitor 0603 82PF/50V COG +5%(C1608C0G1H820JT)/TDK |C7,C8,C107,C108

373 |Cl00228  |SMD ceramic capacitor 0603 0.001uF/50V C0G+5%(C1608C0G1H102JT)/TDK |[C5,C28,C105,C128

374 |Cl00222  |SMD ceramic capacitor 0603 330PF/50V COG +5%(C1608C0G1H331JT)/TDK|C3,C32,C103,C132

375 |SE00077 |SMD L.E.D-RS red KPTC-2012EC D119,D19

376 |SE00078 [SMD L.E.D-RS green KPTC-2012SGC D16,017,018

377 |HB01991 [PCB-RS DGMCNTRL17_VER060411 Cs1

378 |RD00592 [SMD precise resistor-RS 1/10W |10.0KQ +0.1% 0603 R72,R73,R88,R89,R172,R173,R188,R189

379 |RD00590 |[SMD precise resistor-RS 1/10W |1.50KQ +0.1% 0603 R76,R77,R176,R177

380 |RD00591 [SMD precise resistor-RS 1/10W |82.0KQ +0.1% 0603 R70,R71,R170,R171

381 |AE00449 [solder material without lead 9308/Sn Ag Cu

382 |SE00090 [SMD zener diode-RS 1/2W 6.8V(MMSZ5235B)(SOD-123)/(PANJIT)  |D112,D114,012,D14




No. |Part No. |Description Specification Remark
383 |SG00496 |SMD integrated circuit-RS LF412CDR(SO8)/(Tl) U4/B,U104/B
384 |CO00137 [SMD inductance-RS 1.0mH +£5%(NL453232T-102J)/(TDK) L1,L101
385 |SG00502 [SMD integrated circuit-RS NE5532DR(S08)/(Tl) U1/B,U2/B,U101/B,U102/B
386 |SG00504 [SMD integrated circuit-RS-C ATmega8-16AU(TQFP32)/(ATMEL) us/B
387 |SG00509 |SMD integrated circuit-RS HEF4069UBT(SO14)/(PHI) U5/B,U105/B
388 |Cl00278  |SMD ceramic capacitor-RS 1206 {0.0018uF/50V NPO +5% C29,C129
389 [NE16833 [lable-RS DIGIMOD1000_V1.0
390 [NI00017  |membrane 0.055*1M
391 INH00035 [bond paper 0.06*1M
392 INE16889 |lable-RS DIGIMOD1000_V1.0
393 [NI00017  [membrane 0.055*1M
394 [NH00035 |bond paper 0.06*1M
395 [NE16886 |lable-RS DIGIMOD1000_V1.0
396 [NI00034 |membrane 0.045*1M
397 [NH00014 |bond paper 0.05*1M white
398 |HK07692 [PC board P-APM120 MONO-DIP
399 |[RC00366 [potentiometer C500KQRD12L123A43D-500K15C*2(SAS1)30F-C |VR5,VR15,VR26,VR37
400 |[RC00358 [potentiometer B50KQ-RD0O9F113A223-50K2BT(SAS1);30F-C VR2,VR3,VR4,VR13,VR14,VR16,VR24,VR25,VR27, VR3S,
VR36,VR38
401 |RC00465 |potentiometer B5KQ RDO9F113A225-5K2BT(SAS1);30F-C [VR7,VR18,VR29,VR40
402 |SB00062 |transistor-RS-ACT BC337-25(T092)/(PHI) Q1
403 |[RC00284 |slide potentiometer D10KQ RF6011YP600F-10KD(SAS1) VR6,VR17,VR28,VR39
404 |SA00071 |[L.E.D 3 green LVG2340/A LD11,LD13,LD15,LD17
405 [HC00125 [MIC jack-RS JY-6351G-02-250 X5,X6,X7,X8,X9,X10,X11,X12
406 |RC00356 |potentiometer Z10KQ RDO9F1130042-10KZ(SAS1);30F  |VR1,VR12,VR23,VR34
. SW1,5W2,SW3,SW4,SW5,SW6,SW7,SW8,SW9,SW10,5W11,
407 |HI00236 |push-button switch-RS 2 6P PS-92 26A(SELF-LOCK) SW12,5W13.5W14.SW15. SW16. SW17 SW18. SW19,SW20
408 |SA00053 |L.E.D @3 round(red)long foot 26mm LD5,LD6,LD7,LD8,LD9
409 |[HC00126 [balance MIC jack-RS JY-5042-030G female plug 180 X1,X2,X3,X4
410 |HI00380 [slide switch-RS 2stage 3P 12mm SBA-12-12 SW33
) VR8,VR9,VR10,VR11,VR19,VR20,VR21,VR22,VR30,VR31
411 |RC00359 |potentiometer W50KQ RDO9F113A224-50K4BT(SAS1);30F-C \VR32,VR33.VR41,VR42,VR43 VRA4
412 |SA00054 [L.E.D 3m/m round(yellow)long foot 26 LD1,LD2,LD3,LD4
413 |SA00073 |[L.ED @3 yellow LVY2340/A LD10,LD12,LD14,LD16
414 NI02384  [LED spacer support LEDS-4 4mm
415 [NI01773  |LED spacer support LEDS-13
416 |NI04453  |LED spacer support-RS LEDS-21 21mm LD9
417 |HC00982 [connector-RS 2.0mm 180 2*10P 4/9.4 CN2
418 |HC00984 [connector-RS 2.0mm 180 2*2P 4/9.4 CN1
419 |HC00983 [connector-RS 2.0mm 180 2*4P 4/9.4 CN3
420 |AC00179 |tin without lead-RS M705E Sn 3Ag-0.5Cu
421 |HK07693 [PC board P-APM120 MONO-SMD
C125,C126,C127,C128,C129,C130,C131,C132,C133,C134
422 |CI00075 |SMD ceramic capacitor 0603 0.1uF/50V Y5V +80,-20% ,C135,C136,C137,C138,C139,C140,C141,C142,C143,C14
4,C145,C146,C147,C148,C149,C150,C151,C152
423 |RD00214 |SMD precise resistor 1/10W 10.0KQ +1% 0603 E;L’ZRS?’R63’R64’RGS‘RGG’R67’R68’R126’R127’R128’R1
424 |RD00334 |SMD precise resistor 1/10W 11.0KQ +£1% 0603 R25,R26,R27,R28,R29,R30,R31,R32
425 |[RD00102 |SMD fixed resistor 1/10W 12KQ +5% 0603 R219,R221,R223,R225
426 |RD00218 |SMD precise resistor 1/10W 15.0KQ +1% 0603 R218,R220,R222,R224
. ) R145,R146,R148,R149,R158,R160,R161,R162,R171,R172
427 |RD00293 |SMD precise resistor 1/10W 17.4KQ +1% 0603 R173.R174.R184,R185 R186,R187
428 |RD00351 |SMD fixed resistor 1/10W 1.3KQ +5% 0603 R73,R74,R75,R76
429 |RD00201 |SMD precise resistor 1/10W 1.50KQ +1% 0603 R106,R107,R108,R109,R110,R111,R112,R113
430 |[RD00125 |SMD fixed resistor 1/10W 1.0MQ +5% 0603 R130,R131,R132,R133




No. |Part No. |Description Specification Remark
431 |RD00219 |SMD precise resistor 1/10W 20.0KQ £1% 0603 5?1552’%3’%4’R85’R86’R87’R88’R89’R141’R142’R14
432 |RD00105 |SMD fixed resistor 1/10W 22KQ +5% 0603 R90,R91,R92,R93
C37,C38,C39,C40,C41,C42,C43,C44,C45,C46,C47,C48,C
433 |Cl00266 [SMD ceramic capacitor-RS 0603 |22PF/50V NPO +5% 49,C50,C51,C52,C53,C54,C55,C56,C109,C110,C111,C11
2,C113,C114,C115,C116
434 |RD00106 |SMD fixed resistor 1/10W 27KQ +5% 0603 R139,R140,R152,R153,R165,R166,R178,R179
435 |RD00265 |SMD fixed resistor 1/10W 27Q +5% 0603 R41,R42,R43,R44
436 |RD00089 |SMD fixed resistor 1/10W 2.7KQ +5% 0603 R226,R227,R228,R229,R230,R231,R232,R233
) TR1,TR2,TR3,TR4,TR5,TR6,TR7,TR8,TR9,TR10,TR11,TR
437 |SF00056 |transistor MMBT3904(SOT23)/(PHI) 12.TR13.TR14TR15,TR16
438 |RD00406 |SMD precise resistor 1/10W 3.60KQ £1% 0603 R33,R34,R35,R36,R37,R38,R39,R40
439 |RD00092 |SMD fixed resistor 1/10W 3.9KQ +5% 0603 R122,R123,R124,R125
440 |SE00011 [SMD rectifier diode RLS4148 0.5A (LL-34) D1,02,03,04,05,06,07,08,09,010,011,012,013,D14.D15
,D16,017,D018
441 |SG00558 |integrated circuit-RS 4580M(SOP8)/(YW) U1,U2,U3,U4,U5,U6,U7,U8,U9,U10,U11,U12,U13,U14
442 |CI00063 |SMD ceramic capacitor 0603 470PF/50V NPO +5% C1,C2,C3,C4,C5,C6,C7,C8,C9,C10,C11,C12
443 |RD00339 |SMD precise resistor 1/10W 47.0KQ +1% 0603 R210,R211,R212,R213
444 |Cl00268 [SMD ceramic capacitor-RS 0603 |47PF/50V NPO +5% C29,C30,C31,C32
445 |RD00298 |SMD precise resistor 1/10W 47.0Q £1% 0603 R1,R2,R3,R4,R5,R6,R7,R8
446 |RD00371 |SMD precise resistor 1/10W 51.1KQ £1% 0603 R9,R10,R11,R12,R13,R14,R15,R16
, R150,R151,R163,R164,R175,R176,R188,R189,R206,R207
447 |RD00094 |SMD fixed resistor 1/10W 5.1KQ +5% 0603 'R208,R209,R214,R215,R216 R217
' ) R45,R46,R47,R48,R49,R50,R51,R52,R53,R54,R55,R56,R
448 |RD00210 |SMD precise resistor 1/10W 5.11KQ £1% 0603 57 R58,R59.R60
449 |RD00095 |SMD fixed resistor 1/10W 5.6KQ +5% 0603 R114,R115,R116,R117,R118,R119,R120,R121
450 |RD00113 |SMD fixed resistor 1/10W 62KQ +5% 0603 R69,R70,R71,R72
451 |RD00539 |[SMD precise resistor 1/10W 68.0KQ +1% 0603 R94,R95,R96,R97
R77,R78,R79,R80,R134,R135,R136,R137,R138,R147,R15
452 |RD00097 |SMD fixed resistor 1/10W 6.8KQ +5% 0603 9,R177,R190,R191,R192,R193,R194,R195,R196,R197,R9
8,R99,R100,R101,R102,R103,R104,R105
453 |AE00449 [solder material without lead 9308/Sn Ag Cu
454 |HK07694 |[PC board P-APM120 MONO-AI
455 |HB02185 |[PCB-RS APM120 MONO_REV1.20_VER061103
456 |CB00238 |electrolytic capacitor 0.22uF/50V 5*11mm C57,C58,C59,C60,C61,C62,C63,C64,C65,C66,C67,C68
457 |CB00255 |electrolytic capacitor 1000uF/10V @8*11mm 5mm C33,C34,C35,C36
458 |RA01112 |fixed resistor 1/4W 100Q R235
459 |CB00051 [electrolytic capacitor 100uF/63V ¢10*12mm C153
460 |RA01115 |fixed resistor 1/4W 20KQ R440
461 |CB00242 |electrolytic capacitor 22uF/35V @5*11mm C13,C14,C15,C16,C17,C18,C19,C20
462 |CC00067 [mylar capacitor 0.0027uF/100V 10% C121,C122,C123,C124
463 |CC00059 [mylar capacitor 0.033uF/100V 3% C93,C94,C95,C96,C97,C98,C99,C100
' . . €69,C70,C71,C72,C73,C74,C75,C76,C77,C78,C79,C80,C
464 |CB00194 |electrolytic capacitor 47uF/25V @5*11mm 81,082,C83,C84,C85,C86,C87,C88,089,090,091,092
465 |CB00334 [electrolytic capacitor-RS 47uF/50V ¢6.3*11mm C21,C22,C23,C24,C25,C26,C27,C28
466 |CC00077 [mylar capacitor 0.0047uF/100V 3% C117,C118,C119,C120
467 |RA01262 |precise resistor 1/4W 6.81KQ R17,R18,R19,R20,R21,R22,R23,R24
468 |CC00079 |mylar capacitor 0.0068uF/100V 3% C101,C102,C103,C104,C105,C106,C107,C108
J1,J2,43,44,5,46,J7,48,J9,J10,J11,J12,J13,J14,J15,J16,J1
7,J18,419,J20,J21,J22,J23,J24,J25,J26,J27,J28,J29,J30,J3
1,J32,J33,J34,J35,J36,J37,J38,J39,J40,J41,J42,J43,J44 J4
469 |HA01919 [jump 5mm 5,J46,J47,J48,J49,J50,J51,J52,J53,J54,J55,456,J57,J58,J5

9,J60,J61,J62,J63,J64,J65,J66,J67,J68,J69,J70,J71,J72,J7
3,J74,J75,J76,J77,J78,J79,J80,J81,J83,J84,J85,J86,J87,J8
8,J89,J90,J91,J92,J93,J94,J95,J96,J97,J98,J99,J100,J101,
J143,J218,J219




No. |Part No. |Description Specification Remark
470 |HA02249 |wire ¢0.6
. J196,J201,J202,J203,J204,J205,206,J207,J208,J209,J21
471 |HA01930fjump 1mm 0,J211,J212,0213,J214,J215,0216,J217,4222,0223
472 |HA02249 |wire ¢0.6
. J138,J162,J176,4189,J190,J191,4192,J193,194,4197 J19
473 |HA01935 |jump 12.5mm 8.199.J200
474 |HA02249 |wire ¢0.6
J149,J150,J151,0152,153,J154,J155,J156,J157,J158,J15
, 9,J160,J161,J164,J166,J167,J168,J169,J170,J171,J172,J1
475 |HA01925 - [jump 10mm 73,J174,0175, 177,178,0179,0180,181,J182,J183,J184,J
185,J186,J187,J188,J220,J221
476 |HA02249 |wire ¢0.6
J82,J102,J103,J104,J105,J106,J107,J108,J109,J110,J111,
J112,113,J114,0115,J116,J117,J118,J119,J120,J121,412
477 |HA02441 |[jump 7.5mm 2,J123,J124,J125,J126,J127,J128,J129,J130,J131,J132,J1
33,J134,J135,J136,J137,J139,4140,J141,J142,4144,J145,J
146,J147,J148,J163,J165,J195
478 |HA02249 |wire ¢0.6
479 |HK07695 |PC board P-APM120 STEREO-DIP
480 |CC00041 [mylar capacitor 0.12uF/100V 10% C251,C252
481 |HK04376 |PC board P-12VMETER-DIP(AMX-220) CN7,CN8
482 |HC00698 |connector 2.090 17P(gold-pated)2.5/9.5mm 2mm CN6
483 |HK04377 |PC board P-12VMETER-SMD(AMX-220)
484 |HB01285 |PCB 12VMETER(2*5)_VER040611
485 |RD00069 |SMD fixed resistor 1/10W 120Q +5% 0603 R2
486 |[RD00076 |[SMD fixed resistor 1/10W 330Q £5% 0603 R4,R6
487 |IRD00078 |[SMD fixed resistor 1/10W 470Q +5% 0603 R3,R5,R7
488 |RD00347 |SMD fixed resistor 1/10W 510Q £5% 0603 R8
489 |RD00348 [SMD fixed resistor 1/10W 620Q +5% 0603 R9
490 |RD00351 |[SMD fixed resistor 1/10W 1.3KQ £5% 0603 R10
491 |RD00087 |SMD fixed resistor 1/10W 2.0KQ +5% 0603 R11
492 |RD00101 |SMD fixed resistor 1/10W 10KQ +5% 0603 R12
493 |RD00115 |SMD fixed resistor 1/10W 82KQ £5% 0603 R13
494 1Cl00075 |SMD ceramic capacitor 0603 0.1uF/50V Y5V +80,-20% C1,C2
495 |SG00210 |[SMD integrated circuit LM339DT/(ST) U1,U2,u3
496 |AE00449 [solder material without lead 9308/Sn Ag Cu
497 |RD00346 |SMD fixed resistor 1/10W 56Q +5% 0603 R1
498 |AC00179 [tin without lead-RS M705E Sn 3Ag-0.5Cu
) X1,X2,X3,X4,X5,X6,X7,X8,X9,X10,X12,X13,X14,X15,X16,X
499 [HC00125 [MIC jack-RS JY-6351G-02-250 17 X18,X21.X22.X23,X24 X25.X28
500 |[RC00626 [potentiometer-RS B100KQ RD12L12C0217-100K3B*2(SAS);15F |VR87
501 |[RC00360 [potentiometer B50KQ RD12L12CA23A-50K3BT*2(SAS1);30F-JVR51,VR52,VR53,VR54,VR62,VR63,VR64,VR65
502 |[RC00465 [potentiometer B5KQ RDO9F113A225-5K2BT(SAS1);30F-C [VR56,VR67
503 |SD00007 |integrated circuit BA15218N(M5218L)(SIP8)/(ROHM) U47,U48
504 |SB00062 |transistor-RS-ACT BC337-25(T092)/(PHI) Q1
505 [HC00253 |connector(male) 2P 2.0mm 180 CN9,CN10
506 |HC00070 [connector(male) 6P 2.5mm 90 CN4
507 |RC00285 |slide potentiometer-dual unit D10KQ RF60112P600G-10KD*2(SAS1) VR55,VR66,VR86,VRI3
508 |[RC00284 |[slide potentiometer D10KQ RF6011YP600F-10KD(SAS1) VR88,VR89,VR90,VR91
LD23,LD25,.D26,.D27,.D28,.D29,L.D30,LD31,LD32,LD33
509 [SA00052 |L.E.D @3 round(green)long foot 26 ,VLD34,.D35,LD36,L.D37,LD38,LD39,LD40,LD41,LD42,LD
43,.D44
LD6,LD8,LD9,LD10,LD11,LD12,LD13,LD14,LD15,LD16,LD
510 |SA00071 |L.E.D 3 green LVG2340/A 17 LD18.LD19
511 |[HC00887 [connector(male)-RS 10P 2.0mm 180 (A2004WV-2*10P) CN2
512 [HC00932 [connector(male)-RS 4P 2.0mm 180 (A2004WV-2*4P) CN3,CN6




No. |Part No. |Description Specification Remark
513 |HC00473 |connector-RS-ACT 2.45mm 180 2*8P B25-2*8BG1(B)H=5mm [CN1
514 |HI00236  |push-button switch-RS 2 6P PS-92 26A(SELF-LOCK) SW27,SW28,SW31,SW32,SW41,SW44,SW45,SW46
515 |HI00238 |push-button switch-RS 2 6P PS-92 26A(NON-LOCK) SW11
. SW25,SW26,SW29,SW30,SW33,SW34,SW35,SW36,SW3
516 |HI00237  |push-button switch-RS 2 12P PS-13422 R(SELF-LOCK) 8.SW39,SW47.5W37
517 |SA00053 |[L.E.D @3 round(red)long foot 26mm LD3,LD4,LD20,LD21,LD22
518 [HI00161 |relay RY-5W-K,5V RL1
519 |HC00403 |RCA jack SCP6873NS3232T2 4P X1
520 |HI00195 |rotary switch SDB161PVB15.5F-1-4-16-16PC EN1,EN2
521 |HI00379 |slide switch-RS 2stage 6P 6mm SKA-22-06B SW43
522 [HI00381 [slide switch-RS 3stage 8P 6mm SKA-23-06B SW42
523 |HI00384 |slide switch-RS 2stage 3P 4mm SBA-12CN-04RB SW40
524 |RC00625 |slide potentiometer-RS W100KQ RF30H12KD107-100K(4B)*2(SAS) |VR97,VR98,VR99,VR100,VR101,VR102,VR103,VR104,VR105
VR57,VR58,VR59,VR60,VR68,VR69,VR70,VR71,VR72,VR
525 |[RC00359 |potentiometer W50KQ RDO9F113A224-50K4BT(SAS1);30F-C |73,VR74,VR76,VR77,VR78,VR80,VR81,VR82,VR94,VR95,
VR96
526 |RC00361 |potentiometer W50KQ RD12L12CAB0B-50K4BT*2(SAS1);30F-C [VR50,VR61,VR75,VR79,VR83,VR84,VR85,VR92
527 |SA00054 |L.ED 3m/m round(yellow)long foot 26 LD1,LD2,LD24,.D46,LD47
528 |SA00073 |L.ED 03 yellow LVY2340/A LD5,LD7
529 |HK07637 |PC board P-DSP-PRE-DIP(APM120) CN5
530 |HC00697 |connector 2.090 16P(gold-pated)2.5/9.5mm 2mm CN1
531 |AC00179 |tin without lead-RS M705E Sn 3Ag-0.5Cu
532 |HK07638 |PC board P-DSP-PRE-SMD(APM120)
533 |HB01916 |PCB-RS DSP-PRE_VER051020
534 |SG00306 |SMD integrated circuit LM393DR(TI)/(MEXICO) u47
535 |SG00469 |SMD integrated circuit-RS SN74HC109DR(SO16)/(TI) U48
536 |SG00068 |SMD integrated circuit 74HC14DT(SO14)/(PHI) u49
537 |SF00056 |transistor MMBT3904(SOT23)/(PHI) TR17
538 |RD00068 |SMD fixed resistor 1/10W 100Q +5% 0603 R420,R421
539 |SE00007 |SMD rectifier diode RB400D(D3A) D10
540 |SE00009 |SMD rectifier diode DAN202K/T-146 D16
541 |SE00028 |SMD rectifier diode-RS-ACT BAS316,115 D7,D15
542 |1SG00122 |SMD integrated circuit-RS-ACT  |[NJM4580M-TE3(SOP8)/(JRC) U44,U45,U46
543 |[RD00059 |SMD fixed resistor 1/10W 0.0Q +5% 0603 R1
544 |RD00073 |SMD fixed resistor 1/10W 220Q +5% 0603 R426
545 |RD00083 |SMD fixed resistor 1/10W 1.0KQ +5% 0603 R418
546 |[RD00099 |SMD fixed resistor 1/10W 8.2KQ +5% 0603 R422,R423
. R397,R398,R399,R400,R401,R402,R403,R404,R405,R406
547 |[RD00101 |SMD fixed resistor 1/10W 10KQ 5% 0603 'R407.RA08.R410.RA11 RA12,R413,RA14
548 |RD00093 |SMD fixed resistor 1/10W 4.7KQ 5% 0603 R416
549 |[RD00098 |SMD fixed resistor 1/10W 7.5KQ 5% 0603 R419
550 |RD00111 |SMD fixed resistor 1/10W 47KQ +5% 0603 R415
551 |[RD00088 |SMD fixed resistor 1/10W 2.2KQ +5% 0603 R424
552 |RD00125 |SMD fixed resistor 1/10W 1.0MQ +5% 0603 R417
553 |[RD00124 |SMD fixed resistor 1/10W 820KQ 5% 0603 R431
554 |RD00126 |SMD fixed resistor 1/10W 2.2MQ £5% 0603 R425
555 |CI00129  |SMD ceramic capacitor 0603 0.0015uF/50V X7R £10% C345,C346,C347
556 |CL00002 |[SMD tantalum capacitor-RS-ACT [1.0uF/16V case A C352,C353
557 |CI00053 |SMD ceramic capacitor 0603 33PF/50V C0G+5%(C1608COG1H330JT)/TDK |C348,C349
558 |CL00006 |[SMD tantalum capacitor-RS-ACT |10uF/16V case B2 C350,C351
559 |CI00051 |SMD ceramic capacitor 0603 22PF/50V C0G+5%(C1608C0G1H220JT)/TDK |C329,C330,C331,C332
560 |CI00075 |SMD ceramic capacitor 0603 0.1uF/50V Y5V +80,-20% C333,C334,C336,C337,C338,C339,C340,C341
561 |SE00085 |SMD zener diode-RS 1/2W 2.4V ZMM55-C2V4 ZD1,2D2
562 |AE00449 |[solder material without lead 9308/Sn Ag Cu
563 |SG00243 |SMD integrated circuit NE555DR(SO8)/(Tl) U43
564 [NI02384  [LED spacer support LEDS-4 4mm




No. |Part No. |Description Specification Remark

565 [NI01773  [LED spacer support LEDS-13

566 |HA04363 [wire-RS 2P-2P 300mm UL1007 26AWG red/white

567 |HA00829 [wire-RS 304mm brown L3R3

568 |HA00010 [wire-RS 150mm black L5R5

569 |AC00179 [tin without lead-RS M705E Sn 3Ag-0.5Cu

570 |HK07696 |PC board P-APM120 STEREO-SMD

571 |RD00129 [SMD fixed resistor 1/4W 0.0Q +5% 1206 R488

572 |RD00059 |SMD fixed resistor 1/10W 0.0Q +5% 0603 R466,R467

573 |RD00224 |SMD precise resistor 1/10W 100KQ +1% 0603 R464,R465

574 |CI00059 |SMD ceramic capacitor 0603 100PF/50V NPO +5% C€232,C233
C169,C170,C171,C172,C173,C174,C175,C176,C177,C178
,C179,C180,C181,C182,C183,C184,C185,C186,C187,C18
8,C189,C190,C191,C192,C193,C194,C195,C196,C197,C1

575 |CI00075 |SMD ceramic capacitor 0603 0.1uF/50V Y5V +80,-20% 98,C199,C200,C201,C202,C203,C204,C205,C206,C207,C
208,C209,C210,C211,C212,C213,C214,C215,C216,C217,
C218,C219,C220,C221,C222,C225,C226,C227,C228,C230
,C231,C288,C289,C291,C292,C293,C294,C229
R87,R88,R89,R90,R91,R92,R93,R94,R95,R96,R97,RI8,R
99,R100,R101,R102,R103,R104,R105,R106,R107,R108,R
109,R110,R111,R112,R113,R114,R115,R116,R117,R118,
R119,R120,R121,R122,R123,R124,R125,R126,R127,R128
,R129,R130,R131,R132,R133,R134,R135,R136,R137,R13
8,R139,R140,R142,R143,R144,R146,R147,R148,R149,R1

576 |RD00214 |SMD precise resistor 1/10W 10.0KQ +1% 0603 50,R151,R152,R153,R154,R155,R233,R234,R304,R305,R
329,R355,R356,R376,R388,R389,R455,R484,R485,R486,
R487,R1,R2,R3,R4,R5,R6,R7,R8,R9,R10,R11,R12,R13,R1
4,R15,R16,R17,R18,R19,R20,R21,R22,R23,R24,R25,R26,
R27,R28,R29,R30,R31,R32,R33,R34,R35,R36,R37,R38,R
39,R40,R308,R314,R331,R336,R368,R369,R382,R383,R3
86,R387,R390,R391,R475,R476,R477,R4T8

577 |RD00275 |SMD precise resistor 1/10W 110Q +£1% 0603 R444 R445

578 |[RD00334 |SMD precise resistor 1/10W 11.0KQ +1% 0603 R501,R502

. R342,R343,R344,R345,R346,R347,R348,R349,R350,R351

579 |RD00069 |SMD fixed resistor 1/10W 120Q +5% 0603 'R352,R357 R358,R350,R360,R363 R364 R365

580 |RD00007 [SMD fixed resistor 1/8W 120Q £5% 0805 R361,R362,R366,R367

581 |RD00102 |SMD fixed resistor 1/10W 12KQ +5% 0603 R206,R207,R208,R209,R223,R224,R227,R228

582 |RD00118 |SMD fixed resistor 1/10W 150KQ +5% 0603 R446,R447

583 |RD00218 |SMD precise resistor 1/10W 15.0KQ +1% 0603 R221,R222,R225,R226,R472,R473,R474,R511

584 |RD00276 |SMD precise resistor 1/10W 169Q +1% 0603 R434,R435
R273,R274,R275,R276,R277,R278,R279,R280,R281,R282
,R283,R284,R285,R286,R287,R288,R289,R290,R291,R29

585 |RD00293 |SMD precise resistor 1/10W 17.4KQ +1% 0603 2,R296,R297,R298,R299,R300,R301,R302,R303,R306,R3
07,R309,R310,R317,R318,R334,R335,R337,R338,R339,R
377

586 |RD00104 |SMD fixed resistor 1/10W 18KQ +5% 0603 R503,R504,R505,R506

587 |RD00062 |SMD fixed resistor 1/10W 18Q 5% 0603 R438,R439,R440,R441,R442,R443

588 |RD00420 |[SMD precise resistor 1/10W 19.1KQ+1% 0602 R371,R373,R374

589 |RD00282 [SMD precise resistor 1/10W 1.00KQ +1% 0603 R319,R320

590 |RD00201 |[SMD precise resistor 1/10W 1.50KQ +1% 0603 R160,R161,R219,R220

. R162,R163,R164,R165,R166,R167,R168,R169,R170,R171

591 |RD00086 |SMD fixed resistor 1/10W 1.8KQ £5% 0603 RIT2.RIT3RIT4RITERIT6.R1TT

592 |RD00292 |SMD precise resistor 1/10W 1.00MQ £1% 0603 R198,R199,R200,R201,R202,R203,R204,R205

593 |RD00318 |SMD precise resistor 1/10W 200KQ +£1% 0603 R186,R187,R188,R189

594 |RD00277 |SMD precise resistor 1/10W 200Q +1% 0603 R428,R429,R430,R431,R432,R433




No. |Part No. |Description Specification Remark
R50,R60,R61,R62,R63,R64,R65,R66,R67,R68,R69,R70,R
! ) 71,R72,R73,R74,R75,R76,R77,R78,R79,R80,R81,R82,R83
595 |[RD00219 |SMD precise resistor 1/10W 20.0KQ £1% 0603 'R84,R85,R86,R141,R145,R239,R240,R241,R242.R246.R
247,R295,R353,R354,R384,R385,R452,R453
596 |RD00119 |SMD fixed resistor 1/10W 220KQ 5% 0603 R178,R179,R180,R181
597 |RD00073 |SMD fixed resistor 1/10W 220Q +5% 0603 R436,R437,R457,R458
598 |[RD00105 |[SMD fixed resistor 1/10W 22KQ £5% 0603 R156,R157,R182,R183,R184,R185,R468,R469,R470,R471
C41,C42,C43,C44,C45,C46,C47,C48,C49,C50,C51,C52,C
53,C54,C55,C56,C57,C58,C59,C60,C61,C62,C63,C64,C65
. . ,C66,C67,C68,C69,C70,C71,C72,C73,C74,C75,C76,C77,C
599 |Cl00266 [SMD ceramic capacitor-RS 0603 |22PF/50V NPO £5% 78,C79,C167,C168,C269,C284,0285,C21,022,C23,C24.C
25,C26,C27,C28,C29,C30,C31,C32,C33,C34,C35,C36,C37
,C38,C39,C40
600 |RD00063 |SMD fixed resistor 1/10W 220 +5% 0603 R497,R498
601 |[RD00074 |SMD fixed resistor 1/10W 270Q +5% 0603 R489,R490
602 |[RD00106 |[SMD fixed resistor 1/10W 27KQ £5% 0603 R41,R42,R43,R44,R45,R46,R47,R48,R237,R238,R244,R245
603 |RD00203 |SMD precise resistor 1/10W 2.00KQ +1% 0603 R481
604 |RD00089 |SMD fixed resistor 1/10W 2.7KQ +5% 0603 R49,R51,R52,R53,R54,R55,R56,R57
605 |[RD00268 |SMD fixed resistor 1/10W 300KQ 5% 0603 R248,R249
606 |Cl00062 |SMD ceramic capacitor 0603 330PF/50V NPO +5% C277,C278
607 |Cl00267 [SMD ceramic capacitor-RS 0603 |33PF/50V NPO +5% C295,C296,C297,C298,C299,C300,C301,C302
608 |RD00304 |SMD fixed resistor 1/10W 33Q 5% 0603 R499,R500
609 |[RD00407 |SMD precise resistor 1/10W 36.0KQ +1% 0603 R378,R379,R380,R381
610 |[SF00053 |transistor MMBT3906(SOT23)/(PHI) TR29,TR30,TR31
611 |SE00011 [SMD rectifier diode RLS4148 0.5A (LL-34) D2,03,08,09,010,D11,D12
612 |SE00016 |SMD zener diode 1/2W 5.1V(RLZ5.1B) LL-34 ZD4,7D5,7D6,2D7
U20,U21,U22,U23,U24,U25,U26,U27,U28,U29,U30,U31,U
613 |SG00558 |integrated circuit-RS 4580M(SOP8)/(YW) 32,U33,U34,U35,U36,U37,U38,U39,U40,U41,U42,U43,U44
,U45,U46,U49,U50,U57,U58,U59
614 |RD00078 |SMD fixed resistor 1/10W 470Q +5% 0603 R456
615 |[RD00339 |SMD precise resistor 1/10W 47.0KQ +1% 0603 R210,R211,R212,R213,R214,R215,R216
616 |RD00298 |SMD precise resistor 1/10W 47.0Q £1% 0603 R482,R483,R495,R496
617 |RD00223 |SMD precise resistor 1/10W 49.9KQ +1% 0603 R372
618 |RD00341 |SMD precise resistor 1/10W 4.70KQ +1% 0603 R448,R449,R450,R451
619 |RD00209 |SMD precise resistor 1/10W 4.99KQ +1% 0603 R370
620 |[RD00347 |SMD fixed resistor 1/10W 510Q +5% 0603 R462,R463
621 [RD00471 |SMD precise resistor 1/10W 56.2KQ £1% 0603 R322,R323,R324,R325,R326,R327,R332,R333,R340,R341
R229,R230,R231,R232,R235,R236,R243,R250,R251,R252
,R253,R254,R255,R256,R257,R258,R259,R260,R261,R26
622 |RD00094 |SMD fixed resistor 1/10W 5.1KQ +5% 0603 2,R263,R264,R265,R266,R267,R268,R269,R270,R271,R2
72,R293,R294,R311,R312,R313,R315,R316,R328,R330,R
375
623 |RD00297 |SMD precise resistor 1/10W 60.4Q +1% 0603 R491,R492,R493,R494
624 |Cl00064 |SMD ceramic capacitor 0603 680PF/50V NPO +5% C237,C238
625 |[RE00011  [SMD resistor networks 1/16W  [680Q*4 +5% 8P 0603 AR1,AR2
. R58,R59,R392,R393,R394,R395,R396,R397,R398,R399,R400,
626 |RD00114 |SMD fixed resistor 1/10W 68KQ +5% 0603 RA01,R402,R403,R404,RA05,RA06 RA0T RAOB,R409
627 |RD00394 |SMD precise resistor 1/10W 68.0Q +1% 0603 R507,R508,R509,R510
) R410,R411,R412,R413,R414,R415,R416,R417,R418,R419
628 |[RD00096 |SMD fixed resistor 1/10W 6.2KQ 5% 0603 R420,R421 R422. R423,RA24,RA25, RA26.RA2T
629 |RD00097 |SMD fixed resistor 1/10W 6.8KQ +5% 0603 R190,R191,R192,R193,R194,R195,R196,R197,R 158, R159
,R217,R218
630 |RD00328 |SMD precise resistor 1/10W 8.66KQ +1% 0603 R479,R480
. TR11,TR12,TR13,TR14,TR15,TR16,TR17,TR18,TR19,TR2
631 |SF00031 |SMD transistor-RS-ACT BC847B(SOT23)/(PHI) 0.TR21, TR22,TR23,TR24, TR25, TR26, TR27. TR28
632 |SE00008 |SMD rectifier diode DA204K/T-146 D1




No. |Part No. |Description Specification Remark

633 |AE00449 [solder material without lead 9308/Sn Ag Cu

634 |HK07697 [PC board P-APM120 STEREO-AI

635 |HB02186 |PCB-RS APM120 STEREO_REV 1.10_VER060828

636 |RA01112 [fixed resistor 1/4W 100Q R321

637 |CB00120 |electrolytic capacitor 100uF/16V 95*11mm C80,C81,C82,C83

638 |CC00060 |mylar capacitor 0.1uF/100V 3% (C245,C246,C247,C248

639 |CB00189 |electrolytic capacitor 1.0uF/50V @4*5mm C241,C242

640 |RA01260 |fixed resistor 1/4W 120Q R454,R459

641 |CC00075 |mylar capacitor 0.012uF/100V 3% C141,C142,C143,C145,C146,C148,C263,C264,C265,C266

642 |CC00076 [mylar capacitor 0.015uF/100V 3% C253,C254,C255,C256,C257,C258

643 |CF00238 [metallized polyester-RS 0.18uF/63V 5% CASEQ1 C249,C250

644 |CC00052 [mylar capacitor 0.001uF/100V 10% C151,C153

645 |CC00068 |mylar capacitor 0.027uF/100V 10% C261,C262

646 |CC00058 [mylar capacitor 0.0033uF/100V 3% C155,C156,C157,C159,C160,C161,C270,C271

647 |CB00268 |electrolytic capacitor 330uF/16V @8*11mm 5mm C279

648 |CC00063 |mylar capacitor-RS 0.0039uF/100V 10% C272,C273

649 |CB00018 [electrolytic capacitor 4.TuF/25V @4*7Tmm C274,C275,C276

650 |CC00078 |mylar capacitor 0.047uF/100V 3% C234,0235,C236,C290,C163,C164,C165,C166

651 |CB00246 |electrolytic capacitor 0.47uF/50V w4*7mm C243,C244
C223,C224,C84,C85,C86,C87,£88,C89,90,C91,C92,C93,
C94,C95,C96,C97,C98,C99,C100,C101,C102,C103,C104,
C105,C106,C107,C108,C109,C110,C111,C112,C113,C114

652 |CB00194 [electrolytic capacitor 47uF/25V ¢5*11mm ,C115,C116,C117,C118,C119,C120,C121,C122,C123,C12
4,C125,C126,C127,C128,C129,C130,C131,C132,C133,C1
34,C135,C136,C137,C138,C139,C140,C280,C281,C282,C
283,C286,C287,C303,C304,C305,C306

' . . C1,C2,C3,C4,C5,C6,C7,C8,C9,C10,C11,C12,C13,C14,C15

653 |CB00260 |electrolytic capacitor 47uF/35V @5*11mm 2.5mm C16,017.C18,019.C20

654 |CC00071 |mylar capacitor 0.068uF/100V 10% C259,C260

655 |CC00072 [mylar capacitor 0.0082uF/100V 10% C267,C268

656 |CB00238 |electrolytic capacitor 0.22uF/50V @5*11mm C149,C150,C239,C240

657 |CF00138 [metal-film capacitor MSC 0.012uF/63V 5% CASEO1 C144,C147

658 |SF00056 |transistor MMBT3904(SOT23)/(PHI) TR1,TR2,TR3,TR4,TR5,TR6,TR7,TR8,TR9,TR10

659 |CF00052 [metal-film capacitor 0.0033uF/63V 5% CASE01 C158,C162

660 |CF00001 |metal-film capacitor MSC 0.001uF/63V 5% CASEO1 C152,C154

661 |[HK07709 |PC board P-APM120SPEAK

662 |HB02230 [PCB-RS APM120SPEAK_VER060721

663 |HC00371 [MIC jack SCJ-0658-1-Y

664 |MJ00942 |[fixed bracket CS12/600_V1.3

665 [MJ00061 |iron board 1*2135*1220 20.45kg

666 |[HC00949 [speaker socket-RS-C LD4015

667 |HA04876 [wire-RS 4P 160*2/150*2mm UL1015 16AWG

668 |[AC00179 |tin without lead-RS M705E Sn 3Ag-0.5Cu

669 |HK07707 |PC board P-APM120-OUTPUT CN

670 |HC00945 |[terminal block-RS 2ESDCR-02P PH5.08mm JACKS5,JACK6

671 |HC00947 [terminal block-RS 2ESDCR-05P PH5.08mm JACK8,JACK9

672 |HC00077 |connector(male) 3P 2.5mm 180 CN1,CN4

673 |[HC00174 |connector(male) 4P 3.96mm 180 CN5

674 |HB02257 [PCB-RS DIGMOD OUTPUT-JK_VER061107

675 |AC00179 [tin without lead-RS M705E Sn 3Ag-0.5Cu

676 |NA00657 |cardboard-RS APM120 up_V1.0

677 |NA00656 |cardboard-RS APM120 down_V1.0

678 |HD00019 [glass tube fuse 4A 250V 95.2*20mm CSA/S/UL/IVDE

679 [NB05285 [carton-RS APM120 ALTO_V1.0

680 [NB05253 [carton-RS APM120 ALTO_V1.0

681 [HA05019 |wire-RS 2P/1P 160mm UL1007 24AWG




No. |Part No. |Description Specification Remark
682 [MG00645 |[copper nut M3*16*0.5PH_V1.0

683 |MI04055 |fixed bracket-RS APM120 1.5t*25.5*34*487.5 right_V1.0
684 |AE00055 |[solvent solvent

685 |AE00235 [paint-RS 5249

686 |MI04054 |fixed bracket-RS APM120 1.5t*25.5*34*487 .5 right_V1.0
687 |[MJ00069 |iron board 1.5*2135*1220 30.67kg

688 [NA00210 |PE bag 0.04t*200*430mm

689 |MI04053 |fixed bracket-RS APM120 1.5t25.5*34*487.5 left_V1.0
690 |AE00055 |solvent solvent

691 |AE00235 [paint-RS 5249

692 |MI04052 |fixed bracket-RS APM120 1.5t25.5*34*487.5 left_V1.0
693 |[MJ00069 |iron board 1.5*2135*1220 30.67kg




No. |Part No. |Description Specification Remark
1 |MA06242 |[panel-RS APM160 ALTO_V2.0

2 |MA06205 |[panel-RS APM160

3 |AE00055 |solvent solvent

4 |AE00235 [paint-RS 5249

5 |MA06204 |panel-RS APM160 1.2t*40*535*505_V1.2
6 |MJ00063 |iron board 1.2*2135*1220 24.54kg

7 |MB05007 [chassis-RS APM160_V1.3

8 |MB04976 |chassis-RS APM160

9 |AE00055 |[solvent solvent

10 |AE00235 |[paint-RS 5249

11 |MB04975 |chassis-RS APM160 1.0t*488.28*535%99.5_V/1.1
12 |ME00041 |[iron pillar hexagon6.35*M3*6

13 |ME00001 |screw pillar M4*10*0.7PH

14 |ME00048 |iron pillar hexagon6.35*M3*3.5

15 |MJ00058 |single light board 1*2135*1220 20.45kg

16 |MI03813 |side cover board-RS APM-120_V1.0

17 |AE00055 |solvent solvent

18 |AE00235 |[paint-RS 5249

19 |MI03812 |side cover board-RS APM-120 1t*129.57*505_V1.0
20 [MJ00058 |single light board 1*2135*1220 20.45kg

21 [MI03811 |side cover board-RS APM-120 1t*129.57*505 right_V/1.0
22 |AE00055 |solvent solvent

23 |AE00235 [paint-RS 5249

24 |MI03810 |side cover board-RS APM-120 1t*129.57*505_V1.0
25 |[MJ00058 |single light board 1*2135*1220 20.45kg

26 |MI03820 [barrier-RS APM160 0.8t*484.48*535*10_V/1.0
27 |MI03914 |separating shade-RS APM-120 0.8t*5*89.6*121.6_V1.0
28 [MJ00068 |iron board 0.8*2135*1220 16.35kg

29 [MJ00068 |iron board 0.8%2135*1220 16.35kg

30 [NI04460 [handle-RS APM-120 25.5*134.3*559_V1.0
31 [NI04461 [handle-RS APM-120 25.5*134.3*559_V1.0
32 |MI03815 [caushion-RS APM-120 1.5t*61.5*123*128_V1.0
33 [MJ00069 |iron board 1.5*2135*1220 30.67kg

34 INI04462 [handle cover-RS APM-120 12*58.47*134.3_V1.0
35 [NI04463 |handle cover-RS APM-120 12*58.47*134.3_V1.0
36 |HA00861 |power cord Europe 3P LT-312+LT-501

37 [NI04004 [knob ¢10*16.590 _V1.0

38 [NI01147  [knob cover-RS ¢7*3.5_V1.3

39 [NI02678  |knob cover ¢7*3.5 534C blue

40 [NI02692 |knob cover @7*3.5 black

41 |NI04601 |knob-RS ¢7*3.53298U_V1.0

42 INI04602 [knob-RS ¢7*3.5123U_V1.0

43 |NI02386 |konb ®14*13mm

44 |NI03701  |knob-RS-C 24*9.5¥10_V1.2

45 |NI03055 |knob-RS-C 24*9.5¥10 TYPHOON 187_V1.1
46 |NI03056 |knob-RS-C 24*9.5*10 TYPHOON 282_V1.1
47 |NI03043  |knob-RS-C 24*9.5*10 TYPHOON_V1.1

48 |NI03192 |acrylic panel TYPHOON_V1.0

49 |NI02926 |button 13.9*10*24mm TYPHOON_V1.4
50 [NI03140 [knob 5*5*9 TYPHOON_V1.0

51 [NI04090 |fixed board TYPHOON1600 3.5*47*81 black_V/1.0
52 [HC00206 [BNC jack WJ-7031(28*12.7)

53 |[MG00041 [screw M3*6

54 |MG00025 |[screw-RS M3*6

55 |[MG00268 |[screw M5*12

56 [HE00113 [fan-RS-CT DC24V/67mA 80*80*25mm 125mm




No. |Part No. |Description Specification Remark
57 |MD00444 |protective cover 80*80mm(K-G08A05-4HA)

58 [MG00027 |[screw M3*12

59 [MG00063 [screw M3*12

60 [MG00045 |[screw M3*7

61 |MG00061 |screw-RS M3*10

62 |MG00243 |copper pillar M3*5*0.5PH

63 |MG00572 |copper pillar M3*12.5*0.5PH 17mm 9mm

64 [MG00036 |[screw M3*4

65 |[ME00015 |color nut 3m/m

66 |MF00037 |washer 03.2°95.5*1t

67 |ME00060 [MIC jack JY-6351G-02-250

68 |[MF00061 [MIC jack 09.6*p13*0.5t

69 |HI00120 |slide switch L21-22A

70 [HA00056 |wire 90mm black L5R5

71 |NI00252 |sleeve @4*20mm

72 INI00248 |[sleeve ©4*1000mm

73 |[MG00057 |[screw M3*8

74 |NI03205  |protective cover 0.5*44*15_V1.0

75 [HC00876 |terminal block-RS 7ESDP-02P

76 |HA02276 |wire-RS 70mm 0.75A*3C(H05VV-F)

77 |HA02278 |[wire-RS 70mm 0.75A*3C(H05VV-F)

78 |HI00022 |power switch-RS 4p black frame red key

79 [HC00331 |AC socket RF-2004

80 [HD00098 [glass tube fuse T6.3A 250V 95.2*20mm CCC/BSI/C-UR/VDE

81 |HA04877 [wire-RS 3P 180*2/65/55mm UL1015 22AWG

82 |HA04878 |wire-RS 130/110mm UL1015 18AWG

83 |HA04829 [wire-RS 20P*4 110*2/95mm UL1007 28AWG

84 |HA04853 [wire-RS 6P-3P*2 720mm UL1007 24AWG

85 |HA04855 |[wire-RS 8P-4P*2 650/110*5/340/200 UL1007 28AWG

86 |MF00048 |washer ¢4*98*0.5t

87 |MF00038 |washer @4 71t

88 |ME00016 |color nut 4m/m

89 |NI04569  |rubber cushion-RS M6*923.5*20.5mm black

90 [NA00235 |[PE bag 0.05t*650*550mm

91 [NF00061 [assurance card ALTO

92 |HJ00006 |dessicant 30g

93 [NE05004 |label ALTO

94 INH00334 |cone paper 0.040*1m

95 |NE16530 [lable-RS APM160_V1.0

96 |NI00014 |membrane 0.035*1M

97 |NH00012 |bond paper 0.04*1M

98 |NI00218 |cable tie ALT-102SB

99 INC00131 |washer 1*911.3*¢15.3 red

100 [MJ00808 [fixed clip WL3-32T

101 [INC00080 [washer ¢3.17*98.2*1

102 |NC01112 |black foil white board 1.0t65mm(+0.1)*60M

103 [HC00034 |short circuit connector NO.2700 2.54mm/6mm OPEN

104 [HK01409 [PC board-RS P-313123-DIP(AMX-140FX)

105 |SC00004 |crystal oscillator 16.00MHZ XT1
106 |HC00484 |connector 2.54 180 2*8P(gold-plated) 13.5/19mm CN2
107 |SG00193 |SMD integrated circuit AT27LV010A-90JC/L-8 IC4
108 [SG00168 |[SMD integrated circuit-RS |HT27LC010-90J(PLCC32)/(HOLTEK)

109 [HK03894 |PC board-RS-ACT P-313123-SMD(L-8)

110 [HB00895 |PCB 313123/2(1*6)

111 [CI00075  |SMD ceramic capacitor 0603)0.1uF/50V Y5V +80,-20% C17,C15,C18,C6,C10,C22,C20,C13,C14,C1,C3,C4,C11
112 [RD00061 [SMD fixed resistor 1/10W |10Q +5% 0603 R22




No. |Part No. |Description Specification Remark

113 |RD00068 |SMD fixed resistor 1/10W |100Q +5% 0603 R12,R14,R7,R8,R34,R17,R13,R33

114 [RD00073 |SMD fixed resistor 1/10W |220Q +5% 0603 R3

115 [RD00085 |SMD fixed resistor 1/10W |1.5KQ +5% 0603 R16,R15,R21,R20,R4,R19,R10,R18,R9,R5
116 [RD00088 |SMD fixed resistor 1/10W |2.2KQ +5% 0603 R28,R27,R23,R24,R29,R30,R25,R26
117 |RD00101 |SMD fixed resistor 1/10W |10KQ +5% 0603 R32,R31,R1

118 [RD00125 |[SMD fixed resistor 1/10W |1.0MQ +5% 0603 R2

119 [RE00006 [SMD resistor networks 1/16W |100Q*4 +£5% 8P 0603 AR1,AR2

120 [SE00011  |SMD rectifier diode RLS4148 0.5A (LL-34) D1

121 |SG00068 |SMD integrated circuit 74HC14DT(SO14)/(PHI) IC1

122 |SG00410 [SMD integrated circuit IC41LV16256-35KG(SOJ40)/(ICSI) IC6

123 [SG00166 |SMD integrated circuit TY-2 ALTO(GMCODE:105022) IC3

124 |SG00147 |SMD integrated circuit CHEF DSP(GMCODE:105022)

125 |SG00037 |SMD integrated circuit LD1117DT33C(T0O252)/(ST) IC2

126 |HC00611 |IC socket (SMD) PLCC32 (AMP S/N:822516-7) IC4

127 |SG00016 |SMD integrated circuit UDA1345TS(SSOP28)/(PHI) IC5

128 |AE00449  |solder material without lead |9308/Sn Ag Cu

129 |CI00264 |SMD ceramic capacitor-RS 06(15PF/50V NPO +5% C8,C9

130 [NE11475 |label L-8

131 [INH00221 [paper 0.055*1M

132 [NI00016  |membrane 0.05*1M

133 JAC00179 |tin without lead-RS M705E Sn 3Ag-0.5Cu

134 |CB00166 |electrolytic capacitor 100uF/16V @6*5mm C19,C12,C5,C2,C24,C16,C21,C25,C26,C28,C7
135 [HK07846 |PC board DIGIMOD1500(APM160)-DIP

136 [SD00066 [integrated circuit L7812CV(T0220)/(ST) u13/B

137 INI00280 [sleeve ®15*25mm

138 [NI00278  |sleeve ¢15*1000mm

139 [IMG00161 |[screw M3*6

140 |HC00359 |connector 2.54 180 4P(gold-plated) 6/11.6mm CN17,CN18

141 [HC00389 |[connector(male) 16P 2.54mm180 CN13

142 |HC00082 |connector(male) 8P 2.5mm 180 CN16

143 [HD00018 |glass tube fuse 6.3A 250V 95.2*20mm CCEE/CSA/S/UL/VDE  [F1A

144 |HC00276 |connector(male) 3P 2.54mm 180 CN4,CN10

145 |HC00034 |short circuit connector NO.2700 2.54mm/6mm OPEN JR1,JR2,JR3,JR4

146 |CF00016  |metal-film capacitor MSC 10.01uF/100V 5% CASEOQ1 C10

147 [HA01919 [jump 5mm JP5

148 [HA02249 |wire 0.6

149 |CB00038 |electrolytic capacitor 47uF/16V @5*7Tmm C84,C85

150 |MK00115 |spring-RS-C 1.0T*7.6*13*34.2(ML00004)_V 1.2 ML1,ML2,ML3,ML4,ML5,ML6,ML7 ML8
151 [MC00801 |top cover DigiMod 1.0t*48*116*136.8(ME000156)_V1.1 MEC2

152 [IMJ01323  |hot gradual zinc 1.0t*2135%1220 20.45kg_V1.0

153 [ME00222 [iron pillar M3*4*0.5PH

154 |HC00859 |terminal block-RS 2P 7EHDV-02P male CN1,CN2

155 [HC00858 [terminal block-RS 2P 2EHDV-02P male CN3,CN7

156 [HC00857 [terminal block-RS 4P 2EHDV-04P male CN14

157 [HC00856 [terminal block-RS 5P 2EHDV-05P male CN11,CN12

158 [HC00866 [row-wire header(MICRO-EDGH72P 1.27mm 180 (AMP:5822021-4) CN9

159 INC00980 |[Silicone insulator-RS 1.0t25mm*30mm GAPAD1

160 [CN00180 |common inductance-RS  |1.90uH~2.30uH/T50-2(TO000061) L1,L2

161 |SD00318  |integrated circuit-RS-C | TC4423EPA(PDIP8)/(MICROCHIP) u7,u8,U9,u10,U15

162 [SD00317 [integrated circuit NJM7912FA(TO220F)/(JRC) u14/B

163 [AC00179 [tin without lead-RS M705E Sn 3Ag-0.5Cu

164 [RA01620 |[cement resistor-RS 4.7Q 5% SQM/(TYCO P/N:1-1623788-6) R73,R79

165 [MG00692 |[screw-RS M3*12*0.5PH VT3, VT4 VT8 VT7 VT13,VT14,VT15VT16,VT20,VT24,VT28
166 |ME00226 |screw-RS M3*0.5PH DD2,DD3,DD4,bD5,0D6,0D7,0D8,0D9,0D10,0D11,DD12
167 [MG00694 |[screw-RS M2.9*9.5 VT2,VT6,VT11,VT18,VT22,VT26

168 [MG00693 |[screw-RS M3*6*0.5PH VT1,VT5,VT9,VT10,VT17,VT21,VT29,VT30




No. |Part No. |Description Specification Remark

169 [SA00316 [bridge rectifier-RS 8A GBU-8K/(PANJIT) D1

170 INE16112 |lable K-SERIES_V1.0

171 [NI00020  |membrane 0.07*1M

172 INH00015 [bond paper 0.075*1M

173 [MB04842 |rear board DIGI MOD(ME000286)_V1.0 MEC1

174 IME00220 [iron pillar M4*8*0.7PH_V1.0

175 [ME00221 [iron pillar M3*4*0.8PH_V1.0

176 [MB04840 [rear board DIGI MOD(ME000286)

177 [IMB04654 |chassis DigiMod 3.0t*51*122*216(ME000155)_V/1.1

178 [IMJ00057 |AL plate-RS 3.0t*2000%1000mm 16.32kg

179 INC01179 [insulator spacer-RS 0.13t*40mm*55mm(HI-FLOW-625) SPAD1,SPAD2,SPAD3
180 [NI04389 |plastic washer-RS TW-20N

181 |CF00226 |metal-film capacitor-RS MKP|0.33uF/160V+5%(BFC237934334) C63,C64,C65,C66

182 [CG00079 |[X1/Y2 capacitor-RS 0.0047uF/250V(S472M59Z5US63K7) C7,C6,C8,C9

183 [CG00078 |X2 capacitor-RS MKT 1.0uF/275V +5%(BFC233620105) C1

184 |CF00224 |metal-film capacitor-RS MKP|0.1uF/630V+5%(BFC238320104) C4,C5

185 |CF00222 |metal-film capacitor-RS MKT|1.0uF/250V £5%(BFC237341105) C68,C67

186 [SB00221 |transistor-RS-CT BD237(SOT32)/(ST) Q7

187 [SB00222 |[transistor-RS-CT HGTG12N60A4D(T0O247)/(FAIRCHLD) Q1,Q2

188 [RA01654 |wirewound resistor SW  ]0.1Q+5%/(AC05000001007JAC00) R69,R70,R75,R76

189 |[RH00032 |thermistor-RS-NTC 10K+5%(NTCLE100E3103JB0) R43,R44

190 [SB00227 |Pohtotriode-RS-CT CNY17F-2BNC(DIP6)/(FAIRCHILD) u16

191 [CN00200 [common inductance-RS-CT |2.3mH/4A EV28-4.0-02-2M3/(SCHAFFNER) T1,12

192 |CB00344 |electrolytic capacitor-RS-AC(820uF/25Vp10*30mm/(NICHICON) C47,C49,C50

193 [RA01659 |metal-oxide-film resistor-RS 1 |240K+5% VR37(VR37000002403JA100) R1

194 |SB00228 |transistor-RS MURF1660CTG(T0220)/(ON) D11,012,D13

195 [CG00081 |Y-type capacitor-RS-ACT |S20-K300(B72220301K101)/(EPCOS) RV1

196 [CG00082 |[X2 capacitor-RS-ACT 0.1uF/275V+20% R46-KI3100-JP M1M(ARC) C137

197 |CF00240 |metal-film capacitor-RS-C |0.022uF/250V (MMK5 223K250J01L4) C14,C20,C99,C100
198 [RH00034 |thermistor-RS-CT 2.5Q B57237S259M/(EPCOS) R10

199 [NE16810 [lable-RS DIGIMOD1500_V1.0

200 |NI00017  |membrane 0.055*1M

201 |NI00039  |adhesive label 0.06*1M

202 |NE16808 |lable-RS DIGIMOD1500_V1.0

203 |NI00017  [membrane 0.055*1M

204 INI00039  |adhesive label 0.06*1M

205 |HK07313 |PC board P-DGM1500(PowerSoft)-SMD

206 |c00046 [0 e capctr 20 116 v5v- 12063216 GG G304 O42.045.055. 05,05 G5 CT8 CT8 G001
207 |CI00095  [SMD ceramic capacitor 1206{0.1uF/50V X7R C31,C33,C34,C39

208 |CI00103  [SMD ceramic capacitor 1206{ 100PF/50V NPO +5% C136

209 |CI00041  [SMD ceramic capacitor 1206/470PF/50V NPO C43

210 |CI00042  |SMD ceramic capacitor 1206/0.001uF/50V NPO C73,C74,C75,C76,C80,C81,C82,C83,C92,C93,C94,C95
211 |CI00263  |SMD ceramic capacitor-RS 1240.0047uF/200V X7R £10% C12,C13,C15,C18,C19,C21
212 |CI00135  [SMD ceramic capacitor 1206{33PF/50V NPO £5% C44

213 |HB01989 |PCB-RS DGMMAIN19_VER060411 CS1

214 |SE00097 |SMD diode-RS-CT 1A/400V US1G(DO214AC)/(VISHAY) D3,D4,D22,023,024,D25,028
215 |SE00095 |SMD diode-RS-CT ES3D(DO214AB)/(VISHAY) D8,D9,D10

216 |SE00025 |SMD diode 0.45A/85V BAV99 D18,019,020,021,D26
217 |SE00089 |SMD zener diode-RS 1/2W 5.1V(MMSZ5231B)(SOD-123)/(PANJIT) ~ |D14,D015,016,D17

218 |SG00495 |SMD integrated circuit-RS-C|IR2156SPBF(SO14)/(IR) U1

219 |SG00465 |SMD integrated circuit-RS [M24C16WMNGBTP(SO8)/(ST) u12

220 |SG00466 |SMD integrated circuit-RS-ACTHCPL-0611#060(SO8)/(AGILENT) U3,U4,U5,U6

221 |SF00101  |voltage stabilized transistor- |L4941BDT-TR-PB FREE(DPAK)/(ST) Ut

222 |RD00245 |SMD precise resistor 1/4W [1.00KQ +1% 1206 R25,R28,R29,R34,R49,R50,R87
223 |RD00140 |SMD fixed resistor 1/4W  [4.7KQ 5% 1206 R12




No. |Part No. |Description Specification Remark

224 |RD00399 |SMD precise resistor 1/4W 110.0KQ £1% 1206 R11,R48,R47,R57

225 |RD00255 |SMD precise resistor 1/4W  [100KQ +1% 1206 R14,R15,R16,R17,R18,R19,R51,R52,R53,R54,R84,R85,R88,R89

226 |RD00608 |SMD precise resistor-RS 1/4W|33.0KQ+ 1% 1206 R13

227 |RD00615 |SMD precise resistor-RS 1/8W|1.50Q+ 5% 0805 R22,R23,R45

228 |RD00607 |SMD precise resistor-RS 1/4W[330Q+ 1% 1206 R26,R27,R30,R31,R32,R33,R35,R36,R83,R80,R81,R82

229 |RD00606 |SMD precise resistor-RS 1/4W[15.0Q+ 1% 1206 R20,R21

230 |RD00605 |SMD precise resistor-RS 1/4W[4.70Q+ 1% 1206 R58,R59,R60,R61

231 |RD00604 |SMD precise resistor-RS 1/4W|47.0Q+ 1% 1206 R86

232 |AE00449 [solder material without lead [9308/Sn Ag Cu

233 |Cl00279  [SMD ceramic capacitor-RS 1240.0022uF/200VXx7R+10% C135

234 |SE00098 |SMD zener diode-RS-C  [1W 15V DL4744A MELF/(SJ) D2,D27

235C000138 |SMD fixed inductance-RS-C4*0.47mH(B82792-C2474-N315/(EPCOS) T10

236 |HK07198 |PC board-RS P-DGMFILT14(TO000062) SM1,SM2

237 |HC00855 |connector-RS 2.54 90 2*2P (gold-plated) 6/14.4/19.5 J1,J2

238 |AC00179  |tin without lead-RS M705E Sn 3Ag-0.5Cu

239 INI00218  |cable tie ALT-102SB

240 |CN00179 |common inductance-RS  |25.344uH+15%/T130-2(TO000062)

241 |HB02094 |PCB-RS DGMFILT14_VER060411

242 |SB00231 |transistor-RS IRFP264PBF(TO-247AC)/(IR) Q3,Q4,Q05,Q6

243 |CB00354 |electrolytic capacitor-RS  [330UF/200V 105°C ¢18*35.5mm/(NICHICON) |C24,C25,C26,C27,C28,C29

244 1CB00355 |electrolytic capacitor-RS  [330UF/200V 105°C ¢ 16*35.5mm/(NICHICON) |C51,C52,C53,C54

245 |TC00380 |transformer-RS EE42/20(TO000082) T3

246 |NI04468  |creel stand-RS-ACT FE0252(MILES PLATTS)

247 |TC00387  |transformer-RS EE42/20(TO000082)

248 |HK07314 |PC board P-DGM500-1000/CNTRL17(DGM1500)-DIP

249 |SC00319 |crystal oscillator 12.288MHZ Y1

250 JAC00179  |tin without lead-RS M705E Sn 3Ag-0.5Cu

251 |HK07274 |Photodiode P-photosensitive resistance+@3lled D5,D105

252 |RH00020 |[photosensitive resistance |VT90N1

253 |SA00305 |L.E.D-RS @3 circle red high intensity D5,D105

254 INI02405 [sleeve @5*15mm GU1,GU2

255 |NI00258  |[sleeve ©5*1000mm

256 |HK07315 |PC board P-DGM500-1000/CNTRL17(DGM1500)-SMD

257 |CI00201  |SMD ceramic capacitor 06030.01uF/50V +10%(C1608X7R1H103KT)/TDK C15,C41,C42,C43
C6/B,C4,C2,C9,C11/B,C14,C17/B,C19/B,C20/B,C21/B,C24/B,C25/B,

258 |C100185  |SMD ceramic capacitor 06030.1uF/50V X7R+10%(C1608X7R1H104KT)/TDK  |C27/B,C39,C49,C102,C104,C106/B,C117/B,C119/B,C120/B,C121/B,
C124/B,C125/B,C127/B

259 |Cl00220  [SMD ceramic capacitor 0603220PF/50V COG +5%(C1608C0G1H221JT)/TDK |C1,C33,C133

260 |C100234  |SMD ceramic capacitor 06030.0033uF/50VC0G+5%(C1608C0G1H332JT)/TDK [C13

261 |Cl00228  |SMD ceramic capacitor 06030.001uF/50V C0G%5%(C1608C0G1H102JT)/TDK  |C5,C28,C105,C128

262 |CI00222  |SMD ceramic capacitor 0603 330PF/50V COG +5%(C1608C0G1H331JT)/TDK |C3,C32,C103,C132

263 |C100224  |SMD ceramic capacitor 0603470PF/50V COG +5%(C1608C0G1H471JT)/TDK |C26,C36,C37,C126,C136,C137

264 |CI00083  |SMD ceramic capacitor 0603 3.9PF/50VC0G0.25PF(C1608COG1H3RICT)TDK [C23,C123

265 |CI00216  |SMD ceramic capacitor 0603 82PF/50V COG +5%(C1608C0G1H820JT)/TDK |C7,C8,C107,C108

266 |C100053  |SMD ceramic capacitor 0603 33PF/50V C0G+5%(C1608C0G1H330JT)/TDK |C10,C12

267 |Cl00105 |SMD ceramic capacitor 1206/0.0022uF/50V NPO £5% C30,C130

268 |CI00125  |SMD ceramic capacitor 1210{10uF/16V Y5V-1210(3225) C16,C31,C40,C116,C131

269 |C100084  |SMD ceramic capacitor 06034.7PF/50VC0G0.25PF(C1608C0G1H4R7CT)TDK |C52/B

270 |HB01991 |PCB-RS DGMCNTRL17_VER060411 CS1

271 |SE00025 |SMD diode 0.45A/85V BAV99 D6,07,0106,D107

272 |SE00026 |SMD diode 0.45A/85V BAVT70 D4,09,010,011,0109,D0110,D111

273 |SE00027 |SMD diode 0.45A/85V BAW56 D1,02,03,0101,D102

274 |SE00090 |SMD zener diode-RS 1/2W 6.8V(MMSZ5235B)(SOD-123)/(PANJIT)  |D12,D14,0112,D114

275 1SG00502 |SMD integrated circuit-RS [NE5532DR(SO8)/(TI) U1/B,U2/B,U101/B,U102/B

276 [SG00504 [SMD integrated circuit-RS-C|ATmega8-16AU(TQFP32)/(ATMEL) us/B

277 |SG00496 |SMD integrated circuit-RS [LF412CDR(SO8)/(Tl) U4/B,U104/B




No. |Part No. |Description Specification Remark
278 [SG00045 [SMD integrated circuit BU4081BF(SOT73)/(PHI) ue/B
279 |1SG00509 |SMD integrated circuit-RS [HEF4069UBT(SO14)/(PHI) U5/B,U105/B
280 |SG00001 |SMD integrated circuit TLO74CDT(SO14)/(ST) u3/B,u103/B
281 |SE00077 |SMD L.E.D-RS red KPTC-2012EC D19,D119
282 |SE00078 |SMD L.E.D-RS green KPTC-2012SGC D16,D17,018
283 1C0O00137 |SMD inductance-RS 1.0mH £5%(NL453232T-102J)/(TDK) L1,L101
284 |RD00298 [SMD precise resistor 1/10W [47.0Q +1% 0603 R17,R19,R22,R34,R41,R87,R117,R119,R134,R141,R187
R1,R5,R14,R24,R28,R30,R32,R39,R47,R48,R49,R50,R51,R52,R53,
. . R54,R57,R55,R56,R69,R114,R128,R130,R132,R139,R147,R148,R1
285 |RDO00214 1SMD precise resistor 1/10W/}10.0K0) 1% 0603 49,R150,R151 R152,R153 R154,R155, R156,R157,R169,R201,R202,
R219,R301,R302,R319,R1001,R1003
. ) R2,R21,R44,R61,R62,R63,R64,R66,R67,R92,R93,R95,R102,R144,R
286 |RD00282 [SMD precise resistor 1/10W [1.00KQ +1% 0603 161,R162,R163,R164 R166,R167
287 |RD00224 |SMD precise resistor 1/10W [100KQ +1% 0603 R31,R35,R58,R59,R131,R135,R158,R159,R208,R308
288 |RD00506 |SMD precise resistor 1/10W [3.30KQ +1% 0603 R23,R27,R36,R81,R82,R136,R181,R182
289 [RD00399 [SMD precise resistor 1/4W [10.0KQ +1% 1206 R215/B,R216/B,R315/B,R316/B
290 [RD00320 [SMD precise resistor 1/4W [12.0KQ +1% 1206 R74/B,R85/B,R174/B,R185/B
291 |RD00341 |SMD precise resistor 1/10W [4.70KQ +1% 0603 R3,R45,R90,R103,R145,R1002
292 |RD00201 |SMD precise resistor 1/10W [1.50KQ +1% 0603 R6,R13,R65,R113,R165
293 [RD00292 [SMD precise resistor 1/10W [1.00MQ +1% 0603 R10,R60,R98,R99,R100,R110,R200,R209,R210
294 [RD00392 [SMD precise resistor 1/10W [2.20KQ +1% 0603 R15,R26,R46,R78,R115,R146,R178
295 |RD00322 |SMD precise resistor 1/10W [2.70KQ +1% 0603 Tg3,R8,R16,R75,R79,R80,R83,R107,R108,R1 16RITSRITS,RTEOR
296 |RD00301 [SMD precise resistor 1/10W [12.1KQ +1% 0603 R11,R111
297 [RD00218 [SMD precise resistor 1/10W [15.0KQ +1% 0603 R9,R12,R86,R109,R112,R186
298 [RD00339 [SMD precise resistor 1/10W [47.0KQ +1% 0603 R4,R43,R33,R42,R104,R133,R142,R143
299 |RD00390 |SMD precise resistor 1/10W |10.0MQ +1% 0603 R97,R96
300 [RD00592 [SMD precise resistor-RS 1/10410.0KQ +0.1% 0603 R89,R72,R73,R88,R172,R173,R188,R189
301 |RD00591 [SMD precise resistor-RS 1/10182.0KQ +0.1% 0603 R70,R71,R170,R171
302 [RD00332 [SMD precise resistor 1/10W [680Q +1% 0603 R68,R168
303 |RD00525 |[SMD precise resistor 1/10W |33.0KQ +1% 0603 R29,R129
304 |RD00590 |[SMD precise resistor-RS 1/1011.50KQ +0.1% 0603 R76,R77,R176,R177
305 |RD00129 |SMD fixed resistor 1/4W [0.0Q +5% 1206 C34,C134
306 |RD00342 [SMD precise resistor 1/10W |1.50MQ £1% 0603 R38,R138
307 |RD00105 |SMD fixed resistor 1/10W [22KQ +5% 0603 R94
308 [RD00509 |SMD fixed resistor 1/10W [24KQ +5% 0603 R25
309 |SF00030 |SMD transistor-RS-ACT  [BC817(SOT23)/(PHI) Q1,Q2/B
310 |AE00449  |solder material without lead [9308/Sn Ag Cu
311 |CI00278  |SMD ceramic capacitor-RS 1240.0018uF/50V NPO +5% C29,C129
312 |CI00225 |SMD ceramic capacitor 0603 560PF/50V COG +5%(C1608C0G1H561JT)/TDK [C22,C122
313 INE16833 |lable-RS DIGIMOD1000_V1.0
314 INI00017  [membrane 0.055*1M
315 |NH00035 |bond paper 0.06*1M
316 [NE16888 [lable-RS DIGIMOD1500_V1.0
317 INI00017  [membrane 0.055*1M
318 |NH00035 |bond paper 0.06*1M
319 INE16885 |lable-RS DIGIMOD1500(SM381)_V1.0
320 |NI00034  |membrane 0.045*1M
321 |NH00014 |bond paper 0.05*1M white
322 |INE16887 |lable-RS POWERMOD_V1.0
323 |NI00015  [membrane 0.04*1M
324 INH00013 |bond paper 0.045*1M
325 |HC00941 |fuse drawer-RS-ACT 520101(5.2mm) PCB LITTLEFUSE F1
326 |CH00027 |laminated capacitor 0.1uF/100V X7R PH5mm C59,C60,C71,C72
327 |HK07395 |PC board P-PSM-50Wd-DIP
328 |SD00074 |integrated circuit L7805CV(T0220)/(ST) U2




No. |Part No. |Description Specification Remark
329 |SD00079 |integrated circuit L7915CV(T0220)/(ST) TR1

330 |SD00077  |integrated circuit-RS L7815CV(T0220)/(ST/MOROCCO) ué

331 |SD00066 |integrated circuit L7812CV(T0220)/(ST) U1

332 |SB00015  |Pohtotriode 4N33.300 U4

333 [SA00223 |zener diode 3.6W 36V KA431AZ(TO-92) U5

334 |SA00221  |bridge rectifier 2A/600V KBP206 BD1
335 |SA00222 |diode 2.2A1274V P6KE200A 21

336 |SA00093  |rectifier diode 1N4148 0.5A D5

337 |SB00073 [transistor-RS-ACT 2N5550/2N5551(T092)/(HSMC) Q1

338 |SB00064 |transistor-RS-ACT TIP41C(T0220)/(ST) Q2

339 |SA00130 |diode 1A/600V/35ns BYV26C D4,D3
340 |SA00144 |diode 3.5A/200V BYV28-200,113 D6,D7
341 [SA00127 |zener diode 1/2W 47V 1N5261 z2

342 [SA00004 [high speed diode 2A/100V BYV27-200,113 D2,D1
343 INI02249  |plastic washer TW-1(TO-220)

344 INC00005 |mica SB-9500DSP 18*13*0.1t_V1.0

345 [MI00257  |heat-sink 25*34.6%12%1.5 DX26

346 [MI00256  |heat-sink 25*15*10.6-1PIN SCL-2020

347 IMG00161 |screw M3*6

348 IMG00163 |screw M3*8

349 |MF00037 |washer ¢3.2°95.5"1t

350 |ME00015 |color nut 3m/im

351 [IMF00014 |washer ¢3*96.5%0.5t

352 |[HC00172 [connector(male) 3P 3.96mm 180 CON1
353 [HC00076 |connector(male) 2P 2.5mm 180 J2,1
354 |HC00082 [connector(male) 8P 2.5mm 180 J3

355 |CG00042 |Y-type capacitor 0.01uF/400V C37,C36
356 |CB00132 |electrolytic capacitor 330uF/25V 105°C LZ ¢8*15mm C46,C45,C1
357 |CB00006 |electrolytic capacitor 1uF/50V w4*5mm C41

358 |CB00195 |electrolytic capacitor 100uF/16V @6*7mm C18,C33
359 |CB00034 |electrolytic capacitor 33uF/16V @5*11mm C43

360 |CF00113  |metal-film capacitor MPX [0.047uF/275V +10% CASEC2 C21,C22
361 |CB00221 |electrolytic capacitor 10uF/63V £20% ¢5*11mm C34,C35
362 |CG00035 |Y-type capacitor 4. 7nF/400V C24,C42
363 |CG00033 |mteal oxide varistors B57237-S100-M RTH1
364 |CB00254 |electrolytic capacitor 47uF/100V @10*12mm 5mm C31

365 |HA01925 |jump 10mm J5,J6,J9
366 [HA02249 [wire 0.6

367 |HA01930 |jump 15mm J4

368 |HA02249  |wire 0.6

369 |HA01921 |jump 7mm J7

370 [HA02249 [wire 0.6

371 |CB00201 |electrolytic capacitor 47uF/25V @6*7Tmm C40

372 |CB00072 |electrolytic capacitor 1000uF/25V 910*20mm C29,C28
373 |CB00056 |electrolytic capacitor 220uF/25V 8*11mm C20

374 |CN00153 [inductance-RS-ACT 3mH UT20-H125NP L4

375 |[TC00341 [transformer-RS ETD29_230V T

376 JAC00179 |tin without lead-RS M705E Sn 3Ag-0.5Cu

377 |1SD00319  |integrated circuit-RS TOP248YN(TO220)/(P1) VK]

378 |CB00337 |electrolytic capacitor-RS  [220uF/400V ¢30*31mm C23

379 |HK07396 |PC board P-PSM-50Wd-SMD

380 |RD00015 |SMD fixed resistor 1/8W  [560Q +5% 0805 R13

381 |RD00141 |SMD fixed resistor 1/4W  [6.8KQ +5% 1206 R6

382 |RD00025 |SMD fixed resistor 1/8W  |3.3KQ 5% 0805 R12

383 |RD00235 [SMD precise resistor 1/8W [4.70KQ +1% 0805 R15

384 |RD00515 [SMD precise resistor 1/4W |4.7Q £1% 1206 R11




No. |Part No. |Description Specification Remark
385 |RD00254 |SMD precise resistor 1/4W [68.0KQ +1% 1206 R80
386 |RD00149 |SMD fixed resistor 1/4W  [220KQ +5% 1206 R4,R2,R3
387 |RD00142 |SMD fixed resistor 1/4W  [10KQ +5% 1206 R10,R100
388 |RD00146 |SMD fixed resistor 1/4W  [47KQ +5% 1206 R8
389 |CI00100  [SMD ceramic capacitor 08050.1uF/50V X7R +10% C13,C11
390 |Cl00028  |SMD ceramic capacitor 08050.01uF/50V Y5V C12
391 |CI00154  |SMD ceramic capacitor 1206{0.1uF/100V X7R +10% C6,C2,C7,C5,C8,C17,C16
392 |RD00585 |SMD precise resistor -RS [820.00Q +1% 0805 R14
393 |RD00617  [SMD fixed resistor-RS 1/4W [2.0MQ +5% 1206 R1
394 |HB02120 |PCB-RS PSM-50Wd_VER060821
395 |RD00521 |SMD fixed resistor 1/8W  [750Q +5% 0805 R7
396 |MI03891  |separating shade-RS XM-24 0.33t*37.6*37.6*28.3_V1.0
397 |MJ00116  |tinplate 0.33*1000*1000 2.59%kg
398 |MI03847  |heat-sink-RS 2.9*77%30*15_V1.0
399 |HK07692 |PC board P-APM120 MONO-DIP
400 |RC00366 |potentiometer C500KQRD12L123A43D-500K15C*2(SAS1)30F-C  [VR5,VR15,VR26,VR37
401 |RC00358 |potentiometer B50KQ-RD09F113A223-50K2BT(SAS1);30F-C XRZ’VRS’VR“’VM 3VR14,VR16,VR24,VR25,VR27,VR35,VR36,VR3
402 |RC00465 |potentiometer B5KQ RDO9F113A225-5K2BT(SAS1);30F-C VR7,VR18,VR29,VR40
403 |SB00062  |transistor-RS-ACT BC337-25(T092)/(PHI) Q1
404 |RC00284 |slide potentiometer D10KQ RF6011YPB00F-10KD(SAS1) VR6,VR17,VR28,VR39
405 |SA00071 |L.E.D @3 green LVG2340/A LD11,LD13,LD15,LD17
406 |HC00125 |MIC jack-RS JY-6351G-02-250 X5,X6,X7,X8,X9,X10,X11,X12
407 |RC00356 |potentiometer Z10KQ RDO9F1130042-10KZ(SAS1);30F VR1,VR12,VR23,VR34
. SW1,SW2,SW3,SW4,SW5,SW6,SW7,SW8,SW9,SW10,SW11,SW12
408 |HI00236 |push-button switch-RS |2 6P PS-92 26A(SELF-LOCK) SW13,5W14. SW15,SW16.SW17 SW18,5W19, SW20
409 |SA00053 |L.E.D @3 round(red)long foot 26mm LD5,LD6,LD7,LD8,LD9
410 |HC00126 |balance MIC jack-RS JY-5042-030G female plug 180 X1,X2,X3,X4
411 |HI00380 |slide switch-RS 2stage 3P 12mm SBA-12-12 SW33
. VR8,VR9,VR10,VR11,VR19,VR20,VR21,VR22,VR30,VR31,VR32,VR
412 |RC00359 |potentiometer W50KQ RDO9F113A224-50K4BT(SAS1);30F-C 33.VR41 VRA42.VRA3.VRA4
413 |SA00054 |L.E.D 3m/m round(yellow)long foot 26 LD1,LD2,LD3,LD4
414 |SA00073 [L.ED @3 yellow LVY2340/A LD10,LD12,LD14,LD16
415 |NI02384  |LED spacer support LEDS-4 4mm
416 |NI01773  |LED spacer support LEDS-13
417 |NI04453 |LED spacer support-RS ~ [LEDS-21 21mm LD9
418 |HC00982 |connector-RS 2.0mm 180 2*10P 4/9.4 CN2
419 |HC00984 |connector-RS 2.0mm 180 2*2P 4/9.4 CN1
420 |HC00983  |connector-RS 2.0mm 180 2*4P 4/9.4 CN3
421 |AC00179 |tin without lead-RS M705E Sn 3Ag-0.5Cu
422 |HK07693 |PC board P-APM120 MONO-SMD
C125,C126,C127,C128,C129,C130,C131,C132,C133,C134,C135,C1
423 |CI00075 |SMD ceramic capacitor 06030.1uF/50V Y5V +80,-20% 36,C137,C138,C139,C140,C141,C142,C143,C144,C145,C146,C147,
C148,C149,C150,C151,C152
424 |RD00214 |SMD precise resistor 1/10W |10.0KQ +1% 0603 R61,R62,R63,R64,R65,R66,R67,R68,R126,R127,R128,R129,R234
425 |RD00334 |SMD precise resistor 1/10W |11.0KQ +1% 0603 R25,R26,R27,R28,R29,R30,R31,R32
426 |RD00102 |SMD fixed resistor 1/10W |[12KQ +5% 0603 R219,R221,R223,R225
427 |RD00218 |SMD precise resistor 1/10W |15.0KQ +£1% 0603 R218,R220,R222,R224
. . R145,R146,R148,R149,R158,R160,R161,R162,R171,R172,R173,R1
428 |[RD00293 |SMD precise resistor 1/10W |17.4KQ +1% 0603 74 R184,R185 R186,R187
429 |RD00351 |SMD fixed resistor 1/10W |1.3KQ +5% 0603 R73,R74,R75,R76
430 |RD00201 |SMD precise resistor 1/10W |1.50KQ +1% 0603 R106,R107,R108,R109,R110,R111,R112,R113
431 |RD00125 |SMD fixed resistor 1/10W |1.0MQ +5% 0603 R130,R131,R132,R133
432 |RD00219 |SMD precise resistor 1/10W |20.0KQ +1% 0603 R81,R82,R83,R84,R85,R86,R87,R88,R89,R141,R142,R143 R144

433

RD00105

SMD fixed resistor 1/10W

22KQ £5% 0603

R90,R91,R92,R93




No. |Part No. |Description Specification Remark
C37,C38,C39,C40,C41,C42,C43,C44,C45,C46,C47,C48,C49,C50,C5
434 |CI00266  |[SMD ceramic capacitor-RS 06422PF/50V NPO +5% 1,C52,C53,C54,C55,C56,C109,C110,C111,C112,C113,C114,C115,C
116
435 [RD00106 |SMD fixed resistor 1/10W [27KQ +5% 0603 R139,R140,R152,R153,R165,R166,R178,R179
436 [RD00265 |SMD fixed resistor 1/10W [27Q +5% 0603 R41,R42,R43,R44
437 |RD00089 |SMD fixed resistor 1/10W [2.7KQ +5% 0603 R226,R227,R228,R229,R230,R231,R232,R233
. TR1,TR2,TR3,TR4,TR5,TR6,TR7,TR8,TR9,TR10,TR11,TR12,TR13,
438 [SF00056 |transistor MMBT3904(SOT23)/(PHI) TR14.TR15.TR16
439 [RD00406 [SMD precise resistor 1/10W 3.60KQ +1% 0603 R33,R34,R35,R36,R37,R38,R39,R40
440 [RD00092 |SMD fixed resistor 1/10W [3.9KQ +5% 0603 R122,R123,R124,R125
441 |SE00011 [SMD rectifier diode RLS4148 0.5A (LL-34) FE:{?Z’DB’D“’DS’D6’D7’D8’DQ’D10’D11’D12’D13’D14’D15’D16’D17
442 |SG00558 [integrated circuit-RS 4580M(SOP8)/(YW) U1,U2,U3,U4,U5,U6,U7,U8,U9,U10,U11,U12,U13,U14
443 |CI00063  [SMD ceramic capacitor 0603470PF/50V NPO +5% C1,C2,C3,C4,C5,C6,C7,C8,C9,C10,C11,C12
444 |RD00339 [SMD precise resistor 1/10W [47.0KQ +1% 0603 R210,R211,R212,R213
445 |Cl00268  |SMD ceramic capacitor-RS 06447PF/50V NPO +5% C29,C30,C31,C32
446 |RD00298 |SMD precise resistor 1/10W [47.0Q +1% 0603 R1,R2,R3,R4,R5,R6,R7,R8
447 |RD00371 [SMD precise resistor 1/10W [51.1KQ +1% 0603 R9,R10,R11,R12,R13,R14,R15,R16
X ) R150,R151,R163,R164,R175,R176,R188,R189,R206,R207,R208,R2
448 [RD00094 |SMD fixed resistor 1/10W [5.1KQ +5% 0603 00.R214,R215,R216,R217
449 |[RD00210 [SMD precise resistor 1/10W [5.11KQ +1% 0603 ;%E%’R47’R48’R49’R50’R51’R52’R53’R54’R55’R56’R57’R58’R5
450 [RD00095 |SMD fixed resistor 1/10W [5.6KQ +5% 0603 R114,R115,R116,R117,R118,R119,R120,R121
451 [RD00113 |SMD fixed resistor 1/10W [62KQ +5% 0603 R69,R70,R71,R72
452 [RD00539 [SMD precise resistor 1/10W [68.0KQ +1% 0603 R94,R95,R96,R97
R77,R78,R79,R80,R134,R135,R136,R137,R138,R147,R159,R177,R
453 [RD00097 |SMD fixed resistor 1/10W [6.8KQ +5% 0603 190,R191,R192,R193,R194,R195,R196,R197,R98,R99,R100,R101,
R102,R103,R104,R105
454 |AE00449  |solder material without lead [9308/Sn Ag Cu
455 |HK07694 |PC board P-APM120 MONO-AI
456 |HB02185 |PCB-RS APM120 MONO_REV1.20_VER061103
457 |CB00238 |electrolytic capacitor 0.22uF/50V 95*11mm C57,C58,C59,C60,C61,C62,C63,C64,C65,C66,C67,C68
458 |CB00255 |electrolytic capacitor 1000uF/10V @8*11mm 5mm (33,C34,C35,C36
459 [RA01112 [fixed resistor 1/4W 100Q R235
460 |CB00051 |electrolytic capacitor 100uF/63V ¢10*12mm C153
461 [RA01115 [fixed resistor 1/4W 20KQ R440
462 |CB00242 |electrolytic capacitor 22uF/35V 95*11mm C13,C14,C15,C16,C17,C18,C19,C20
463 |[CC00067 [mylar capacitor 0.0027uF/100V 10% C121,C122,C123,C124
464 |CC00059 [mylar capacitor 0.033uF/100V 3% €93,C94,C95,C96,C97,C98,C99,C100
. . . C69,C70,C71,C72,C73,C74,C75,C76,C77,C78,C79,C80,C81,C82,C8
465 |CB00194 |electrolytic capacitor 47uF/25V 95*11mm 3.084,C85,C86,C87,C88,089,090,C91,C92
466 |CB00334 |electrolytic capacitor-RS  [47uF/50V ¢6.3*11mm C21,C22,C23,C24,C25,C26,C27,C28
467 [CC00077 [mylar capacitor 0.0047uF/100V 3% C117,C118,C119,C120
468 |RA01262 |precise resistor 1/4W 6.81KQ R17,R18,R19,R20,R21,R22,R23,R24
469 [CC00079 [mylar capacitor 0.0068uF/100V 3% €101,C102,C103,C104,C105,C106,C107,C108
J1,J2,J3,J4,J5,J6,J7,8,J9,J10,J11,J12,J13,J14,J15,J16,J17,J18,J19
,J20,J21,J22,J23,J24,J25,J26,J27,J28,J29,J30,J31,J32,J33,J34,J35,
J36,J37,J38,J39,J40,J41,J42,J43,J44,J45,)46,J47,J48,J49,J50,J51,J
470 |HA01919 |jump 5mm 52,J53,J54,J55,J56,J57,J58,J59,J60,J61,J62,J63,J64,J65,J66,J67,J6
8,J69,J70,J71,J72,J73,J74,J75,J76,J77,J78,J79,J80,J81,J83,J84,J85
,J86,J87,J88,J89,J90,J91,J92,J93,494,J95,J96,J97,J98,J99,J100,J10
1,J143,J218,J219
471 |HA02249 |wire 0.6
) J196,J201,J202,J203,J204,J205,J206,J207,J208,J209,J210,J211,J2
472 [HAO1930fjump 15mm 12,J213,J214,0215,J216,J217 222,023
473 |HA02249 |wire 0.6




No. |Part No. |Description Specification Remark
474 |HA01035. [jump w25 ééss,n62,J176,J189,J190,J191,J192,J193,J194,J197,J198,J199,J2
475 [HA02249 |wire 00.6
J149,0150,J151,0152,0153,J154,J155,J156,J157,J158,J159,J160,J1
. 61,J164,J166,J167,J168,169,J170,0171,0172,1173 174,175, J177,
476 |HA01925 - ljump 10mm J178,J179,J180,0181,0182,J183,J184,J185,J186,J187,188,4220,J2
21
477 [HA02249 |wire 00.6
J82,J102,J103,J104,J105,J106,J107,0108,0109,J110,111,J112,11
. 3,114,0115,0116,0117,0118,0119,0120,J121,122,J123 124 J125,J
478 |HA02441 " ljump 7:5mm 126,J127,0128,J129,130,J131,132,0133,134,J135, 136,137 J13
9,J140,J141,J142,0144,0145,J146,J147,J148 J163,J165,J195
479 [HA02249 |wire 00.6
480 [HK07695 |PC board P-APM120 STEREO-DIP
481 [CC00041 |mylar capacitor 0.12uF/100V 10% C251,0252
482 [HK04376 |PC board P-12VMETER-DIP(AMX-220) CN7,CN8
483 |HC00698 |connector 2.090 17P(gold-pated)2.5/9.5mm 2mm CN6
484 |HK04377 |PC board P-12VMETER-SMD(AMX-220)
485 [HB01285 |PCB 12VMETER(2"5)_VER040611
486 [RD00069 | SMD fixed resistor 1/10W [120Q £5% 0603 R2
487 [RD00076 | SMD fixed resistor 1/10W [330Q 5% 0603 R4,R6
483 [RD00078 | SMD fixed resistor 1/10W [470Q £5% 0603 R3,R5,R7
489 [RD00347 | SMD fixed resistor 1/10W [510Q +5% 0603 R8
490 [RD00348 | SMD fixed resistor 1/10W [620Q 5% 0603 R9
491 [RD00351 |SMD fixed resistor 1/10W [1.3KQ +5% 0603 R10
492 [RD00087 |SMD fixed resistor 1/10W [2.0KQ +5% 0603 R11
493 [RD00101 | SMD fixed resistor 1/10W |10KQ +5% 0603 R12
494 [RD00115 | SMD fixed resistor 1/10W [82KQ +5% 0603 R13
495 |CI00075  |SMD ceramic capacitor 06030.1uF/50V Y5V +80,-20% C1,C2
496 [SG00210 |SMD integrated circuit |LM339DT/(ST) U1,U2,U3
497 |AE00449  |solder material without lead |9308/Sn Ag Cu
498 [RD00346 |SMD fixed resistor 1/10W [56Q +5% 0603 R1
499 [AC00179 [tin without lead-RS M705E Sn 3Ag-0.5Cu
. X1,X2,X3,X4,X5,X6,X7,X8,X9,X10,X12,X13 X14,X15 X16 X17 X18 X
500 |HC00125 [MIC jack-RS JY-6351G-02-250 21X X0 %24 X5 X08
501 |RC00626 |potentiometer-RS B100KQ RD12L12C0217-100K3B*2(SAS), 15F |VR87
502 [RC00360 [potentiometer B50KQ RD12L12CA23A-50K3BT*2(SAS1):30F-C|VR51,VR52,VR53,VR54,VR62,VR63,VR64,VR65
503 [RC00465 |potentiometer B5KQ RDO9F113A225-5K2BT(SAST):30F-C  |VRS6,VR67
504 |SD00007 |[integrated circuit BA15218N(M5218L)(SIP8)/(ROHM) U47,U48
505 [SB00062 [transistor-RS-ACT BC337-25(T092)/(PHI) Qt
506 [HC00253 [connector(male) 2P 2.0mm 180 CN9,CN10
507 |HC00070 [connector(male) 6P 2.5mm 90 CN4
508 |RC00285 |slide potentiometer-dual unit|D10KQ RF60112P600G-10KD*2(SAS1) VR55,VR66,VR86,VR93
509 [RC00284 |slide potentiometer D10KQ RF6011YPBOOF-10KD(SASY) VR88,VR89,VR90,VR91
LD23,LD25,LD26,LD27,LD28,L.D29,LD30,LD31,LD32,LD33,LD34,LD
510 SA00052 |L.ED 93 round(green)long foot 26 35,L.D36,LD37,LD38,LD39,LD40,LD41,LD42,LD43,L D44
511 1sa00071 ILED o3 green LVG2340/A tg?,gLDS,LDQ,LDw,LDM,LD12,LD13,LD14,LD15,LD16,LD17,LD18,
512 |HC00887 |connector(male)-RS 10P 2.0mm 180 (A2004WV-2*10P) CN2
513 |HC00932 |connector(male)-RS 4P 2.0mm 180 (A2004WV-2*4P) CN3,CN6
514 [HC00473 [connector-RS-ACT 2.45mm 180 2*8P B25-2"8BG1(B)H=5mm CN1
515 |HI00236 |push-button switch-RS |2 6P PS-92 26A(SELF-LOCK) SW27,5W28,SW31,5W32,SW41, SW44,S\W45 SW46
516 |HI00238 |push-button switch-RS |2 6P PS-92 26ANON-LOCK) SW11
517 |HI00237  [push-button switch-RS |2 12P PS-13422 R(SELF-LOCK) SW25,SW26,5 W29, SW30,SW33,SW34, SW35,SW36,5W38, SW39,S
W47 SW37
518 |SA00053 |L.E.D 3 round(red)long foot 26mm LD3,LD4,LD20,LD21,LD22




No. |Part No. |Description Specification Remark

519 [HI00161  [relay RY-5W-K,5V RL1

520 |HC00403 |RCA jack SCP6873NS3232T2 4P X1

521 |HI00195  |rotary switch SDB161PVB15.5F-1-4-16-16PC EN1,EN2

522 |HI00379  |slide switch-RS 2stage 6P 6mm SKA-22-06B SW43

523 [HI00381 [slide switch-RS 3stage 8P 6mm SKA-23-06B SW42

524 |HI00384  |slide switch-RS 2stage 3P 4mm SBA-12CN-04RB SW40

525 |RC00625 |slide potentiometer-RS ~ [W100KQ RF30H12KD107-100K(4B)*2(SAS) VR97,VR98,VR99,VR100,VR101,VR102,VR103,VR104,VR105
' VR57,VR58,VR59,VR60,VR68,VR69,VR70,VR71,VR72,VR73,VR74,

526 |RC00359 |potentiometer W50KQ RDO9F113A224-50K4BT(SAS1);30F-C VR76.VR77.VR78.VR80 VR81.VR82.VR94, V95 VR96

527 |RC00361 |potentiometer W50KQ RD12L12CAB0B-50K4BT*2(SAS1);30F-C] VR50,VR61,VR75,VR79,VR83,VR84,VR85,VR92

528 |SA00054 |L.E.D 3m/m round(yellow)long foot 26 LD1,LD2,LD24,LD46,LD47

529 |SA00073 |L.E.D 3 yellow LVY2340/A LD5,LD7

530 |HK07637 |PC board P-DSP-PRE-DIP(APM120) CN5

531 |HC00697 |connector 2.090 16P(gold-pated)2.5/9.5mm 2mm CN1

532 [AC00179 [tin without lead-RS M705E Sn 3Ag-0.5Cu

533 [HK07638 |PC board P-DSP-PRE-SMD(APM120)

534 |HB01916 |PCB-RS DSP-PRE_VER051020

535 [SG00306 |SMD integrated circuit LM393DR(TI)/(MEXICO) u47

536 |SG00469 [SMD integrated circuit-RS [SN74HC109DR(SO16)/(Tl) u48

537 [SG00068 [SMD integrated circuit 74HC14DT(SO14)/(PHI) u49

538 |SF00056  |transistor MMBT3904(SOT23)/(PHI) TR17

539 [RD00068 |SMD fixed resistor 1/10W [100Q +5% 0603 R420,R421

540 |SE00007 |SMD rectifier diode RB400D(D3A) D10

541 [SE00009 [SMD rectifier diode DAN202K/T-146 D16

542 |SE00028 |SMD rectifier diode-RS-ACT |[BAS316,115 D7,D15

543 1SG00122 |SMD integrated circuit-RS-ACTNJM4580M-TE3(SOP8)/(JRC) U44,U45,U46

544 |RD00059 |SMD fixed resistor 1/10W [0.0Q +5% 0603 R1

545 |RD00073 |SMD fixed resistor 1/10W [220Q +5% 0603 R426

546 |RD00083 |SMD fixed resistor 1/10W [1.0KQ 5% 0603 R418

547 |RD00099 |SMD fixed resistor 1/10W [8.2KQ +5% 0603 R422,R423
) . R397,R398,R399,R400,R401,R402,R403,R404,R405,R406,R407 R4

548 |RD00101 |SMD fixed resistor 1/10W [10KQ +5% 0603 08.R410.R411,RA12,RA13 RA14

549 |RD00093 |SMD fixed resistor 1/10W [4.7KQ +5% 0603 R416

550 |RD00098 |SMD fixed resistor 1/10W [7.5KQ 5% 0603 R419

551 |RD00111 |SMD fixed resistor 1/10W [47KQ 5% 0603 R415

552 [RD00088 |SMD fixed resistor 1/10W [2.2KQ +5% 0603 R424

553 |RD00125 |SMD fixed resistor 1/10W [1.0MQ +5% 0603 R417

554 |RD00124 |SMD fixed resistor 1/10W [820KQ +5% 0603 R431

555 |RD00126 |SMD fixed resistor 1/10W |2.2MQ +5% 0603 R425

556 |CI00129  [SMD ceramic capacitor 06030.0015uF/50V X7R +10% C345,C346,C347

557 |CL00002 [SMD tantalum capacitor-RS-Aq1.0uF/16V case A C352,C353

558 |CI00053  |SMD ceramic capacitor 0603 33PF/50V C0G+5%(C1608C0G1H330JT)/TDK |C348,C349

559 |CL00006 |SMD tantalum capacitor-RS-A{10uF/16V case B2 C350,C351

560 [CI00051  [SMD ceramic capacitor 0603 |22PF/50V C0G+5%(C1608C0G1H220JT)/TDK |C329,C330,C331,C332

561 |CI00075 |SMD ceramic capacitor 0603 [0.1uF/50V Y5V +80,-20% C333,C334,C336,C337,C338,C339,C340,C341

562 |SE00085 |SMD zener diode-RS 1/2W 2.4V ZMM55-C2V4 ZD1,ZD2

563 |AE00449  |solder material without lead [9308/Sn Ag Cu

564 |SG00243 |SMD integrated circuit NE555DR(SO8)/(TI) U43

565 |NI02384  |LED spacer support LEDS-4 4mm

566 |NI01773  |LED spacer support LEDS-13

567 [HA04363 [wire-RS 2P-2P 300mm UL1007 26AWG red/white

568 |HA00829 |wire-RS 304mm brown L3R3

569 |HA00010 |wire-RS 150mm black L5R5

570 JAC00179 |tin without lead-RS M705E Sn 3Ag-0.5Cu

571 |HK07696 |PC board P-APM120 STEREO-SMD

572 |RD00129 [SMD fixed resistor 1/4W ]0.0Q +5% 1206 R488




No. |Part No. |Description Specification Remark

573 |RD00059 |SMD fixed resistor 1/10W {0.0Q +5% 0603 R466,R467

574 |RD00224 |SMD precise resistor 1/10W [100KQ +1% 0603 R464,R465

575 |CI00059  [SMD ceramic capacitor 0603 100PF/50V NPO +5% C232,C233
C169,C170,C171,C172,C173,C174,C175,C176,C177,C178,C179,C1
80,C181,C182,C183,C184,C185,C186,C187,C188,C189,C190,C191,
C192,C193,C194,C195,C196,C197,C198,C199,C200,C201,C202,C2

576 |Cl00075 |SMD ceramic capacitor 06030.1uF/50V Y5V +80,-20% 03,C204,C205,C206,C207,C208,0209,0210,0211,0212,C213,C214,
C215,C216,C217,C218,C219,C220,C221,C222,C225,C226,C227,C2
28,C230,C231,C288,C289,C291,C292,C293,C294,C229
R87,R88,R89,R90,R91,R92,R93,R94,R95,R96,R97,R98,R99,R100,R
101,R102,R103,R104,R105,R106,R107,R108,R109,R110,R111,R11
2,R113,R114,R115,R116,R117,R118,R119,R120,R121,R122,R123,
R124,R125,R126,R127,R128,R129,R130,R131,R132,R133,R134,R1
35,R136,R137,R138,R139,R140,R142,R143,R144,R146,R147,R148,

577 |RD00214 |SMD precise resistor 1/10W [10.0KQ +1% 0603 R149,R150,R151,R152,R153,R154,R155,R233,R234,R304,R305,R3
29,R355,R356,R376,R388,R389,R455,R484,R485,R486,R487,R1,R
2,R3,R4,R5,R6,R7,R8,R9,R10,R11,R12,R13,R14,R15,R16,R17,R18,
R19,R20,R21,R22,R23,R24,R25,R26,R27,R28,R29,R30,R31,R32,R3
3,R34,R35,R36,R37,R38,R39,R40,R308,R314,R331,R336,R368,R36
9,R382,R383,R386,R387,R390,R391,R475,R476,R477,R478

578 |RD00275 |SMD precise resistor 1/10W |110Q +1% 0603 R444,R445

579 |RD00334 [SMD precise resistor 1/10W [11.0KQ +1% 0603 R501,R502
R342,R343,R344,R345,R346,R347,R348,R349,R350,R351,R352,R3

580 |RD00069 [SMD fixed resistor 1/10W [120Q +5% 0603 57 R358,R359,R360,R363, R364,R365

581 |RD00007 |SMD fixed resistor 1/8W  [120Q +5% 0805 R361,R362,R366,R367

582 |RD00102 |SMD fixed resistor 1/10W [12KQ +5% 0603 R206,R207,R208,R209,R223,R224,R227,R228

583 |RD00118 [SMD fixed resistor 1/10W |150KQ +5% 0603 R446,R447

584 |RD00218 |SMD precise resistor 1/10W [15.0KQ +1% 0603 R221,R222,R225,R226,R472,R473,R474,R511

585 |RD00276 |SMD precise resistor 1/10W [169Q +1% 0603 R434,R435
R273,R274,R275,R276,R277,R278,R279,R280,R281,R282,R283,R2
84,R285,R286,R287,R288,R289,R290,R291,R292,R296,R297,R298

586 |RD00293 | SMD precise resistor 1/10W [17.4KQ £1% 0603 R299,R300,R301,R302,R303,R306,R307,R309,R310,R317,R318,R3
34,R335,R337,R338,R339,R377

587 |RD00104 |SMD fixed resistor 1/10W [18KQ +5% 0603 R503,R504,R505,R506

588 |RD00062 |SMD fixed resistor 1/10W [18Q £5% 0603 R438,R439,R440,R441,R442,R443

589 |RD00420 [SMD precise resistor 1/10W |19.1KQ+1% 0602 R371,R373,R374

590 |RD00282 |SMD precise resistor 1/10W [1.00KQ +1% 0603 R319,R320

591 |RD00201 |SMD precise resistor 1/10W [1.50KQ +1% 0603 R160,R161,R219,R220
R162,R163,R164,R165,R166,R167,R168,R169,R170,R171,R172,R1

592 |RD00086 |SMD fixed resistor 1/10W [1.8KQ +£5% 0603 73RI7T4RIT5RIT6RITT

593 |RD00292 [SMD precise resistor 1/10W |1.00MQ £1% 0603 R198,R199,R200,R201,R202,R203,R204,R205

594 |RD00318 |SMD precise resistor 1/10W [200KQ +1% 0603 R186,R187,R188,R189

595 |RD00277 |SMD precise resistor 1/10W [200Q +1% 0603 R428,R429,R430,R431,R432,R433
R50,R60,R61,R62,R63,R64,R65,R66,R67,R68,R69,R70,R71,R72,R7
3,R74,R75,R76,R77,R78,R79,R80,R81,R82,R83 R84,R85,R86,R141

596 |RD00219 |SMD precise resistor 1/10W |20.0KQ +1% 0603 R145.R239,R240,R241 R242, R246 R247 R295 R353,R354,R384 R
385,R452,R453

597 |RD00119 |SMD fixed resistor 1/10W [220KQ +5% 0603 R178,R179,R180,R181

598 |RD00073 |SMD fixed resistor 1/10W [220Q +5% 0603 R436,R437,R457,R458

599 |RD00105 |SMD fixed resistor 1/10W [22KQ +5% 0603 R156,R157,R182,R183,R184,R185,R468,R469,R470,R471
C41,C42,C43,C44,C45,C46,C47,C48,C49,C50,C51,C52,C53,C54,C5
5,C56,C57,C58,C59,C60,C61,C62,C63,C64,C65,C66,C67,C68,C69,

600 |CI00266 |SMD ceramic capacitor-RS 06422PF/50V NPO +5% C70,C71,C72,C73,C74,C75,C76,C77,C78,C79,C167,C168,C269,C2

84,C285,C21,C22,C23,C24,C25,C26,C27,C28,C29,C30,C31,C32,C3
3,C34,C35,C36,C37,C38,C39,C40




No. |Part No. |Description Specification Remark
601 [RD00063 |SMD fixed resistor 1/10W [22Q +5% 0603 R497,R498
602 |RD00074 |SMD fixed resistor 1/10W [270Q +5% 0603 R489,R490
603 |RD00106 |SMD fixed resistor 1/10W [27KQ +5% 0603 R41,R42,R43,R44,R45,R46,R47,R48,R237,R238,R244,R245
604 |RD00203 [SMD precise resistor 1/10W [2.00KQ +1% 0603 R481
605 [RD00089 |SMD fixed resistor 1/10W [2.7KQ +5% 0603 R49,R51,R52,R53,R54,R55,R56,R57
606 |RD00268 |SMD fixed resistor 1/10W [300KQ +5% 0603 R248,R249
607 |Cl00062 |SMD ceramic capacitor 0603 330PF/50V NPO +5% C277,C278
608 |CI00267 |SMD ceramic capacitor-RS 064 33PF/50V NPO +5% C295,C296,C297,C298,C299,C300,C301,C302
609 [RD00304 [SMD fixed resistor 1/10W [33Q +5% 0603 R499,R500
610 [RD00407 [SMD precise resistor 1/10W [36.0KQ +1% 0603 R378,R379,R380,R381
611 |SF00053  |transistor MMBT3906(SOT23)/(PHI) TR29,TR30,TR31
612 |SE00011 |SMD rectifier diode RLS4148 0.5A (LL-34) D2,03,08,09,010,011,012
613 [SE00016 [SMD zener diode 1/2W 5.1V(RLZ5.1B) LL-34 ZD4,7D5,2D6,2D7
U20,U21,U22,U23,U24,U25,U26,U27,U28,U29,U30,U31,U32,U33,U3
614 1SG00558 |integrated circuit-RS 4580M(SOP8)/(YW) 4,U35,U36,U37,U38,U39,U40,U41,U42,U43,U44,U45,U46,U49,U50,
U57,U58,U59
615 |RD00078 |SMD fixed resistor 1/10W [470Q +5% 0603 R456
616 |RD00339 |SMD precise resistor 1/10W [47.0KQ +1% 0603 R210,R211,R212,R213,R214,R215,R216
617 |RD00298 |SMD precise resistor 1/10W [47.0Q +1% 0603 R482,R483,R495,R496
618 |RD00223 [SMD precise resistor 1/10W [49.9KQ +1% 0603 R372
619 |RD00341 |SMD precise resistor 1/10W [4.70KQ +1% 0603 R448,R449,R450,R451
620 |RD00209 [SMD precise resistor 1/10W [4.99KQ +1% 0603 R370
621 |RD00347 |SMD fixed resistor 1/10W [510Q +5% 0603 R462,R463
622 [RD00471 |SMD precise resistor 1/10W [56.2KQ +1% 0603 R322,R323,R324,R325,R326,R327,R332,R333,R340,R341
R229,R230,R231,R232,R235,R236,R243,R250,R251,R252,R253,R2
) ) 54,R255,R256,R257,R258,R259,R260,R261,R262,R263,R264,R265,
623 |RD00094  1SMD fixed resistor 1/10W 15.1KQ2 £5% 0603 R266,R267,R268,R269,R270,R271,R272,R293,R294,R311,R312,R3
13,R315,R316,R328,R330,R375
624 |RD00297 |SMD precise resistor 1/10W [60.4Q +1% 0603 R491,R492,R493,R494
625 |Cl00064  |SMD ceramic capacitor 0603680PF/50V NPO +5% C237,C238
626 |RE00011 |SMD resistor networks 1/16W |680Q*4 +5% 8P 0603 AR1,AR2
) ) R58,R59,R392,R393,R394,R395,R396,R397,R398,R399,R400,R401
627 |RD00114 |SMD fixed resistor 1/10W [68KQ +5% 0603 'RA02,R403,R404,R405,R406, R407 R408,R409
628 |RD00394 [SMD precise resistor 1/10W [68.0Q +1% 0603 R507,R508,R509,R510
X ) R410,R411,R412,R413,R414,R415,R416,R417,R418,R419,R420,R4
629 |RD00096 |SMD fixed resistor 1/10W [6.2KQ +5% 0603 21.R422,R423,R424,RA25 RA26,R42T
630 [RD00097 |SMD fixed resistor 1/10W 16.8KQ 5% 0603 T;%,R191 ,R192,R193,R194,R195,R196,R197,R158,R159,R217,R2
631 [RD00328 [SMD precise resistor 1/10W [8.66KQ +1% 0603 R479,R480
) TR11,TR12,TR13,TR14,TR15,TR16,TR17,TR18,TR19,TR20,TR21,T
632 |SF00031 |SMD transistor-RS-ACT  [BC847B(SOT23)/(PHI) R22,TR23,TR24,TR25 TR26, TR27,TR28
633 |SE00008 |SMD rectifier diode DA204K/T-146 D1
634 |AE00449  |solder material without lead [9308/Sn Ag Cu
635 |HK07697 |PC board P-APM120 STEREO-AI
636 |HB02186 |PCB-RS APM120 STEREO_REV 1.10_VER060828
637 |RA01112 |fixed resistor 1/4W 100Q R321
638 |CB00120 |electrolytic capacitor 100uF/16V ¢5*11mm C80,C81,C82,C83
639 |CC00060 |mylar capacitor 0.1uF/100V 3% C245,C246,C247,C248
640 |CB00189 |electrolytic capacitor 1.0uF/50V @4*5mm C241,C242
641 |RA01260 |fixed resistor 1/4W 120Q R454,R459
642 |CC00075 [mylar capacitor 0.012uF/100V 3% C141,C142,C143,C145,C146,C148,C263,C264,C265,C266
643 |CC00076 |mylar capacitor 0.015uF/100V 3% C253,C254,C255,C256,C257,C258
644 |CF00238 |metallized polyester-RS  [0.18uF/63V 5% CASEO1 C249,C250
645 |CC00052 |mylar capacitor 0.001uF/100V 10% C151,C153
646 |CC00068 [mylar capacitor 0.027uF/100V 10% C261,C262
647 |CC00058 |mylar capacitor 0.0033uF/100V 3% C155,C156,C157,C159,C160,C161,C270,C271




No. |Part No. |Description Specification Remark

648 |CB00268 |electrolytic capacitor 330uF/16V @8*11mm 5mm C279

649 |CC00063 |mylar capacitor-RS 0.0039uF/100V 10% C272,C273

650 |CB00018 |electrolytic capacitor 4. TuF/25V @4*Tmm C274,C275,C276

651 [CC00078 [mylar capacitor 0.047uF/100V 3% C234,C235,C236,C290,C163,C164,C165,C166

652 |CB00246 |electrolytic capacitor 0.47uF/50V w4*7Tmm C243,C244
C223,C224,C84,C85,C86,C87,C88,C89,C90,C91,C92,C93,C94,C95,
C96,C97,C98,C99,C100,C101,C102,C103,C104,C105,C106,C107,C

) . . 108,C109,C110,C111,C112,C113,C114,C115,C116,C117,C118,C11

653 |CBO0194 - felectrolytic capacitor  |47uF/25V 5™11mm 9,0120,C121,0122,C123,C124,0125,C126,0127,128,C129,G130,
C131,C132,C133,C134,C135,C136,C137,C138,C139,C140,C280,C2
81,C282,C283,C286,C287,C303,C304,C305,C306

654 |CB00260 |electrolytic capacitor 47uF/35V 95*11mm 2.5mm €1,62,C3,04,C5,06,C7,C8,C8,C10,C11,C12,C13,C14,C15,C16,C17
,C18,C19,C20

655 [CC00071 [mylar capacitor 0.068uF/100V 10% C259,C260

656 [CC00072 [mylar capacitor 0.0082uF/100V 10% C267,C268

657 |CB00238 |electrolytic capacitor 0.22uF/50V @5*11mm C149,C150,C239,C240

658 [CF00138 [metal-film capacitor MSC [0.012uF/63V +5% CASE01 C144,C147

659 [SF00056 |transistor MMBT3904(SOT23)/(PHI) TR1,TR2,TR3,TR4,TR5,TR6,TR7,TR8,TR9,TR10

660 [CF00052 |[metal-film capacitor 0.0033uF/63V 5% CASEO01 C158,C162

661 [CFO0001 |metal-film capacitor MSC [0.001uF/63V 5% CASEO01 C152,C154

662 |[HK07709 |[PC board P-APM120SPEAK

663 [HB02230 [PCB-RS APM120SPEAK_VER060721

664 |[HC00371 [MIC jack SCJ-0658-1-Y

665 |[MJ00942 [fixed bracket CS12/600_V1.3

666 |MJ00061 |iron board 1*2135%1220 20.45kg

667 |[HC00949 |[speaker socket-RS-C LD4015

668 [HA04876 [wire-RS 4P 160*2/150*2mm UL1015 16AWG

669 [AC00179 |[tin without lead-RS M705E Sn 3Ag-0.5Cu

670 |HK07707 |PC board P-APM120-OUTPUT CN

671 [HC00945 |terminal block-RS 2ESDCR-02P PH5.08mm JACKS5,JACK6

672 [HC00947 |terminal block-RS 2ESDCR-05P PH5.08mm JACK8,JACK9

673 |HC00077 |connector(male) 3P 2.5mm 180° CN1,CN4

674 |HC00174 |connector(male) 4P 3.96mm 180° CN5

675 |HB02257 |PCB-RS DIGMOD OUTPUT-JK_VER061107

676 [AC00179 |[tin without lead-RS M705E Sn 3Ag-0.5Cu

677 [NB05284 [carton-RS APM160 ALTO_V1.0

678 [INB05254 [carton-RS APM160 ALTO_V1.0

679 [NA00659 |cardboard-RS APM160 up_V1.0

680 |NA00658 |cardboard-RS APM160 down_V1.0

681 [HA05019 [wire-RS 2P/1P 160mm UL1007 24AWG

682 [MG00645 |copper nut M3*16*0.5PH_V1.0






